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Simple &Compound Interest
(Previous Year Questions)

SSC CPO 2020

Sunita invested T 12,000 on simple interest at
the rate of 10% p.a. to obtain a total amount of
¥ 20,400 after a certain period. For how many
yvears did she invest to obtain the above
amount ?

g, ot ffema srafy & ae 7 20,400 9 ¢ %
faw 7 12,000 =t Ui ® 10% =fiE WYX =591, W
frrafird et € | Swiie afén w5 % fog =g fea a9 &

foru Forerm et 2 2
(A)6 (B)7
(€)9 (D) 8

A sum amounts to ¥ 7,562 in 4 yvears and to ¥
8,469.44 in 5 years at a certain rate percent
per annum, when the interest is compounded
yvearly. The rate of interest is:

W@ FAS O] SO TG YR 9 e €, At
gfa ot fafrea wnfie sa= s W 4 = § 7,562 8t 5
a9 H T 8,469.44 T W6l E | =51 € 31 i |

(A) 8% (B) 12%

(C) 20% (D) 15%

If the difference betwen the compound interest
and simple interest at 17% on a sum of money
for 2 years (compounded annually) is I433.50,
then the sum (in I is :

ot eafe W 17% T SAEE Y 2 A9 H WA wehe (G s
R FYRT ST % S S T433.50 € (Af s
T S TRl STUR e B ), WUt (TH) It
(A) 12,000 (B) 25,000

(C) 15,000 (D) 20,000

If the annual rate of simple interest increases

1, .
from 11% to 17 P Yo a person’s yearly income
increases by ¥1,071.20. The principal amount
invested (in I) is :
- [ ~ 1 Ll
TfE Afees AR =S & T 1% | 95 175% 71 ST
T, 11 fipt =t =t ot o™ 21,071.20 TF 95 9T © |

rAfoT e T (3 ) 9 -
(A) 19,120 (B) 17,250
(C) 10,710 (D) 16,480

5.

If the different between the compound interest
and simple interest at 17% on a sum of money
for 2 years (compounded annually) is T 433.50,
then the compound interest (in I) is :

Tt et TR #] 17% AHE A (N Twafs =
SR W) 2 @9 = fou =mhglg = iR arana sam =
AR T 433.50 , 11 =skelG = (T H ) 1 e |

(A) 2,500 (B) 2,735.50

(C) 5,533.50 (D) 5,100

If the annual rate of simple interest increases

from 11% to 17 l% then a person's yearly in-

come increase by ¥ 1,071.20. The simple in-
terest (in ) on the same sum at 10% for 5 year
is:

=T TR oA A T 1 1% A AT 17 Lo, @

oo - 2
T &, A1 W S W A e T 1,07 1.20 7% 9¢ St
TS Ui TR 5 o = U 10% T 2 wanm e (3

o) Jra L
(A) T 16,480 (B) 9,120
(C) T 7,250 (D) 8,240

The simple interest on a sum of money at 10%
per annum for 2 years is T 8,100, Compounded
annually. What would be the compound inter-
est (in T) on the same sum for the same period
at the same rate of interest ?

TRt 4T o 10%% AR o 9 2 =7 R TR 7 <
8,100 % | == i U1 itk =Ikels ATUR T Hd g,
HHTA AFF o, 9 S R T TG | W S9gls SN 9|
|

(A) 8,100 (B) 8,505

(C) 8,715 (D) 9,000

A sum of ¥ 27,000 is divided into two parts A
and B such that the simple interest at the rate
of 153% p.a. on A and B after two yearss, respec-
tively, is equal. The total interest (in ) re-
ceived together from A and B is :

T 27,000 &1 Ul% =1 &1 9F A 3R B 9 59 ¥R faafsm
foran <t & o 159% =fif=r <X A 3t B R A <1 Ay
SR AR 9 9% AT YR A oK § 1A STRB SR |

(A) 9,600 (B) 5,400
(C) 18,000 (D) 10,800
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9. A person invested T 12,000 on simple interest
for 7 years to obtain a total amount of ¥ 20,400
on a certain annum rate of interest. What was
the rate of interest to obtain the above amount?
e AR - HIYROT A i S 7 AN | € 20,400 WA
= & T T 12,000 =1 vy =i v ffea s =am s
o frerm foman | sda ofen W e o T =3t i <

2T 7
(A) 10% (B) 8%
(C) 9% (D) 7%

10. A sum amounts to ¥ 7,562 in 4 years and to ¥
8,469.44 in 5 years at a certain rate percent
per annum, when the interest is compounded
vearly. If ¥ 10,000 at the same rate of interest
is borrowed for two years, then what will be the

coumpound interest (in 3) ?

TR A O A Ty SMYR W et E, W TE
T et Y= o e W 4 98 T 7,562 &R 5
9 H T 8,469.44 T WG Al THE = W WT 7,562
=1 W 2 Tt % e e v €, F WAt e A e

11. The simple interest on a sum of money at 10%

per annum for 2 years is ¥ 8,100. What would
he the compound interest (in ) on the same
sum for the same period at 15% p.a, When the

interest is compounded yearly ? (nearest of71)
TRt SRR T 10% J 52 | 2 F9 T SR w20
8,100 ¥ | = Tt AT A TeREE YR T W g,
THF T W, T =978 F faw 15% F R 9 TS
= (T H ) T A
(A) 13,061 (B) 14,671
(C) 8,100 (D) 12,751

12. A sum of ¥ 36,000 is divided into two parts, A
and B such that the simple interest at the rate
of 15% p.aon A and B after two years and four
years, respectively, is equal. The total interest
(in T) received from A is:
Z 36,000 i ¥F0e 1 5 9Fi A St B # 55 wehr i
foen = € Tk 15% anfiah st W A 31X B W A9 &1 od
R =R =Y 7E I FIER SN aEl § A 9 W Fe
=18 (T H ) I A1 |

N A) 7,200 (B) 5,400
(TH) F) [
(A) 2,544 (B) 2,764 (€) 3,600 (D) 1,800
(C) 1,965 (D) 1,736 Solution
. B 8400~ 12000 X 10 x T 4. (D) difference between S1%
. - 100 1
= 17=% -11¢°
T=7 5 11%
2 B P[1+i]4—7562 = 610/
(B) Too ) = 7962 i (i) =53
1 R} 15 % =1071.20
+ — = 11 e .
p [ 100.] 8469.44 .......... (ii) 2
(1) = (i) Lo = 2142:40
. R _8469.44 ? 13
100~ 7562 2142.40
100%%= ————— x 100 = 16480
R 13
1+ 100 1.12 Principal amount = 16480
R 5. ) Rale=17%
— =19 C.I Rale=34+2.89
100 S.1, Rate =34
3. (C) R effective for simple interest = 34 % '
R effective for compound interest = 36.89% Dill. = 2.89% 433.50
difference = 2.89% 2.89
433.50 433.50
= o 36, x 36.89
Sum = Ty 8o 10O 689 — 59
= 15000 = 5333.50
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I
6. 0) 11% - 17%

1, 13
i 6=% = — ’ 1.
Change 5 ) —1071.20
A1 5 164.80
- 100 s 16480

16480 x 5% 10

50,81 = 100

=3 §240

7. ® 800 2102
- T100

P =3 40500

U (VS
C.I = 40300 % 100 - 4050 x 2 = §100

2050 x X _ 405 x 1 = 405
RaRETI I

T 8505

xx15x2  (27000—x)x15x 4
100 100
x = 54000 - 2x
3x = 54000
x = 18000
18000 % 15x 2
Interest of A = T
=3 5400
Q00D = 15x 4
Interesl of B = BT T5400

9. (A) CI=20400- 12000

= 8400
. 8400 = 12000 xrx7 - Lo%
o = 100 = r= o
8469.44 - 7562
= = 12(%:-
10.(4) R =560
10000 12 1200 12
100’ ' 100
= 1200=x2=144 = 1
= (2400 + 144) = 2544
11 A) P= M—40500
- WP 00 ~
115 115
- = | 40500 x —x —— |_
- Cl { X 100 100} 40500
=(53561.25) - 40500
=13061
12. (A) A B
X (36000 -x)

30x (36000 - x)x60
100 100

= 90x = 36000 x 60 = x= 24000

24000 x15x 2

S.1of (A) = o0

= 7200
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Sudeep invested 1/8 of a certain sum at 5%
p.a. for two years and 3/5 of the sum at 6% p.a.
for two years and the remaining at 10% p.a. for
two vears. If the total interest received is I
1,674, then the total sum invested is:

e = vk feaa gafa = 1/8 4/ 5% anftiss =5 &2
R 2 7 7 fore fem foen sinsd sfr#13/5 w1 6%
St =11 & W 2 A 3 forg e foran si 3 et =i
10% =i =ma <2 ) 2 = % T Ferw ) =fs wre
T AN FA A T 1,674 ¥, @ FEw W 1w Aty
R e 2

(A) T 12,500 (B) T 12,000

(C) T 10,500 (D) T 13,000

At what percentage rate, compound interest
compounded annually for a sum of T 40,000, will
amount to T 44,100 in two years ?

¥ 40,000 =1 W% oAy g afaaag sx e =i # 3
44,100 =1 S w121 =1t afiw w0 ° SRyl e =

77
(A) 2 (B) 7.5
(€) S (D)4

A sum of money becomes ¥ 35,680 after 3 years
and ¥ 53,520 after 6 years at a certain rate per-
centage p.a., interest compounded yvearly. What
is the compound interest on the same sum in
the first case ? (Your answer should be nearest
to an integer)

= FHfiea e it w9 9 werats B o A it
R T T 9T 3 AT % 516 < 35,680 ST 6 7 F A<
¥ 53,520 Bt ¥ | TR WHE W THI SR T wRatS
TS T AL | ( ST SR GO o TS PR BT 15T
(A)T11,983 (B)¥11,893

(C) T 10,842 (D)% 11,938

A certain sum (in ¥) is invested at simple in-
terest at v% per annum for 3% years. Had it
been invested at (v + 4)% per annum at simple
interst, it would have fetched ¥ 4,452 more as
interest. What is the sum ?

v fafrea gufa (3 1) =00y siftian "emo =5 51 )
31/23'&%5%?%—;‘%3%%% |'ﬁ'ﬁ:’3ﬁ [y + 4)"<13|Tﬁ35
AT == 5 W e e = g, 91 34,452 sty
TS AT T | 96 ST S i |

(A) ¥ 42,400 (B)¥31,800

(C) T 30,400 (D) 42,800

5.

What is the compound interest on a sum of

1
37500 for 15 vears at a rate of 12% p.a. if the

interest is compounded 8 - monthly?

T 37500 = 970 W 12% =i+ whgle = e d

]- Iy — - —
1= =% ¥ T =gTs e ATa SR, A e 8 A=
W2

STER TR g, 2 = € 2
(A) T 6440 (B) T6240
(C) T6420 (D) 26448

A person invested a sum of ¥ 18600 at x% p.a.
and another sum that is twice the former at (x
+ 2)% p.a., both at simple interest. If the total
interest earned on both investments for 3%
years is ¥ 23110.50, then the rate of interest
p.a. on the second investment is:

T = - T 18600 w1 Wk 90T ol xU% S e
= T R A e SR veel et § S ety
(X + 2)% =i TR =S < R e T | afe <
e R34 T # oS g o T 23110.50 §, F1 g

Foerer ae =TSt =i et ot 2 7
(A) 11% (B) 10.5%
(C) 13% (D) 12.5%

The compound interest on a certain sum at a
certain rate percentage p.a. for the second year
and third year are ¥ 3,300 and 33,630, respec-
tively. What is the amount of the same sum at
the same rate in 2! years. interest com-
pounded yearly?

TH 9 SR A A H A € g TR S e T
3,300 3T 3,630 % | 2V, ol H =81 s S =417 3¢
o TeRat 21 smarh, afs =t At w9 9 =shgls e s
77

(A)T 37,215 (B) ¥ 36,300
(C)¥38,115 (D) T 36,000

A person invested a sum of 10,500 at x% per
annum at simple interest and a sum of 13,500
at (x + 2)% p.a. at simple interest. If the total
interest earned on both the investments for 3
vears is ¥7.650, then the rate of interest on
the first investment is:

T = A T 10,500 it R )% Tt e =T
W AR T 13,500 F 770 (x + 2)% AU [ER
=TS & T e 1 | =fE <A1 e w3 awi A sifsia 3a
= T 7650 ¥, 91 Toe o W oA it 5T I I |
(A) 8% (B) 8.5%

(C) 9% (D) 9.5%
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10.

11.

12.

A sum of Rs.5,000 amounts to Rs.7,200 in 8
years at a certain rate percent p.a., interest
compounded yearly. What will be the compound
interest on a sum of Rs.6,550 in 4 years at the

same rate of interest? Rs. 5,000 % TF \qd
o Tfirmm afis == < wfaga 8 7 # Rs.7,200 71
et ¥, ST I ) o STen Rty e €
9 =N € R 4 A9 H Rs. 6,550 I oA W
RIS A WH T 2

(A) Rs.1,415 (B)Rs.1,310

(C) Rs.1,290 (D) Rs.1,285

A certain sum (in Rs.) is invested at simple in-
terest at x% p.a. for 5 years. Had it been in-

vested at (x+ 3)% p.a., the simple interest would
have been Rs.9,200 more than the earlier one.

What is the sum? v Ffra afa (3. ) =
X% AT TEM T T R 5 6 % e Frerw FEe
e 38 (x + 5)% I Al =9 o W e e s, o
TR T4 TEel it 87987 Rs,9,200 ST W gia | &
Y foRat off 7
(A) Rs.36,800

(C) Rs.36,400

(B) Rs.40,000
(D) Rs.35,800

A sum of money becomes Rs. 8,928 in two years

1
and Rs. 10,224 in 3 o years at simple interest.

Find out the rate of Interest.
T Taf¥=a smute anftie memm s e oA §8,928

& ]' ™ + B LT s
AR SEmﬁ?10,224mw3|aﬁwwa{aﬁ

Eancd
(A) 9% (B) 15%
(C) 12% (D) 10%

The compound interest on a certain sum in-
vested for 2 vears at 10% per annum is ¥
1,522.50, the interest being compounded yearly.
The sum is:

o 7% % {0 10% =nfti+ akgls == o @ fom = 18
T TAT=m SRt R I B e S w0 < 1,522.50
2, STt <Al it ¥4 ¥ =skgls gial & | Jot #Aata 9

Eancd
(A)T7,250 (B) T 7,200
(C) 7,500 (D) ¥ 7,000

13.

14.

15.

Two equal sums (in 3] are lent at 8% and 4%
simple interest p.a, respectively at the same
time. The first sum is received 2 vears earlier
than the other and the amountreceived in each
case is T 14,500. Each sum is:

Tt TR s (TH) o 8% 1R 4% afti e
TS = T TR U o W9 W AR & T E | el St
T TR 2 o et Bt U B et § o7 e s
= U v B T e T 14,500 |\ UErE omue Im

i |
(A) T 12,800 (B) T 12,500
(C) T 13,200 (D)% 12,000

A sum of ¥ x amounts to I 12,777.60 in 2 years
at 15% p.a., when the interest is compounded
eight-monthly. The value of x is .

T x ¥ TF qO 15% e oA 52 W 2 quf H T
12,777.60 % Sl 2, STeih ==1s] SAS-AHH AR 9K
RIS 3R S & | X = A F0 R |

(A) 29800 (B) T 10400
(C) 9600 (D) T 10200

Two equal sums are lent at 10% and 8% simple
interest p.a. respectively, at the same time. The
first sum is received 2 years earlier than the
second one and the amount received in each
case was T 36,900, Each sum was .......

T e SO A 10% $TR 8% it weRm
= &1 W U &1 T99 T SR a5 < 2 | uselt e,
T R | 2 98 RS BTG B S & TR 7 "eed

¥ wra wete ¥ 36,000 ¥ | Y 9 el
(A) T 20,500 (B) ¥ 20,200
(C)T 18,100 (D) T 21,500
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Solution
1. (B) Lettotal sum invested be =x After solving for x
ATQ, x = 10.5%
X B3x2 3% 6x2 1lx 10x2 = Interest rate on second investment
bl RV e ~ = 1674 =x+2=12.5%
§ 100 5 100 40 100
r
< 9x 11 7. (C 3300 [1 + —] = 3630
S TN = 1674 © 100
80 125 200 r 11
1+— = —
279% - 100 110
2000 o7 ﬁ =
x = 12000 r = 10%
2. (€) ATQ. Given that CI for two year = 3300
44100_['“[\’) 2_, R S
20000 L 100) T 20 100 T opyears
= R = 3% Cl. % for2ndyear=11%
3. (B) Using basic CI equation C.l % for 2% year = 27.05%
I = S a0
53520 _ 1+iéd:>@= 1+£ Amount in 21 yf:ars=3 (UX127-05
35680 100 892 100 2 1
669 R Y = ¥38115
= a6 [1+ﬁ] , 8. (D) 10500 x x% x 3 + 13500 x (x + 2)% % 3 = 7650
- - L, R : 10500 x x x 3 + 13500 (x + 2) x 3 = 765000
In first case 35680 =P | 1+ 100 210x + 270% + 540 = 5100
669 X = 9.5%
= 35680 =P x 446 = P=23786.67 9. (B) ATQ,
CI = 35680 —23786.67 O RT
- 2 5000 [l +—} = 7200
= 11893.33~ 11893 100
4, (B) ATQ, 4
4 |:]_+i:| - 9
P x gx u = 4452 100 3
N} So, compound interest on sum 6,530 at
Px7x4 )
—BRE. =4452 same rate of interest
200
— P=%31800 R T
=6550 x |1+ —| - 6550
1 100
5 (B) 15 years =16 months
6
12% PA = 8% per 8 months = 6550 x E_6SSO
Effective C.1.% = 16.64%
Interest = 37500 x  16.64% =% 6240 10. (4) Letsum =Y P
6. (D) ATQ, ATQ.
1 7 Px{x+3)x3 Pxxx5 — 9200
As, 85 = 3 years 100 100
18600 x xx7  2x18600x(x +2)x7 Px 2 [x+5-x] = 9200
2 x100 2x100 100
= 23110.50 P = 336,800
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11. {C) Let Principal =3 P; Rate = r%
ATQ,
P+ 2 years' 5.1. = 8928

P+ 3.5 years' S.I. = 10224
1.5 years' 5.I. = 1296
1 years' 5.1. = 864
P=8928-2x 864 =%¥7200
_ 864100
7200
Rate = 10%,; T = 2 years
Effective C.1. % = 21%
So,

Rate = 12%

12. (A)

1522.50
Let Principal =¥ P
- Both principal and amount are equal
Time = ¢
So,
Pxdx{t+2
Px8xt ., Px x(t+2)
100 100
t = 2 years
Px8x2
100

x100 =T 7250

The sum =

P+

14500
12500

p

14. (C)

15. (A)

- Interestis compounded 8 monthly

8
Effective Rate 15% % I = 10%

Effective Time = 2 x o 3 vears

Effective C.I.26=33.1%

12777.60
= — =100
So, X 133.1

79600
"~ Both principal is equal and both amount
is equal

Let Principal = T P
Time = tyears
Px10x1L Px8x(L+2)
AT P+ —— = p+—— =
@ 100 100
t = 8 years
1+10x8
So, P+ o0 | = 36900
180
= Px 00 36900
P = ¥20,500
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A sum ot ¥ 20,000 18 invested lor 15 months at
the interest of 10% per annum compounded half
vearly. What is the percentage gain, correct to
one decimal place at the end of 15 months?

¥ 20,000 =i A& =1 15 980 & fe7g 10% wfd = =l x4
sTgAfie HEiaa wwhgis = | e e s g1 15
TR ok 310 ° Wiawd oY (SYHed & Uh 31 ak) o

zm?
(A) 12.5% (B) 13.6%
(C) 13.0% (D) 13.4%

A sum of ¥ 15,000 is invested partly at 12% per
annum and the remaining at 10% per annum
simple interest. If the total interest at the end
of 2 years is ¥ 3,344, How much money was in-
vested at 10% per annum?

T 15,000 =t T = <7000 T F 12% Wi a4 oo
T = 10% Wi o wveme =1 X 9 o e s
T iafe 2 A F g W T T3,344 £ 10% v ad

=l TR TR T A g et ?
(A) 76,200 (B) 26,600
(C) 6,400 (D) 6,500

A sum of ¥ 18,000 is invested for 16 months at
8% per annum compounded half-yvearly. What
is the percentage gain at the end of 16 months.
to the nearest whole number?

T 99 3 18,000 =i Tgaids &9 9 qfaay 8% i s
16 HEiHT o for Ferm fmen = dt 16 7€+ % =fa o wfaem

T T EI 7
(A) 9% (B) 11%
(C) 10% (D) 12%

A sum of ¥ 12,800 is invested partly at 15% per
annum and the remaining at 12% per annum
simple interest. If the total interest at the end
of 3 years is ¥ 5,085, then how much money
was invested at 15% per annum?

TF o 12,800 % TF 9P 15% A ad a 3w =1 12%
A it W A 5 B e e T =i 3 s
T TS 5085 Frenar 15% M ® fagan o frowt feen
T ?

(A) T 5,200 (B) T7,500

(C) ¥ 5,800 (D)¥ 5,300

A sum of 12,000 is invested for 15 months at
10% per annum compounded half yearly. What
is the percentage gain, at the end of 15 months,
{correct to one decimal place)?

< 12,000 =t U9 w15 HigH =6 170 10% =1idsh <1 4,
gt HeEIfe whgfa = W fem frn s g1 15
HER o I8 W9 A (SIHAE ok Tk 31k a0 ) 781 80T 7
(A) 13.0% (B) 13.1%

(C)12.8% (D) 12.9%

A sum of ¥ 15,600 is invested partly at 7% per
annum and the remaining at 9% per annum
simple interest. If the total 47 interest at the
end of 3 vears is T 3,738, how much money was
invested at 7% per annum?

T 15,600 =it T AR T A 7% wia o6 F1 50 & &7 9m
TR 9% T 9 TR e = e 9 e e e R
A% 3 o % I7AE T AW 2 3,738 © @ foRaet e 7%

B leh Kool R Kilker R Al
(A)Z 7,800 (B) % 7,900
(C) T 7,600 (D) 7,700

A sum of 10,200 is invested partly at 8% per
annum and remaining at 6% per annum for 3
years at simple interest. If the total interest is
¥ 2.124, how much money was invested at 6%
per annum?

T 10,200 =i TF%1 =1 3A7Terk =99 8% Wfa =9 A 9 iy =
6% Wid =9 HILNT =4S W e 9 3 =9 & foru faem e
ST ¥ | Tfe ot == T 2,124 %, O 6% WG A ® T W

et v = frerm Fopen v/ o 2 (A) ¥ 4,900
(B) ¥ 5,200
(C) T 4,800 (D) T 5,400

A sum of T 10,000 is invested for 17 months at
8% per annum compounded half yearly. What
is the percentage gain at the end of 17 months,
nearest to one decimal place?

T 10,000 =t TN 1 17 ATeA F 0 8% 7 o9 FT T W
ST T wRRgTG e R Taw fE W 217
HE % #70 H WiOvE T (SYHEE  UE &I aF) T4

B ?
(A) 12.0% (B) 12.2%
(C) 12.4% (D) 11.8%

A borrowed aloan from B at 8% simple interest
for 2 vears and repaid the loan with interest
totalling ¥ 191864. The amount of loan taken
by Ais:

A B 8% AN =4Sl i o § 2 =97 o feiu g fepn
3R =T % A BT e T 191864 M | A % 5N

o= 7 w9 e 7
(A) T 168920 (B) T 166540
(C) T 164492 (D)% 165400
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10.

11.

12,

13.

14.

15.

A, borrowed T 28,500 at 8% interest com-
pounded annually. If ¥ 5780 was paid at the end
of first year, then the outstanding amount at
the end of second year is:

AT 8% Ffi= wHRg T o i X ¥ T 28,500 TER T |
7 TEe W % #q T 5780 T T, T gE W 5 o

| gor T ufe T w2
(A) T 27000.00 (B) T27462.40
(C) T 30780.00 (D) T 33242.40

On what sum of money, the interest for one
year at 12% p.a. compounded half vearly is
1,545?

el TfT W, T I % T 12% v o ol ® st

Ao =gt e T 15458 2
(A)Z 25,750 (B) T 24.300
(€)% 12,875 (D) T 12,500

7 2,64.000 is invested for 3 years at 8.25% p.a.
simple interest. The interest is:

8.25% = W W AMFw T¥RT == w3 7+ fog
2,64,000 . =1 =21 foparm = & | =411 ki i = 20t 7
(A)T 87,120 (B) 43,560

(C)Z 21,780 (D) 65,340
72,400,000 is taken as loan for three vears com-
pounded annually at 12.5% p.a. At the end of
first vear, the interest is revised to 12% p.a.
The total amount to he repaid at the end of third
year is ;

12.5% i =ws =5 % @ & 3 9 ¥ fo 2
2,40,000 3R = § | 0= o 3T e R 12%
TS A E A3 T8 AT FA AT T

(A) T 3,26,400 (B) T 3,34,800
(C)¥3.38,688 (D) T 3,42,648

The simple interest on a certain sum at 15%
p- a. for three years is ¥ 7,200. The sum is :
15% Tftrad =i ST T 3 9 F o0 U M= T0 7 W
=rel 7,200 T | o oS T ¢

(A) T 16,000 (B) 24,000

(€)% 32,000 (D) ¥ 48,000

The compound interest calculated yearly on a
certain sum of money for the second vear is I
1,320 and for the third year is T 1452. The prin-
cipal amount at the start of the first year is:
fopdt iy T enfi=r-waifem =skefs == gat o & fou

71,320 in i ad F U ¥ 1,452 ¥ 1 e 99 =T

YT H T T PR B ?
(A)T 12,650 (B) ¥ 13,200
()T 12,970 (D) T 12,000

16.

17.

18.

19,

20.

Find the compound interest at the rate of 7%
p.a. compounded annually for two years on the
principal that vields a simple interest of ¥ 9450
for 3 years at 7% p.a.

T FRelt TR W 7% i ® T ® 3 99 % e wremw s
T9,450 ® 91 7% At W & ¢ F fow 5w wfyr =
(A) T 12,345.20

(B)¥6,520.50

(C)T 10,127

(D)3 12,678.40

If the compound interest @ 10% p.a. com-

1
pounded half-yearly for 1 5 years isT2522. The

principal amount is:

10% = erd léaﬁmmaﬁ?wﬁﬁdﬁ?ﬂw

I TG A 3 2,522 T T qATHA AT E ¢

(A) T 20,000 (B) ¥ 18,500

(C) T 16,000 (D) ¥ 15,400

In what time will a sum double itself at 8% p.a.
simple interest?

8% TERM =TS T T T3 Tofa= w0 H SRpAf it 2
(A) 12.5=d (B) 5ad

(C) 6 o (D) 8 =

A sum at a simple interest of 8% p.a. becomes

7
5 of itself in how many years ?

Tora ot o U Tl 83 WA = TR oA 7 W T
7 "
g’fﬂ??lGITTTT?

Ws  ®2;  (©3

5 (D) 2

The interest on I 24,000 in 2 years compounded
annually when the rates are 8% p.a. and 10%
p.a. for two successive years is:

T 24,000 %! Tty X 2 71 % fau smgfa = #=n 7mm ?
e qer = wA F T 8% W $iR fgdt 7 10%

wfaed 71
(A) T 3,994 (B)T 4,512
(C) T 5,040 (D) T 5,866
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21. At what rate percent per annum with simple [ 22. If a sum becomes ¥ 1,460 in two years and I
intereset willl a sum of money double in 12.5 1,606 in three years due to the compound in-
vears ? terest, them annual rate of interest is :
HIYRY &S i Rt &0 | e 99 12.5 a9 | g & Tl 1E Hod Tyl = i S H 7 99 | T 1460 F T4
A E ? 7ot § T1606 T W 61 T A FH ?

(A) 8 (B) 12.5 (A) 10% (B) 9%
(C) 10 (D)6 (C) 8% (D) 11%
Solution
1. () R =5% R, =5% R,=5/2% Using alfigation
o 5 1 5 i 1 Tx3% 93%
=5% =700 20 2 7 30 623,,
= 20 21 2%
20 21
40 41 Multiplying by 26 346 702
16000 18081 623
d 1 79/ \7?
R i P t = x 100 = 13%
equired Fercenlage = 16000 — Ratio of principal = 79 : 77
2. (C) ATQ, ‘ 15600
<X 10 %2 . (15000 - x) x12x2 _ - = Moncy invested al 7% = 70177 XT79
100 100 - 15600
= x79
Z- 2213600 = 3344 o
5 25 OO T 15600
= 79
x 156
25 296=x=06400 = 7900 Rs,
3. (B) R=4% T=2yrs 4 months 7. (D) Interest rate of 3 years
Eftective Rate for 2 years = 8.16 2124
= * 100
8 10200
Rate for 4 months = 12" 4=2.6%
Effective rate of interest = ol—ic}%
=816+2.6+ M =11% USiIlg Allegation,
100 8 x 3% 6 x 3%
xx156x3 (12800-x)12x3 354
4. (D + = 5805 Q
) 100 100 17 7
=x=5300 Multiplying all these terms by 17
1
5 (A R=3%T=2 E 408 06
R, =10.25 35
1025%2.5 / \
R 1 =10.2542.5+ = 0 48 54
2 . .
— 3%, =24:27=8:9
6. (B) Interest rate for 3 vears ) 10200
Money invested at 6% rate = x9
373 623 17
3738 0
=- x106) = A) = ¥ 5400
15600 26
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8 12. (D) Given,
8. (D) Halfyearly rate = 5= 4% P = 264000 T=3years R=825%
6 month, 6 month, 5 month Sl = PxRxT
= R tfor 1 yvear 100
_avar 2 _ge _ 264000 x8.25x 3
100 100
= Rfor 17 months ¥ ogza.
= R for 1 year + R for 5 months =365340
10 . 8.16x10 195w 1
- T ek i 9, 13. (O IYr.Rale=125%PA= -
816+ = -=11.8 p
9. (D) Aswcknow Amount after one year
PxRxT [1 1}
Sl= = + =
—'l 00 2,40,000 x 3
So o
x%x8x2 =2,40,000 x —
191864 -x= —————— 8
100 Allerthree vears =(R=12%
16x : 2
— 191864= ——+X 5 9 [-HE]
100 240000 % 3 X 00
ax 9 28 28
—_— — 11 g 2 ad
= 55 Tx= 11864 = 240000 % —x —x —
8§ 25 25
29% — T 338688
= 95 191864 14. (A)  Aswe know,
= x=165400Rs S1 %100
10. (A) P=28500 R=%% P==7T
Aller one year amount will be
108 7200100 »
= 28500 x — = 30780 P= 573 =3 16000
100 -
Status after one vear 132
=30780- 5780 = 25000 15. D) R= 1320 x100 = 10%
Amount aller sccond year
108 10 Y
= 25000 X — = = 1+— | -
100 27000 Rs. CI=P ( 100 J P
12
11. D) R=— =6% = v
3 1320=P 10 1o
_.6 _ 3 P = 12000
100 50 16. (B) As wcknow
Using CI concepl
A p— SI < 100
ForIsl Year 30 33 RxT
Forlind year ~ 50° 33
2500 2809 9450 x 100
Cl = 2809 - 2500 = 309 =P=———
7 %3
=p= 1545 % 2500 =43000F
309 4= — 70 — Y
= 5 x 2500 = T 12500 = P=45000, R=7%, T=2yrms
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Rell= 14.49% 19. (A) P=5 A=7
14.49 =S8l=2
= D
CI=45000 100  S1x100
= PxR
=6520.50%F
_2x100
0 | Ex8 years
17. © R=—=3% T=1=—x2=3yrs.
2 2 20, (B) Reff=8+10+ 2%
CI=2522 ’ ' 100
5 1 =18+0.8=18.8%
R=5%= —=— 18.
100 20 Interest = 24000 x — -
Using CT Mcthod
P A = 4512
For three years (20 (21)° 21.(A) LetP=100
SRR A =200 S = 200 =100 = 100
= Cl=2P - 20°= 1261 To125 yrs
p= 2522 co00 = 16,000%. r= 1x100
| PxT
18.(A)R=8%  P=100(lel) _ 100x100
ST=100 T 100x125
SI> 100 100 x 100 : .
T- == 22.(4) R=-20 2%, 400
P x R 100 x 8 1460
25 ] =10%
= —= 12— =12.5 vcars
2 2
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A certain sum becomes 4 times in 7 years, at
simple interest, then in how many vears it will
become 16 times?

A% TR T TR TG T FIG I 7 A H 4 AR
ST %, 4 e et § o 16 7T ) ST 2

(A) 16 (B)21

(C)28 (D) 35

What will be the amount on Rs 24000 at the
rate of 35% per annum compounded yearly for
2 years?

2 9uf H 35 iTvm Wid 96w ' T 24000 F W AR
HRdte H Them et o | Eey 2

(A) 43740 (B) 49870

(C) 51785 (D) 40890

What is the compound interest (in Rs) on Rs
12500 at the rate of 12% per annum com-
pounded vearly for 2 years?

12500 &. W =it GisH BN 12 Wiage 9id = &1 <0 H 2

Ut | THer =Ten =Fats = (B /) FME ?
(A) 3000 (B) 2980
(C) 3050 (D) 3180

An amount was lent for two years at the rate of
20% per annum compounding annually. Had the
compounding been done half yearly, the inter-
est would have increased by 24 1. What was the
amount (in Rs] lent?

T | T RS WA B 2 FU! % e 20 Hiew Wi
T TTRIG TS i & T SR TS TR | Tl A STEaiE
T T, A 241 B, 9% W § | SER ST wEiE (wH)

FE 7
(4) 10000 (B) 12000
(C) 20000 (D) 24000

If a certain sum becomes 3 times in 6 years at
compound interest, then in how many years,
it will become 81 times?

AR FIE S TR oA W6 U H 3 A WA E, AqT

AR Tt | o 81 AR S ?
(A) 81 (B) 162
(C) 27 (D) 24

What is the simple interest on Rs 5400 in 5
years at the rate of 12% per annum?

12% Tfered Y 2 ® 5 79 B 5400 T WEE S T4

B ?
(A) 2700 (B) 2050
(C) 3120 (D) 3240

7.

10.

11.

If a certain sum becomes 2 times in 7 years at
compound interest, then in how many yvears,
it will become 8 times?

= RIS AR =kl =aTel TR 7 AT 2 A F S g, A

fomer =il o =g & T BT St ?
(A) 14 (B) 21
(C) 28 (D) 35

A certain sum becomes Rs 1020 in 5 years and
Rs 1200 in 8 years at simple interest. What is
the value of principal?

FE IR YR A 9T 5 A6l H 1020 W a8 I H
1200 . g1 1T & | JeIeH =1 7 341§ ?

(A) 820 (B) 780

(C) 700 (D) 720

What will be the amount on Rs 12500 at the
rate of 20% per annum compounded vearly for
3 years?

3 7l # 20 Wiowm 7R A T W 12500 F W qAMUF

Trats o Them St ufd = gt ?
(A) 21080 (B) 21560
(C) 20600 (D) 21600

A certain sum because 7 times in 8 years, at
simple interest, the in how many vears it will
become 19 times?

TR FHER TR T OIS T G HAA § A€l § 7 AR
et E, 91 et | = 19 A ! S 2

{A) 15 (B) 18

(C) 28 (D) 24

What is the compound interest {(in Rs) on Rs
2400 at the rate of 20% per annum compounded
yvearly for 2 years?

2400 %, W A FarsH gRT 20 wirea wiy = =7 51 % 2
=T H e e RS A (W) FER 2

(A) 960 (B) 1024

(C) 1056 (Dy1120

12. An amount was lent for one year at the rate of

10% per annum compounding annually had the
compounding been done half yearly, the inter-
est would have increased by 80. What was the
amount (in Rs) lent?

T MY AR A A 1 q o 10 wiem wioed
=G = i 50 Y SUR &2 T | Sekgls =t o staati
T W, = 80 . 9% Sl § | SR &1 e I (%, W)

I EN 7
(A) 16000 (B) 32000
(C) 48000 (D) 64000
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13.

14.

15.

16.

17.

18.

19.

If a certain sum becomes 4 times in 4 years at
compound interest, then in how many vears,
it will become 64 times?

=fE Skl ST T g Te RIS SR 4 79 5 4 T E
Tt E, 91 e ant | 9 64 T S W 2

{A) 5 (B) 12

(C) 16 (D) 24

What is the simple interest on Rs 7200 in 7
yvears at the rate of 14% per annum?

7200 ®. W 7 AN H 14% U I S T AER AT 4

T ?
(A) 6800 (B) 6812
(C) 7056 (D) 7096

What is the difference (in Rs) between com-
pound interest and simple interest for 3 years
on a principal of Rs 1000 at the rate of 20% per
annum?

1000 %, = {4 T 20 Wiaem =i &t 51 9 3 =9t 4 fem
T THATE T A TR S F Wi R o (F

H)e?
(A) 64 (B) 120
(C) 128 (D) 136

What will be the amount on Rs 25000 at the
rate of 20% per annum compounded yvearly for
4 years?

4 =9t # 20 wfdsm 9fq =d & =7 9 25000 % X A1t

Fats o Them et ufy = gt ?
(A) 51840 (B) 50350
(C) 53550 (D) 48750

If a certain sum becomes 2 times in 5 years at
compound interest, then in how many vears,
it will become & times?

T TIE SIS TR ST O 5 S § 2 T g o €,

forer =l & =18 8 T B St
(A)10 (B)20
(C)15 (D)30

A certain sum becomes Rs 840 in 3 years and
Rs 1200 in 7 years at simple interest. What is
the value {in Rs.) of principal?

I ST HIHR =S 93 T A 840 ®. a1 7 99 |
1200 F, BT 9T € | TR A (F. W) e ?

{A)520 (B)570

(C)620 (D670

An amount was lent for one year at the rate of
18% per annum compounding annually. Had the
compounding been done half yearly, the inter-
est would have increased by 324. What was the
amount {in Rs) lent?

20.

21.

22.

23.

24,

25.

Tk S0 1 1 3 & T 18 wfaem wfoesd ssrgls = =
T TR 571 7 | Sy lE = s g W, = 324
. 9% A1 ¥ | SR SIS ety (F W) @ 4y ?

(A) 32000 (B) 36000

(C) 40000 (D) 72000

A certain sum becomes 5 times in 3 vears, at
simple interest, then in how many vears it will
bhecomel3 times?

AT TH T TR T T F% gAY 3 TN H 5 A T
et %, a7 TR ot | 9% 13 e S 2

(A) 6 (B) 15

(C)o (D) 12

What is the simple interest (in Rs] on a prin-
ciple sum of Rs 1440 for 3 yvears at the rate of
8% per annum?

1440 . F TTHE T 3 Af A 8% F T H THRT A (T

) FEM?
(A) 345.6 (B) 230.4
(C) 367.8 (D) 312.2

Ifinterest heing compound annually then what
sum will amount to Rs 2508.8 in 2 yvears at the
rate of 12% per annum at compound interest?
AT TS AT SATo 2R S, q7 2 ;A H 12% T A0
T Y RIS AT TR N ALY 2508.8 F. B AL ?

(A) 2000 (B) 2200

(C) 1800 (D) 2500

What is the compound interest {in Rs) on a prin-
ciple sum of Rs 2800 for 2 vears at the rate of
12% per annum?

2800 . % HHT W 2 FAT H 12% i AE & H Thals
== (% H) FTEm 7

(A)687.18 (B) 634.46

(C) 712.32 (D) 568.68

If interest being compound half yearly then
what sum (in Rs) will amount to Rs 38416 in 2
years at the rate of 80% per annum at com-
pound interest?

=g =areT 7R Farterd fransi, a7 2 99 § 80% <kl =M
T H Tkl =S WA U (F. 7 ), 38416 &, g 0901 2
(A) 14000 (B) 15000

(C) 10000 (D) 12000

Rajeev invested Rs 4500 for 2 vears at com-
pound interest in a company which paid him
interest of Rs 1980. What will be the rate of
interest (in percent) at which Rajeev invested
his money?
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TS 4500 T 1 o =aRals o9 =it &2 9 2 791 & T TR TS 5T (whrem # ) R § e W R e
T S H AT WS 1980 T S Sl § | SIS A R 50 =t # = A A S e e 2
(wferera # ) =P B o T wete ¥ e R 2 (A) 2 (B) 4
(A) 10 (B) 15 (C) 5 (D)8
(C) 20 (D) 18 28. A sum of Rs 3100 is lent out at simple interest
26, What will be the difference (in Rs) between com- in two parts. One at 8% per annum and an-
pound interest and simple interest for 4 years other at 6% per annum. If the total annual in-
on a principal of Rs 12000 at the rate of 20% terest is Rs 212, then what is the money (in
per annum? Rs] lent at rate of 8%7?
12000 ¥. o T HETHT W 20% Ul = =i 59 4 =70 % fou 3100 T it T A &7 9T H FER S W6
Th (G =TSl a1 HATERT =47 % & ] 3 (. H ) g ? S & | TR 7T 8% T S H T ST HFT T 6% i X H
(A) 3324.8 (B) 2818.4 A E | AT e oI T 212 T §, A7 8% F W WL T
(C) 3576.6 (D) 3283.2 TR (T ) FE?
27. What is the rate {in percent) of simple interest (A) 1000 (B) 1250
at which a sum of money hecomes three times (C) 1300 (D) 1400
of itself in 50 vears?
Solution
1. (D) lel sum is X )
in 7 years it will be 4x Ry
means Lthal STis =4x - x = 3x =" | (l+ 100] F
_ pxrxl 19 V2
~ 100 =12500 | 1+—| —12500
o 1422
3= 112 112
3x=
100 =1: —x ——-12500
12500 x 100 100
= 300 o = 15680 - 12500 = 3180
4, (A) Rale = 20%
Now il will be 16 Limes =16 x Time =2 year:IYearly
means Lhal SI =16x -x =15 x )
Rate= 10% ] half Yearly
o xx300t Time =4 year
IX=5
7x100 Inlerest increased = 241
t=35 5. Dy6 —x3x81=3)*
2, (A) P = 24000 =6x4 =24 yry
R=235% 6. (D) P=%53400, R=12% ,L=5yrs
T=2 5400 x 12% 5
P T S.L.= ~ 100 - <3240
Amounl=P {1+ —}
100 . 10 Y . 90
2 P x 1+—) -Px 1+—) =241
3T “ 7100 7100
= 24000 {l + m}
_ EXEXEXE—EXE =241
g0 x BB 10 10 10710 5 5
] 100100 14641-14400
= 43740 {;} =241
3. (D) Principal = 12500 10000
Rale=12% P = 10000
Time =2 year 7. (B) Amount=x
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12.(B) Amount=xRs
] 105 Y 110
7 vear XX 100 —X X 100 = &0
half vearly CI Yearly CI
2x 441x—-400x = 80 = 400
x =32000 Rs.
7 yoar 13. [B]
14.(c) [200x7x14
e - (€) 100 -
7 yvoar SI _ PxTxR
"7 100
x| 15. () Diff. beetween C1 & Sl for 3 years =
PR*{300+R)
Total Time=7+7+7=21 year 100 x 100 %100
8. (D) > year am ount="1020 P =1000
8 )feaf amount= 1 200 R - 2001}:}
3 year 5.1.=1200-1020="180 T=3
TyearS.l =60 . _ :
5 Year S.L = 60 x 3= 300 =1[]0[J><20><2U><3»2U=,_
Principal = 1020 - 300 =3 720 100x100x100
) " 16. (A) P = 25000
9 (D) Compound amount=P |1+ i) R=20%
’ ’ - 100 T=4
- 20 ) . T |
=195 == A =P |14+ —
= 12300 [.1+ 100] mount { 100}
6 6 207
=1 —X—x— =218 = 25000 ’|+—}
12500 x 575 X 3 21600 5000 { 100
PxRxT 120 120 120 120
10. S5l=—7— = o T T T :
) 100 25000 % 5% 305 100 700 = 21840
ATQ. 17. () Principles assume that 100 Rs.
SI.=7P-P=6P 100
T=8 -
6P x100 200—
= —————— = o
Px8 400 Principles § Limes =15 vears
R = 75% 3
Find out Time = 2, When Amount 19P 800
SL=19P-P=18P 18. (B) 3 Ycars amounl = 8§40
e 18P % 100 7 Years Amo_unl, =1200
= T 75xp 4 Year 5.1 = 1200 - 840 = 360
— %4 Yot 360
T =24 Year 1YearS.l. = = =g
20x20
11.(C) 2year Clrate=20+20+ 100 =44% 3YearS.1.=090x 3 =270
Principal = 840 - 270 =¥ 570
2400 x 44 19. (C) Dillerence in CTand ST for 1 year =324
1= 100 1056 Raic = 18% Per yearly
Rate = 9% hall yearly
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[y —9+9+&—188'l
of 1 ycar= 00" 8

324

i = =100
Require of Sum 0.81

=40,000

Let Principal =P
- Amoun( =3P

Intcrest = 4P
4P <100 400

px3 3

Afler 13 year it will become 13 times
Henee Tnicrest = 13P-P = 12P

200(0)

Rate=

12Px100
T= 400

Px
T=9year
PRT
100

1440 x8x3
100
S5.1L.=3456

21, (A) S.L.

S5L=

12x12
22, {A) Compound Interest of 2year=12+12+ T00
=2544
Lel Principal =100 A — 100 + 2544 =125 .44

2508.5

——— %100 =
195.44 2000

Principal =

_ 2800 1+—| -1
23.(0) CL= ( 100 J

_ 2800 E] -1
100

_ 2800 (§] 1
25

[ 784 1}

_ 2800 — -
| 625

15
= 2800B
625

=71232

24,(C) Amount= 38416
T=2——>4

R = 80% half vearly 40%

(Hﬂ 4
ss416=P | | ' 750
m4m=P(fj

P= 10000
25. (Q) Principal = 4300
Compound Inlerest = 1980
Amount = 4500 + 1980 = 6480

A_P(100+RT
~ L 100

6480 = 4500 [lfglili\z
- - 100

e

6480_(1004-R‘
4500 100

18 100+R

15 100

R = 20%

26. (D) Rale of compound inlerest [or 4 vear =44 + 44 +
44 x 44
100

Rale of Simple Inlerest for 4 year =20% x 4 =80%

Rate of Difference C.l, and 5.1. = 107.36 - 80 =
27.36

Difference between Compound Interest and

12000 x 27.36

=88 +19.36 =107.36

Simple Interest = 100 =3283.2

27, (B} Letthe Principal be =3 x

Amounl aller 530 year =3x

Interest =3x - x = 2x

2x x 100 _

——— =4%

x X 50

xx8x1 (3100-x}x6x1

28. . : =212
8. © oo 100

_ 8x+18600-6x _

- 100 -

= 2x + 18600 = 21200

=2x = 21200 - 18600

=2x = 2600

x=T1300
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SSC MAINS-2021

The compound interest (compounding annually)
on a certain sum at the rate of 8 percent per
annum for two years is ¥ 6656. What would be
the simple interest on the same sum at the
same rate of interest for two years?

T Tfy= i W g wiem Wi A e W 2 A+ o
=hRglg =E (ST w9 9 S%gg Ry S W) T 6656
¥ | T TN W A A Y S ot R e

TS AR ?
(A) T 6400 (B) T 6224
(C) 26336 (D) T 5600

Sum ¥ 20000 and ¥ 40000 are given on simple
interest at the rate of 10 percent and 15 per-
cent per annum respectively for three vears.
What will be the total simple interest?

¥ 20000 7= T 40000 =1 TRET =t o1 701 3 forg s
10 WRTeE TN 15 TS SR e o R e m e
el T AT TR T 2

(A) T 24000

(B) T 36000

(C) T 28000

(D) T 32000

What will be the simple interest on a sum of ?
12000 at the rate of 15 percent per annum for
three years?

T T 12000 w1 UfF W 15 Ffaem wfa 99 =1 <" di= o0l =
s e e e Sl Kt | 1

(A) T4500

(B) X 5400

(C) T 7200

(D) ¥ 6000

Vipul and Manish invested the sum ¥ 15000
and ¥ 20000 at the rate of 20 percent p.a and
30 percent p.a. respectively on compound in-
terest (compounding annually). If time period
is 3 yvears for both, then what will he the total
compound interest earned by Vipul and
Manish?

e g w=m T 15000 791 T 20000 = TEE Fr Fom
20 WiE9m T2 30 WH9E Ff o W ARG TS (AUE T
A Fehgls g A ) I e e | afs 391 & fau awemafy
3 94 g1, 7 oY qen wA g ot T wRghe o
foram grm 2

(A) T 32480

(B) T 29460

(C)T 131688

(D) T 34860

(A)

(A)

E§x8
Effectiverate % =8+ 8 + 100 = 16.64%

Here, 16.64% — 6656
19 — 400
Eff. Slrate% =8 + 8 = 16%
16% — 36400
SI=T6400

Total 51 = 20000 = 10 x 100

+ 40000 x 15 x

3
100

6000 + 18000
3 24000

i ]

100

S[=12000x 15 x = 1800 = 3 =3 5400

3 5 (1 + 20 i -1
CI for Vipul = 15000 100

(9]3 B 1
15000|| 5

{216 _1}
15000| 752

15000
125

x 91 = T 10920
30 )
Cl for Manish = 20000 | |1+ 755) ~1

200001 | 1o

2197
20000( 7500

{20000

* 1197 | = F 2304
1000 } 323940

Total Cl1 =10920 + 23940 =T 34860
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What is the difference {in ) between the in-
terests on ¥ 50,000 for one year at 8% per an-
num compounded half yearly and yearly?

T 50,000 i YT & fo70 8% =AYk =<1 < W AT
T H ThlG g A TR =1t ¥ A wwRgiE §F 9e
o 3 =TS S e fope S (TH) 37

{A) 80 (B) 100

(C)70 (D) 50

A sum of money becomes ¥ 11,880 after 4 years
and ¥ 17.820 after 6 years on compound inter-
est, if the interest is compounded annually.
What is the half of the sum (in T)?

T ST Sfte w9 kgl 3H A0 9%gE S8 W, 4
A HaET 11,880 AR A HaE T 17,820 TSI T |
=9 gafs = sen 9w (3 H) e gem 2

(A)2.410 (B) 2,530

(C)2.640 (D) 2.730

A loan is to be returned in two equal yearly
instalments. If the rate of interest is 10% p.a.
compounded annually and each instalment is
7 5,808, then 60% of the total interest (nearest
to I) charged in this scheme is:

T W A Al TAA S R § ar e e € A
R H 7T ATE 10% 2, | 75 ottt w0 % =g et
% ofit oo TR T 5808 = &, @ 7% Anrn # fomm W
A T T W 60% (T % Fream) @ =1

(A) 917 (B)911

{C)922 (D)913

If the amount obtained by A by investing T0,100
for three years at a rate of 10% p.a. on simple
interest is equal to the amount obtained by B
by investing a certain sum of money for five
years at a rate of 8% p.a. on simple interest,
then 90% of the sum invested by B (in T) is:
AfE A SR HTHR =1 W, SMde 10% &1 =0T 52 & 71 =4l
% fam 39,100 =1 99 =3k 9 ki T YUty B g
HIYROT =11 T, ATSk 8% 71 =479l & H Wi ol & foTg Wk
Ffemm v =1 Faw e o =1 7% ufo % sy g, 91 B
BRI Frerw =i 12 fer 1 90% (T ) 7 |

(A) 8,450 (B) 7,800

(C) 8,540 (D) 7.605

A sum of money at simple interest amounts to
6,000 in 4 vears and to 36,750 in 7 years at
the same rate per cent p.a. of interest. The sum
fin ) is:

T T 4R T it e e W 4 7 o

36,000 3 7 @9 ® 36,750 § WM T Ww eAUH

3z g1
(A) 5.100 (B) 4.800
(C) 4.000 (D) 5,000

A sum of 8,400 amounts to I11,046 at 8.75%
p-a. simple interest in a certain time. What will
be the simple interest (in 3) on a sum of 10,800
at the same rate for the same time?

8,400 = TF 47T 8.75% AU WU o471 T R
T Tt safa ® T11,046 21! ® | 58 oA o $1T
T &7Ey T T 10,800 = T R T = (T H)
e B ?

(A) 3,402 (B) 3,204

(C) 3,024 (D) 3,420

A sum of T 5,000 is divided into two parts such
that the simple interest on the first part for

1 2
43 years at 65% p-a. is double the simple

3
interest on the second part for 2 g years at 4%

p.a. The ratio of the second part to the first part
is:

¥ 5,000 =i U7l <1 9§ 58 wehr faerfsrm e s g,

Y 2 L1

WWWW6;°A:WWWH4E?WWWW
3

T, I T R 4% == i H 2% o & FIEHT ST

I ERTAT &, AT S8 7T I 9geT 7T § ST [ Y |
(A)11:14 (B)11:13

(C) 14:11 (D) 13:11

A sum of ¥ 50,250 is divided into two parts such
that the simple interest on the first part for

1 1 5
75 vears at 8% p.a. is 5 times the simple
W2

1
interest on the second part for 5 3 years at 8%

p-a. What is the difference (in I) between the
two parts?
¥ 50,250 =t e < W H TW W Tt e e

- 1 Iy Lad ]- I
T W 7 =79 F fau 85% = = o W

k) ]- Lo -
TR 51T, TR AT 9T 5 — o o 70 8 %6 AT =419 X

4
T TR SAT % TR | S o et (TH,)
frame?

(A) 10,275 (B) 12,750

(C) 12,570 (D) 15,270
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Solution
1. (A) Principle = 50000% Rate = 8%
When Interest Compounded yearly (D) P, + Py xRy x Ty = Pry xRy xTyy
2 . 100 T 100
Interest = 50000 x 100~ 4000% 9100 x 30
9100+ ———— =P_+P x —
When Interest compounded Half - Yearly 100 BB 100
effective Rate= 4%, effective Time = 2years
4 4 4 Ex9100=P><140
100 100100 P = 8450
= 4000 + 80 = 4080% "
Required difference = 4080 — 4000 = 80% _2
2. (C) ATQ, after 4 years 90% of P, = 15 * 8400
100 + RY _ = 7605
11880= P 100 (1)
' D) Interest in 3 year = 6750 - 6000 = 750
after 6
©r b years Interest for 1 year = 250 Rs
P 100+ R RY . Interest for 4 year = 1000 Rs.
17820 = £ — 55 ---(id) Principal = 6000 - 1000 = 5000
8400 x 8.75 x t
100 L RY (A) 11046-8400 = “o- 0 X
17820 00 100
= 84 x 875 t= 2646
11880 [100+R] = t= 3.6 years
0 SI= 10800 x 8.75x 22
1782 _[1004“1?)2 100
1188 | 100 =%3402
] 5 (C) Let Principal first and second part be = P,
15_[100+R] and P,
oL 100
Put this value in eq. 1 P 21,20 100
4 155X g 2
3Y = 1. 4 1
11880=P (—] — X —
2 274 7100
11880 x 4
P=Tx=1320><4 _ Bx28 2
T PxIl 1
1
Half of the sum = 1320 x4 x — = 2640% =P P,
2 =11:14
3. [C] Let x = Principle p P =14-:11
Installment = 5808
10 10 B 15,25 21, 8x2
x_5808x[11]+5808[11] (B) 273
25x =42y
= 5808 x £+ 5808 x 100 x 42
11 11x11 —= 25
= 5280 + 4800 = 10080 Y
Total Interest = 2[3808] - 10080 = 15336 50250
60 = x17
Required Answer = 1536x =9216 67
100 =3 12750
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18-11-2020

Al whal rale of inleresl will a sum of T 4,500 amounl
to T 6,525 at simple interest for5 years ?

T 4,500 = T B T T R o RS aut
7 ¥ 6,525 T S ?

{A)8% (B)12%

(O 10% (D)9%

In how much time will the simple interest on a certain

6
sum of money be Etimes of the sum at 20% per an-
num?
et Ty sty % T 20% At TR =1 @ W
- N )
o 9 F =1 59 S = gtﬁzﬁm?

(A) 5 years/ a9
(C) 6 years/ =M

(B) 8 years/ @d

(D) 7 years/ =4

Al whal percenl per annum will a sum of ¥ 15,625
amount to I 21,952 in three years. If the interest is
compounded annually ?

T 15,625 =i gfy, Afte 9 9 wkgls ey = =
T wiqera ==mer o W 3 9t | ¥ 21,952 =1 S 2
(A)12% (B)8%

(C©)9% (D) 10%

Rahul invesled equal sums of money al compound
interest under two schemes A and B, Under scheme
A, the interest rate was 10% per annum and under
scheme B, Lhe inlerest rale was 12% p.a. The com-
pound interest after two years on the sum invested in
scheme A was ¥ 1,050. How much is the interest
carnced under scheme B aller Lwo vears, if Lhe inlerest
is compounded annually in both schemes ?

TEA A A iR B 19 T AremeTl ¥ weRghe A W T
A AT e R e A # e w2 10%
At oft $TT e B ® = 52 124 atde off | wga w
Tuf % W e AT fRfm st = s 31,050 frer |
=t St Areret | e A E T © =G A S,
T UgE I &1 Tl & @ Are B fafem emwfy w fwam
=T THer 7
(A)T1,270

OTL722

(B)Z 1,372
(D)T1,272

16-11-2020

The rale of inleresl for Lhe (irsl 2 years is 6% p.a. for
the next 3 yearsis 10% p.a. and for the period beyond
Syecarsis 12% p.a. Il a person gels T12.771 as simple
interest after 7 years, then how much money did the
invesl ?

el 2 7 F forg e A e g A 6% T, o 3 A F
T wid =t 10% § R 5 A & e = o7t F fog wid ot
12% % 1afa 7 & am foret =afer = aremor = % w14 T
12.771 THewa &, A1 SEeF G Few i 7 [ 90 w i)
(A)Z19,450 (BYY 19,350

(CYT 19,300 (D) T 20,000

-0

The compound interest ona sum T 20,000 al 15% p.a.

2
for 2 3 years, inlerest compounded vearly, is —

STST i IO S ka5, STHR TR gH, T 20,000

. 2 -
T T, ATE 15% F R H 2 T8 H AT FF G S

T =i |
(A)Z9,098 (B)T 9,095
(C)Z 8,89 (D)T 9,000

A loan is to be returned in two equal yearly
inslalments. I the rale of inleresl is 10% p.a., com-
pounded annually and each instalment is T 5,808,
then the total interest charged in this schemeis
foret = w1 <1 wwm At fhval & <er € 1 =fs ==
Tafa e 10% §, S =nfirs = § Twatfs et & o T
fora T 5,808 B, o1 59 @or | o =1 el s wW
Al

(A)T1.536 (BYT1.632

(O TL002 (D)3 1,563

A sum of T10,500 amounts to T13,650in 2 years at a
cerlain rale per cenl annum simple inlerest. the same
sum will amount to whatin 1 year at the same rate, if
Lthe interest is compounded hall yearly (nearest Lo T 1)
% 10,500 =t 0%, =t wame = = s w a
Tt # T 13,650 B AT § | THE A, T 5 W TEH
foraTt 1 <ue, =ife =arst =&t 77O 37 Wit wwgls ER
™ F W (€ 1 % e ae )

(A)T12,134 (BYT12,314

()T 12,124 (D)T 12,143
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10.

11.

12.

15-11-2020

The compound interest on a sum of T 5,500 at
15% p.a. for 2 yvears, when the interest is com-
pounded 8 monthly, is:

¥ 5500 = ufe W A% 15% =+l X ¥ 2 =1 4 9
=Ihel5 SIS HI hiToIU, STel 7S hi 7O Y 8 HEM
IRlG SR T = <1l & |

(A)T1.850 (B) T 1,880
(C)T1,773.75 (D) ¥ 1,820.50

A certain sum amounts to ¥ 15,500 in 2 years
at 12% p.a. simple interest. The same sum will

1
amount to what in 1 5 years at 10% p.a., ifthe

interest is compounded half yearly (nearest to
T1)?

no T

=g T T 12% SN Tem o &1 5 R 2 99 |
T 15,500 T1 9w ¥ | AT ST =i O STt RS

. . 1 .
STIER T T =41 E, T |3 I 10% FfHeE 51 T 15 =Y
H i g smwft (31 % Fmemm am o) 7

(A) 15,125 (B) T 14,470
(C) T 14,360 (D) T 13,460

Surckha borrowed a sum of money and relurned il in

Lwo equal annual installments of ¥ 5,547 cach. If Lhe

1,
rate of interest was 7 E% p.a. compounded yearly,

then the total interest paid by her was :
@, X I TER Ot § o 36 W T5,547 A A
T A Rl A e € | S A A R

= Lac) 1 I =
STIYR 9T ! WGl &, A A &2 75% I &, q S

B M 51 T e = T E e |
(A)T1,144 (B)T1,134
(C)T1,09 (D)T1,126

A cerlainswm islenl al 4% p.a. for 3 vears, 8% p.a. for
Lhe next 4 years and 12% p.a. beyond 7 years. If [or a
period of 11 vears, Lhe simple inleresl oblained is T
27,600, Lhen Lhe sum is (in 3)

whIE TAieer iy, 3 a9 & for 4% =fies ey w, o7t 4 =
% faw 8% =nftis X W SR 7 3 % A58 12% =i W W
SYR S Sl % | 918 11 99 o1 2=ty #, g | =0, 3
27,600 %, 1 ufyr (T #) wra kifaw )

(A) 27,000 (B) 25,000

(C) 30,000 (D) 32,000

Solution

L D)
2, ©
3. (A)
1. (D)
5. (B)
6. (B

I=6525 - 4500 = 2025

4500 x3x R

2025 = 700

R = 9%
6

Sl=—-P
2

R = 20%

g = IRT
~ 100

_ 6P Px20xT
e 100
T =6 years

]
T
A P[ 100}

21952 [ r }
=1+

13625 | 100
%, R
25 100

’%
R= —x100
S 25
R=12%
2 yr effective rate for 10% =21%
2 yreffective rarte for 12% =25.44%
1050

= x 2544 =1272
21 >

P[2><6+3><10+12><2]
100

=12771

12771
= =100 =
P 56 19350

P=20000
R=15%

lst year — 3000
2nd year — 3000
3rd year — 3000

450

450 450

2
Total Interest for 25 year

= 3000 + 3450 + 2645 = 9095

67.5
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7.

(A)

(A)

(D)

Let
Barrowed Money =P
Installment = 5808

Px—-3808 | — =5808

110 110
100 100

HP —-5808=5280
10

HP:llOSS
10

P=10080

Interest = 3808 = 2 - 10080
=11616- 10080

Interest = 1536

13650 - 10500 = 100

3150=105x2xR
R=15%

10500(1+ 7—5]
100

10500 x 107.5 y 107.5
100 100

=12134.406

P =3 5500

R=15%

T=2year

CI=?

10%] 10%| 10%
8m | 8m | 8m

108« 11°
1000 : 1331
1000 — 3500
1—=55
Cl=1331x53
= 1820.50

10500 % 2x R

10. (B)

11. (B)

12. ©

po 15500
To124

x 100 = 12500

T =3 years
R = 5%
EfR=15.7025

125 x15.7025
100

= 1970.3723 + 12500
= 14470.3125
1 3 43

7%= — ==
277740 40

43 x40 — 43 x 43 = 1720 —1849 =129

1600 - 1849 = 1600 — 1849 =249
129 + 249 = 378

1849 — 5547

1—-3

378 — 3 x 378 = 1134

x4 x3 x 8 x4 x12 x4
p +p +P

100 100 100

P _
+32+ 48] =
Tog [12+ 32+ 48] =27600

92 P = 27600
100

P = 30000

= 27600
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A sum of T 8400 amounts to T 11,046 at 8.75% p.a.
simple inleresl in cerlain Lime. Whal is Lhe simple in-
Leresl on Lhe sum of T 9600 al the same rale for Lhe
same time ?

8.75% wfa = =% weme ==e R T 8,400 % gty v it
T H 311,046 21 T ¥ | 56 o o it wH e H T
9600 Ft T T ML Tt 727 & 7

(A)T2,99 (B)T 3,012

(O)T2,686 (D)33,024

What will be the compound interest on a sum of ¥
31,250 for 2 years al 12% p.a. I the inleresl is com-
pounded § monthly ?

¥ 31,250 = et T 12% Wi # e S 2 6t F fon
=eRlg, =TT 7 B, =S &9l Rl § 71 & SR R FEifam
fopar s % 2

(A)T 8,106 (B)Z 8,116

)YT8,016 (D)X 8,156

A sum of 5,000 is divided inlo lwo parls such Lhal

1
the simple interest on the first part for 45 years at
2, . , .
6 E% p-a.is double the simple interest on the second

3
parl [or 2IyUars al 4% p.a. Whal is lhe difference

belween Lhe Lwo parls ?

5,000 ¥ T S 9 H 59 TR et e o e

fir e T R 6%% ot o & 4%ercff%ﬁi‘wz

. - i B
YR =4, O W 4% ufaad w 216rﬂﬁ ED

T Trermor =TT | A SRS | S A o T afa R 2
(A)T 680 (B)T 600

()T 560 (D)X 620

Asum of T18,0001s lent at 10% p.a., compound inter-
esl, compounded annually. Whal is the difference
belween the compound inlerest for 3rd year and 41h
yeatr?

T 18,000 =1 ufer =1 10% =it =Shegia =< & A F=/
R Tamr | T iR i 9 % whig =S % s
s
(A)T220.60
(©)T221.80

(B)T 217.80
(D) T 215.40

5.

A sum lent oul al simple inleresl amounls Lo T 6076 in
1 year and T 7504 in 4 years. The sum and the rate of
inleresl pa. are respeclively :

HIER =71 R &1 775 Ui Gk od § T 6076 R4 A H T
7504 €1 S € | Hf SiR ufa = e e weE:
(A)T 5,600 and/ #R9%

(B) 5,600 and/ 3R 8.5%

(C) T 5,400 and/ iR 9%

(D) T 3,400 and/ 2T 10%

Whal is the compound inlerest onasum of 7200 [or

2 , .
23years at 20% p.a. interest compounded yearly

(nearestto an integer}?
A AT T AFHING TR F T T R W ar 20% i

a2 A -
T4 T 253&?51’@?7200@@“@@13%

& ? (| w quis a9 )

(A)T4,290 (B)T 3,960

(O)34,205 (D) 33,997

A loan has Lo be relurned in lwo equal vearly
inslalmenls cach of T44,100. If the rale ol inleresl is
5% p.a., compounded annually, then Lhe Lolal inler-
esl paid is :

Tl = =1 T 44,100 FF & AR Wi fee # A
F1 & | AfE AT =9 A Tyl s = # W 5% afaas g ar

(A)T5,840 (B)Z 6,000
(C) % 6,200 (D) Z 6,280

A sum amounts to T14,395 at 9.25% p.a, simple inter-
est in 3.4 years. What will be the simple interest on
the same sum at8.6% p.a. in 4.5 years ?

TF ST 5.4 99 K 9.25% TR A o e e W T
14,395.20 %1 ST € | SE AT B.6% T o H WH 4.5

9T o HIERT s s TR 2 7
{AYT3,715.20 (B)T 3,627
(O T3,797.76 (D)T 3,672

A person invesled one-fourth of the sum of 25,00 al
a certain rate of simple interest and the restat 4% p.a.
higher rate. If the total interest received for 2 yearsis <
4,125, what is the rate at which the second sum was
invested ?
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Tk = T 25,000 1 T F Th-=A1918 qF w1 FATER 9 _
Tt T o i 3 T 4% W IS A 15% H i g o W E 22 il A
e TR e o € 1 wAf 2 A o fery et T 4,125 = TRt T 4205.55 71 < & | goreH, Fe=fataa 9 & fran
A A ©, o e <kt T T T ok s o ot 2 oy
(A)9.5% (B)9.25% (A)Z3,200 (B)T 3,500
(©5.25% (D)7.5% ()T 2,700 (D) T 3,000
10. A cerlainloan was relurned in lwo equal hall vearly
TP v T v alo 1 TP Ty 4
inslalments cach o[ 6,760. Il Lhe rale of inlereslwas [ 19 A qum of 10,500 amounts 1o % 13,825 in 3= years al
8% p.a., compounded yearly. How much was Uhe in- 5
terest paid on the loan ? a certain rate per cent per anmum simple interest. What
TN F FE AeET AT 6,760 Fl T THRAAH STIANTH will be the simple interest on the same sum for 5 years
fomed & citerd s # | afe nfi e & el e T 8% atdouble the earlierrate ?
fa T st ?ﬁwmm#mﬁww’m‘m T10,500 =t T Afa =1 Temor = i R M T W
_ ? 4 . . .
T 3= ot H I T 13,825 B I € 1741 TS = O o
(A)YZ 750 (B) T 810 5
(O)T 790 (D)T770 AT R e =g a == i % 5 At o fau wranm e
) T B ?
11, A certain sum amount toT 4205.55at153% p.a.in 23 (A)Z8,470 (B)I 8,750
C)T8,670 D) T 8,560
years, interest compounded yearly. The sumis: © (D)X85
Solution
L (D Time - 2646x100 126 3. (B) LetpartsareA&B
- (D) Time = o 8400 35 7" ATQ,
. 126 8.75 AXEX%=2><BX4XE
Required SI = 9600 x X 5 3 4
35 100
e A Ll
=J 3024 = B 14
12 3
2. (B) Rate for 8 month = 12~ 8 = 8% Required difference = 55 ~ 5000 =% 600
Time = 3 4, (B) Rateof 37 yrC.l = 33.1%-21%=12.1%
C1.%=25.07% Rate of 4 yr C.I. = 46.41%-33%
= 13.31%
P _i = 18000 x 100 =¥ 217.8
Second method : 8% = o5 3 yrs.
B — 3
2 B 6076 — 7504
31250 55 =¥2500 7504 - 6076
Slfor lyr = —————
9 3
2500 x —— =200 1428
25 = —5 = 476
2 P+ 476 = 6076
200 x 25 =16 i P = 5600
Clfor3yr=2500x3+200x3+ 16 =1 _ 476 o o
=?8116 R— mXIOO—S.S 3]
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& O 1 i X (x+4)
1195 = | 6250 % ——+ (1875 2
1440 1440 1440 | 2 = 4125 = {629( “Too T 70 5
288 3168x20 |5 Cew
Too = x= 5.25 % -
= (X +—]-)% =925%
2880 + 288 829.44
= 3168 + - 40 2
10. ©) R=4% » -
Total CI = 3168 + 829.44
= 3997.44 25 26 %26
o 1 257 26
7. (C) %= 55
650 676
20 x 21 21 x 21 625 676
20° 21* 1275 1252
420 441
400 441 8700
820 882
11. (D) Through option
44100 3000 15%
= Taa7 *62=06200 450 430 5 430
x -
100 + 49.95 : SacUk O
8 (A) 1439520=p (7100 ) b7 %
= 238.05
14395.20 Tolal CI =1205.35
=P= 595 *100 A = 4205.55
Now, Principal =4205.55 -1205.35
o = 14395.20 <100 < 8.6 x 4.5 = 2,000
149.95 x 100 ST 100
2.0 R
_ 3325 100x5 1
9. (B 25000 ST 8§
X _ 2
6250 18750 5 g 2R =167
l’ l’ 10500 x1x3
x% (x+4)% Sl=————
= 8750
a HEAD OFFICE : 201, Himmat Nagar, Gopalpura Mode, Tonk Road, Jaipur-302018
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If the amount on a certain principal in 3 years
at 12% rate of interest compounded annually
is ¥ 12,000, what will be the amount (in Rs)
after the 4% year?

a7 T TETem W 3 Ut 2 R 12% 5 it s
=re1 T 12,000 %, il =id = o o7g Ui (5. 9) #1807 ?
(A) 14330 (B) 15440

(C) 13440 (D) 14550

The amount {in Rs] received at 10% per an-
num compound interest after 3 yrs is Rs
1,19,790. What was the principal?

10% Aiaed =0t =l 5T | 3 79 2 oA, 70 wwats
= 1,19,790 % T\ 5o (5. 9) @ 401 ?

(A) 90000 (B) 1,00,000

(C) 80000 (D) 75000

In how many months will ¥ 8,000 yield ¥ 2,648
as compound interest at 20% per annum com-
pounded semi-annually?

e et/ € 8,000 W w @ 20% F R W T 2,648
st <l e 7. i 2

(A) 18 (B) 24

(C) 12 (D) 30

What is the rate of interest (in %) if simple in-
terest earned on a certain sum for the 3rd vear
is ¥ 2,000 and compound interest earned in 2
vears is ¥ 4,1607?

=T T (Yo H) TR FE R i v W fw
T H T 2,000 FUET = it 2 9uf 915 wwats s
T 4,160 frean € 2

(A) 8 (B) 10

(C) 12 (D)6

Ifin 3 years at simple interest the principal increases
by 15%. Whal will be the approximale compound in-
Lerest carned (in Rs lakhs) on Rs 151akhs in 3 vears al
the same rate?

YR =AM W 390 H A 15% 9g ST § | 3 W W
15 A FIE R 3 A% 918 A fRa =i = (ae
T H ) firer 2

(A)7.81 (B)2.87

(C)236 (D) 3.38

If the amounl received al the end of 2nd and 3rd yvear
al compound Inleresl on a cerlain Principal is Rs
9,600 and Rs 10,272 respectively, what is the rate of
interest {in %)?

10.

11.

e FRelt Jerem TR T iR e o 7 frem e fraem,
THAE T § 9,600 T $1X 10,272 T4 § 9 @ & T

(% ) AT ?
(A)7 (B)S
©6 (D)3

A vesled an amounl of x rupees in a bank [or 2
years which gave 3% inlereslin year Tand 6% inler-
eslin year 2. The amounl received aller 2 yoars is Ry
24,486, Whal is the value of x?

AT UE A H x T iy o e 2 =99 % faa e
TH A AHI TR o1 H 5% IR G I T 6% Hl WA =
feam i 2 =t g A 124,486 . el | x A =T ?
(A) 23000 (B) 22500

(C) 22000 (D) 21500

What is the difference (in Rs) in Compound interest
earned in 1 year on a sum of Rs 10,000 at 40% per
annum compounded quarterly and annually?

T 10,000 %. TR 40% == 520 1 T F 1 7 7 et
AR T =T = fHerd & 1 37 3 A F ol
(% #) 8m?

(A) 461 (B) 346

()63 (D)o

If compound interest received on a certain
amount in the 3rd year is T 12,100, what will
be the compound interest {(in Rs) for the 4th
yvear on the same amount if rate of interest is
Pa?

=t et Tty o e o # fiyer oo =55fE =13 12,100
%, <t ==t ufe v =i od F faem aren wwafs = (FrEr
) o 2 =i =Aare gL 9% € 7

{A) 17080 (B) 15669

(C) 13189 (D) 14376

The amount received at 10% per annum com-
pound interest after 3 yrs is ¥ 10,648. What was
the principal {in Rs)?

=M 10% % HanG o6 & 5§ 3 Tt 75 e oren
Trga T 10,648 911 97 (F71 A ) T o ?

(A) 8000 (B) 9000

(C) 8500 (D) 7500

In how many years will ¥ 25,000 yield T 8,275
as compound interest at 10% per annum com-
pounded annually?

foramt = a8 10% =fties =sRegig = = .14 T 25,000
™ &,275 %, == faerm ?

(A) 2 (B) 4

(€3 (D)5
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12,

13.

14.

15.

16.

17.

What is the rate of interest if simple interest
earned on a certain sum for the 3rd vear is ¥
1,730 and compound interest earned for 2
yearsis T 3622.5?

T T A B A TR af W A 9d # erfem
|EE = 1,750 3R 2 o % fau wsegls == T
3622.5%?

(A) 8 (B)9

(C) 10 (D)7

In how many years will Rs 2,000 yield Rs 662
as compound interest at 10% per annum com-
pounded annually?

HET RGO 28 g0 10% o o =i wrars
=S i gL H 2,000 %. | o =i | 662 w9 fAe ?
(A) 3 (B) 2

(C) 4 (D)5

What is the compound interest earned on Rs
80,000 at 40% per annum in 1 year compounded
quarterly?

et smam R 1 = H At A 40% FRH 80,000 T

R TSI Tehg g =S 9 B
(A) 28317 (B) 37128
(C) 18732 (D) 21387

An investor invested his saving in the stock
market. The value of his investments in-
creased by 12% and 9% in the first year and
the second yvear respectively. If the value of his
investments after two vears became Rs 97,664
then how much had he invested (in Rs)?

U s = 3 IR H ST == =6 e foran | =5
e F e H e TR AN 129 SR g I/ 9%
Hi5 T3 | =fs € W % W SHH Y 5 ge 97,664 %,
T T, i 3E TR e (5 H) T en?

(A) 81000 (B) 75000

(C) 80000 (D) 72000

What is the rate of interest (in %) if simple in-
terest earned on a certain sum for the 3 years
is Rs 6,000 and compound interest earned for
2 years is Rs 4,160?

=1 & (Y% H) 70 %, 9t w fafiea ufn w3 3 & fog
stfsta AERY =T 6,000 %. 31 2 9t % oy s1feia =ty
=T 4,160 %. § 2

(A) 9 (B) 8

(C) 12 (D)6

In 2 vears at simple interest the principal in-
creases by 8%. What will be the compound in-
terest earned (in Rs) on Rs 10 lakhs in 2 years
at the same rate?

18,

19,

20.

21.

22,

2 AT H FTHRT A AL 8% g W1 | 10 T Tl
TIH W 2 A9 % foaw =srglg =t (T |) = gm ?
(A) 86000 (B) 81600
(C) 90000 (D) 94000

If the compound interest for the 3rd and 4th
year on a certain principal is ¥ 125 and Rs 135
respectively, what is the rate of interest (in %)?
ot TeTem TR AR TR i o 2R R ey v e
125 %9 3T 135 T | =91 ki RFME (V6 )P

(A)9 (B) 10

)8 (D) 12

A certain bank offers 8% rate of interest on the
1 year and 9% on the 22 year in a certain
fixed deposit scheme. If T 17,658 are received
after investing for 2 years in this scheme, then
what was the amount (in Rs) invested?

wig ok TRt Araf /1 =S T TEe 79 H 8% wi e g
T T T H 9% FI W H T AT | ARG g\ AT H 2
=t % form e #2 WT 17,658 Frem £ ot fram =i g
T (T ) = et 2

(A) 16000 (B) 15000

(C) 15500 (D) 16500

What is the difference (in Rs) in Compound in-
terest earned in 1 yvear on a sum of Rs 25,000

at 20% per annum compounded semi-annually
and annually?

25,000 T 9 1 7% *F TEq0 20% Tt 5T F STEEiE
=Tl ATl S Aok <Ehegi el § siad (o ) #9

g ?
(A) 125 (B) 250
(C) 500 (D) 375

If in 2 years at simple interest the principal
increases by 16%, what will be the compound
interest earned {(in ¥ ) on ¥ 25,000 in 2 years at
the same rate ?

Tfe 2 =9f § MR =9 ® W H AT H 16% Hi gis
gIdt &, a1 =6 e § 2 94l § T 25,000 W Al wwhis
=l (% ° ) FEr ?

(A) 4000 (B)2160

(C) 2000 (D) 4160

If compound interest received on a certain
amount in the 2nd year is ¥ 250. What will be
the compound interest {(in T ) for the 3rd vear
on the same amount at 12% rate of interest ?
Ife g = # w ffv=a vl w wrt wswefs =1 T 250
F 1 A A o Torg =i afi W 12% =e & 8 woheis =
(% ®) FEm?
(A) 250
(C)280

(B) 300
(D) 270
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23. What is the difference (in ¥ ) between the com- | 24. The amount received at 8% per annum com-
pound interests on ¥ 12,500 for 1 year at 8% pound interest after 2 year is ¥ 72,900. What
per annum compounded vearly and half-yearly? was the principal (in3) ?

T 12,500 R 1 % %F 70 8% F1 T W A &I TR 2 T AR 8% WY =HRglg = T W U T 72,900
T A T T A R A 3 A W ST (% H ) ¥ 1 e (B W) e ?
BT ? {(A) 65000 (B) 67500
(A) 16 (B) 25 (C) 60000 (D) 62500
(C) 20 (D) 40
Solution
P 57
+ —
1. (C) 12000 x [ 100] Amount _ {15[“@] _15} _—
R=12%
21 21 21
112 Zog i 2
12000 x = = 13440 = {15 *50% 20 X od 15} lakhs
11 11 11 ?17.36—15]akh5
2. (A) Px X=X =119790 = 2.36 lakh
1610 10 6. {A) Difference between 37 yr & 279 yr Cl = 10272 -
b ¥
P =90000 9600 = 672
20 =Sl of 1 year on 2 year amount
3. &) R=7m-10% aypo B00XRX1
t="? St 1o "
p=38000 7. () Invesled amounl = x
Cl = 2648 I# year Rale =5%
Amount = 2648 + 8000 = 10648 22 yoar rale = 6%
113 Aller 2 yr amounl = 24486
8000 [E] =10648 ' [1+ ] )X[l-ﬁ- 6 J
= 24486 = x x 100 100
[1 1.]1 ( L 1.]3 24486 x 100 <100
== X P
10 10 = =
. 3 ea.rs . X 105 <106 22000
' Y 8. (D) Clanually rale for1yr=40%
3 ‘ 40 ,
Condition Time = 2 year Cl when rate is quarterly = Y =10%
; 0 o Effectively rate for1 yr quartely =46.41%
4. (A) Rateofinterest= So7o> 100 = 8% Difference beteween rate = 46,41 -40=6.41%
5. (O Principallncrease15% T =3 yrs . _10000x6.41x1
Interesl € SI=15% on principal Inlerest amount = 100 =364l
15 xx3xR 9, (C) 3rdYearCl=12100
100 XRE= 100 Rate = 99
R=5% 109
ClL 4th year C1 = 12100 x 100
P =15 lakhs, R=3%,T =3 year = 13189
R 10. (A) Rate = 10%
Interest=P| 1+ ﬁ) -P Time = 3yr
: Amount = 10648
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R
Amount = P(1+ —]

100
Amount
V)
[+ 100)
100
- L‘”{} = 8000
(10
1+ —
_ 100

Principle = 25000

Interest = 8275

Rate = 10%

Amount = 25000+ 8275 = 32275

-
Amount = Principle (1 + —]

100

32275 = 25000 i4~lfljr

B ~ 100
32275 _ ['H‘]“‘
25000 (10
oo~ 15) = (o) ~(io)
1000 \10) —\10) \10
T=3

3rd year 51 = 1750

51 is same for all years

So 2yr 8[ = 1750 = 2 = 3500
2yrCl=3622.50

Ditference between 2 yr CI & SI = 3622.50
-3500=122.50

So diff. of CI & SI for 2 year is the interest
on the SI of Ist year so

122.5
1750

% 100

Rate =

=7

[H)” _ ['2000 +662‘] _ 2662 1331
10 2000 200 1000
Comparing n = 3 years

40
T=1lx4=4years r= T=1O%

11y
CI = 80,000 | 15| —80,000

221x21

= 80,000 x 1o =337128

15. (C)

16.

17.

18,

19,
20.
21.

22,

23.

24.

B)

g8T ¢

(€)

(€)

First Year — 100 112
2nd Year— 100 109
112x109
100 x 100 (initial)
112 x 109 — 97664
10000
100 x 100 — 97664 x 112 <109

=T 80000

3 year SI = 6000

. One vear 31 = 2000
- Two year 8I =T 4000
(Given) Cl = 4160
Difference = ¥ 160

160
Rate = —_——x100 = 8%

2000
In 5.I. 100 — 108 .... in 2 year
P A

Rate = 4% — Z2year's(C.1.=8.16

1000000 2
100

= 81600

10
Rate of interest = 105 x 100 = 8%

12

Total 2 year SI %= 16
lyear 8I1% =8

16.64
200

CI of 2 year = 25000 x

=4160

Jrd CI =250 x 112

3rd yvear ! 100

=280

For annualy 1 year CI % =8
For half yearly 1 year Cl% = 4%
So 2year CI% =8.16

.16
CI -8l =125000 x

100
=20
2 year C1% = 16.64
72900
, Princi = x 100
So, Principal 116 .64
=62500
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Aloan of 8,925 is to be paid back in two equal
half-vearly instalments. How much is each in-
stalment if the interest is compounded half-
yearly at 8% per annum?

T8,925 %1 U <l TAF sTHAHE Fhedl § = S ¥ |
Al =11 SefafieR w9 ¥ 8% i = =i a1 & waitsa e
(A) 34,372 (B)34,732

(C)¥4.654 (D) T4.564

At a certain rate of interest compounded an-

nually, a sum amounts to ¥10,890 in 2 years
and to ¥11.979 in 3 years. The sum is:

i =7 ¥ Thgls = & Uk FAiyEa o W, @ afd 2
T 10,890 3 3 91 | T11,979 21 <t & 10 =

T
(A) 9,000 (B) 8,000
(C) 8,500 (D) 9,500

A sum of money becomes ¥ 3,364 at a rate of
16% compounded annually for 2 years. The sum
of money is:

T YIS T 16% i ATk =3kl o4 &1 W 2 30f §
W fraea T 3,364 % | =% ofy w1 sifew )

(A) 2,500 (B)T1,800

(C) 3,800 (D) 2,200

The difference between the simple interest and
compound interest onn ¥ 1,000 for 1 year at 20%
per annum, compounded half-yearly, is:
1,000 W 1 = % fou A1t 20% = &7 | e = s
IR AH-AF AR R THY(5 T a6 ThghG =N, &
e 1 ST FAME 7

(A T8 (B) 35

([C)R10 (D)12

A sum of T16,875, when invested at r% inter-
est per year compounded annually, amounts to
719,683 after 2 yvears. What is the value of r?
716,875 =i T =i 59 AUF &9 § TR 15 A S A
% o =1 T e B s, < 2 ol Fam ¥ 19,683
THYA 9 g1 % | ¢ B HE S0 iy |

(A) 8 (B)7

(€)6 (D)9

6.

10.

The ditference between the compound inter-
est and the simple interest on a given princi-
palis¥1,725 in 2 years and the rate of interest
in both cases is 25% per annum, and in the
case when interest is compunded, it is com-
pounded annually. Find the principal.

e JA8T T 25% = 7S S H 2 TN A WA ARG
T ST TR e B ooty T1,725 ¥, fred wmats
= % HHE H T Ao Y H Tkl g F | JereE 9|

Hifay |
(A) 25,600 (B) 26,500
(C) 326,400 (D) 327,600

Compute the compound interest on 8,400 for
one and half years at 12% rate of interest per
annum, compounded half yearly.

¥ 8,400 R Affw 129% =9 & A g a9 = oy
TG AT i T A, O T et T 9 =g

Tepn e 81
(A) T3,276.40 (B) T2,948.60
(C) T3401.30 (D) %1,604.50

Find the sum of money which when increased
by 15% becomes 319,320,

TE TAURY T T | 15% g W T19,320 B w6t

2
(4) T16,800 (B) 316,000
(C) T17.000 (D) T17.800

Calculate the difference between the compound
interest and the simple interest on a sum of
5,000 at the rate of 8% for 3 years. (to nearest.)
5,000 i UfF o AU 8% =i ST H 3 A9 6 FHhg(5 =N
ST HIRIRYT 511 35 1= 5 ST okl A1 whifor | (Faheas T)
(A) 3108 (B)T105

(C)T102 (D) ¥99

A loan is to be repaid in two equal vearly
instalments. If the rate of interest is 10% per
annum, compounded annually, and each in-
stalment is .6,897, then find the total interest
charged.

T B0 Rl & FAM St e | e 9§ | =t =
I T 10% T0F €, 9 Tt &9 ¥ =wafs et & &R
e e 6,897 =it §, 1t fomn 9 9 e = 7|

Hifay |
(A) T1,644 (B)¥1,824
(C)3T1,914 (D)%1,734
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11.

12,

13.

14.

15.

16.

The difterence between the compound and the
simple interests for 3 years at the rate of 20%
per annum is I432. What is the principal lent?
et sum <1 71 uff R 20% =nfiw < 9 3 =l % whgfa
SR FEN =T = ST T432 T\ qw ufE 71 i
(A) 3,378 (B)T3,375

(C) 33,385 (D)133.380

What is the difference between the compund

1
interest on 310,000 for 15 vears at 4% per

annum compounded yearly and half - yearly?
1 . . ; .
710,000 | 15 o % fau =i i1 sAef-anfd= R

TR 4% FiT T8 i T W TG TS H S e
%72

(A) T4.80 (B)%5.01

(C) T6.02 (D) 34.08

If a sum on compound interest (compounded
vearly] becomes three times in 4 vears, then
with the same interest rate, the sum will be-
come 81 times in:

g FTE N g Tg oA (THF T9 ¥ THI(E 7 ae)
T 4 Tt H S TS O €, W W A T W 98 U
ToFa= TA o 81 T B S 2

(A) 12 years/ o (B) 18 years/ o

(C) 15 years/ =4 (D) 16 years/ @m

A certain sum is invested at 26% p.a, interest
compounded annually. In how many years
{approx) willit double?

T ffe=a ufin it 26% =t =ifi= = @ R few feen
T, T W T ot w0 A wwats e € Te i

e =t # gt 57 e 2
(A) 4 (B) 3
(C) 2 (D) 5

What will be the present value of 390,774 due 2
yvears hence, when the interest is compounded
at 23% per annum?

Teptt U kT = i 23% U U H 2 9 H W
e 90,774 5 i s =it |

(A) 365,000 (B) 362,950

(C) T60,850 (D) 360,000

What is the compound interest on 10,625 for
2 years at 8% interest per annum, if interest
is compounded annually?

17.

18,

19.

20.

21.

Ife =are fiek &9 W =gl giaT 2, 1 $10,625 W 8%
i A X | 2 7l | 9 Syl s e gom ?

(A) 1,768 (B) 1,698

(C)%1,625 (Dy¥1,528

Vinod had 10,000 with him. He lent a part of it
at 8% per annum simple interest and the re-
maining at 10% per annum. His total annual
income was ¥880. Find the sum lent at 8%.

TR F TR T10,000 9 | T8 TR FD 90 8% i AR
TIER ST & T ST 9T 10% F vt W R SR o |
afe v =i 9 3 =919 % T ° 5 880 U g, a4 8%

T YR € 715 A T Bt |
(A) 5,500 (B) 6,000
(C) ¥5,000 (D) 6,500

A sum of money amounts to ¥4,624 in 2 years
and to 4,913 in 3 years at a certain rate of
interest, when interest is compounded per an-
num. The sum is .

e TS TR ATHE ARG oA e W 2 A9 A wrm
fasem 74,624 i 3 =d # wra e T4,913 %1 9%

T I FH0 |
(A) T4,412 (B) 34,335
(C) 4,260 (D) T4,096

If we want 38,640 three years from now and
the compounded interest rate is 20% p.a how
much should we invest today? (assuming in-
terest is compounded vearly)

AT TH o719 W T 9 915 T8,640 =ed § ot Teg s =
= T 20% =CF €, W oA T R ety w7 e

AT TS 2
(A) T5,000 (B) ¥4,500
(C) 5,500 (D) T6,0003.

A sum of money becomes 32,000 in 3 years and
2,400 in 4 years, at the certain rate of yearly
compound interest in case of annual compound-
ing. Find the yearly rate of compound interest.
AU B9 W ekl 3 31, Afh Sshefs oSt #hi ffvem
R Tk UCH 3 761 A T2,000 3R 4 =797 H 32,400 =
WA ¥ | Skl =ATal i Sftih <X TG kit |

(A) 20% (B) 10%

(C) 15% (D) 25%

On a certain sum, the difference between the
compound interest, compounded annually, and
the simple interest at 10% per annum for 3
vears is ¥93. The sum is:
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22,

23.

24,

25.

T i Tt W 109% =it i =3re1 51 R 3 =i & feu
g FAT &R TR T F A S T93 T 1T

0
(A) 3,500 (B) 3,000
(C)%4,000 (D) 32,500

What will be the present value of T 484 due in 2
years at 10% per annum compound interest?

10% AT =hefs &8s W 2 o9 | §9 T 484 701 WHH 924

FHE0T 7
(A) T600 (B) T 400
(C) T 200 (D) T 800

A person horrowed a sum of 38,000 at an inter-
est rate of 10% p.a., compounded semiannu-
ally. What is the compound interest for a pe-
riod of 1 year?

T A T8,000 &1 U 10%, w1 Afiie =197 a7 T I4R
AT R, S A ST - Y W =y rE |1 o
STITE 1 ARG AT R B 2

(A) T820 (B) ¥1,600

(C)%1,680 (D) T800

A sum of money was invested at 10% interest
per year, compounded half-yearly for 18 months.
If the amount payable on maturity was 383,349,
what was the sum invested?

FiE T 10% vfa b =1re R 3w F m o, o o
FHF T H 18 el 2 foTn Tkats B o 137 g
W %A U T83,349 Hf, o few =i E iy ;a wife )
(A) T80,000 (B) T68000

(C) 75000 (D) 72,000

"The difference between the Cl and the Slon a
sum of money lent for 2 years at 20% interest
per annum is T80, The sum is;"

2 =1 & ferm 20% %t == S0 A B Wl TS fRdt eeta
T TRITG o (Cl) ST wem =1 (SI) % 9 = ST
T80 ¥ | 9% T I T |

(A) 1,200 (B) ¥2,000

(C) 1,500 (D) ¥1,000

Ramesh bought a house for ¥2,00,000. At the
end of the first year, he sold it at a loss of 10%
on his investment. He invested the money thus
obtained at a rate of 20% p.a. interest com-
pounded aunually for 2 years. The value of this
investment would amount to

27.

28.

29,

30.

W9 T2,00,000 F Tk = EIE | 95 99 5 31 H 36
T8 3T e W 10% =1 1 W 99 fo21 | 599 59 7R
HTE & & 20% JMHE = T 2 91 & fau =megle == =

e fom | 5 e o1 e il
(A) ¥2,59,200 (B) ¥2,52,300
(C) T2,56,900 (D) 22,54,600

Find the compound interest on ¥1,60,000 at 10%
per annum for 2 years if the interest is com-
pounded half-yearly.

Tfe ==t s1efentiah &9 & =kl fear e 7, 41 31,60,000
™ 10% =i & & 4 2 91 & {9y =skgls = 9@

ol
(A) T32,282 (B) ¥34,481
(C) ¥33,458 (D) ¥35,550

Sundar lends a sum of ¥6,000 to Mahesh at an
interest rate of 10% p.a., compounded annu-
ally. What will be the amount at the end of 2
years?

He, 7Y R 10% &1 Afiek =511 W R T6,000 i iy
YN 1 8, o W = A s e § Shgfg s g 1 2 a9

3 i & = e Fhadl 41 st 2
(A) 7,160 (B) 7,250
(C) T7,200 (D) Z7,260

Find the compound interest on ¥35,000 in 2
vears at 6% per annum, the interest being com-
pounded half-yearly (nearest to a3):

i =TT A5 U & & Fifei 3= 7 @1 &, 91 335,000
w1 ¥ W 6% it ASEH T W 2 59 1 kg4 N T/
wifera | (T 5 Fapaad )

(A) 4,000 (B) ¥4,193

(C) 34,393 (D)%4,388

On a sum of money, when invested for 2 years,
compound interest and simple interest are
¥300 and I250, respectively. For both simple
and compound interests the rate ofinterest per
annum is the same, and for compound inter-
est, interest is compounded annually. Find the
rate of interest per annum.

T ST W, v 2 97 o fory Fer feen e 7, @ wwefs
=T ST AHRY =AW HwHE: 300 3R T250 § | meRm
=Tk (5 =41 o foTU, =arsT Aftioh &9 & Faifera gia1 g | =it

=TT X 14 whifeTd |
(A) 10% (B) 20%
(C) 40% (D) 30%
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31. A man borrows a sum of ¥1,025 and pays back | 33. A sum of 5,000 was deposited for 3 years at
in two equal yearly instalments. If the rate of 10% per annum, compounded annually. The
interest is 3% p.a, compounded yearly, then how difference between the interest for 2 years and
much is each instalments? that for 3 yvears is:

TF =R 1,025 39 o &, Tt e 2 wHE aii 75,000 =1 T 10% =t T+ =909 o W 3 991 % e
el # forar =11 ¥ | =i SHYL 5% =hl =16k &1 § =T ST kI TS §, =ATS 1T 9 | Tkl Tl § | 2 76 3R 3
oo <t €, S it w0 =gt e €, @ v e Tt 3 = = ST e e 2
i i = et (4) T560
(A) T425.25 (B) T525.32 (B) T506
(C)¥451.32 (D)¥551.25 (€) 3650

.. (D) T60OS

32. A sum of money is invested at a rate of com- ) .
pounded interest that is paid out yearly. In the 34. A sum of314,375, when invested at r% inter-
first two years, the interest was ¥ 400 and ¥420 est per year compounded annually, amounts to
respectively. The sum is: 16,767 after two years. What is the value of 1?
T TR R A T e = ot R e 314,375 =i 1w, w19 A STUR W =kglsd r% =4
ififas = & Fore ST 3| et & =t §, =1 400 SR R A F I 2, T A W o AR TL6,767 T T
T420 A T E ? T 71 /T 1A shifer |
(A) T 7,500 (B) 9,530 (A)9 (B)6
(C) T8,000 (D) T 8,765 ()7 (D)8

Solution
1. (B) Insterest compund half yearly at 8% P.a.
effective Rate: 4% and time = 2 yrs. 4. (C) SI= w= <200
25 26 SI for half yearly
25 26
= 1000 x [10 +10+ 10 x IOJO/O =7210
625 676 — Installment difference =¥ 10
Y 5. (A) ATQ, )
;O
8925 19683 = 16875 [1+—]
Installment = ———-=- X676 =¥ 4732 100,
1275
! r 27
=1+ =—
. - = 10% 100 25
2. (A) Rate= T -0 x 100 = 10%
Let sum amount = X N r _ 2
effective Rate of 24 yrs = 21% 100 25
121 =1r=8%
XX —— = 10890 6. (D) Effective Rate of Cl = 56.25%
100 eff. Rate of SI = 50%
x =90 x 100 =¥ 9,000 1795
3. {(A) effective rate of 16% for 2 yrs compound = =100 = 27600
34.56% 6.25
Let sum of money = P 7. (D) R—6%T - 3yr
134.56 19.1016
X = 3364 kit
100 eff. Rate — 100 T1.604.50
3364 100 =% 2500 115
= x = —_— -
[34.56 8. (4) xx oo =19320
x= 16800
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10.

11.

12,

13.

14.

15.

(D)

(B)

(B)

(D)

o)

(B)

(D)

effective rate for simple interest
= 8x3=24%
eff. rate for CI — 25.9712%

d_'iﬂ‘—) 1.971200
5000 x — 2 98.560 =399
4 = -
100 )
Rate = 10%
11 =10 : 11x11
100 121
210 242
interest = 242 - 210 = 32
6897
Total interest = x 32=31,824
121
Given,
Rate = 20%

3 vears S = 20 x 3 = 60%
SvearsCl = 72.8%
- Difference = 72.8 - 60

= 12.8% =432

2
x 100 =33375

=128

1
P=10,000R=4%T= 15 VIS,
When compounded half-yearly eff. Rate =
2% T =3 yrs.
Difference Rate : (6.1208 - 6.08)
=0.0408%

0.0408

Difference = 10,000 x =4.08

dyrs. 3
— S

P, (3)
81

Ihyrs

1
1 44
1

16 yrs
ATQ,

o[

() -2 -(8) -
o0, < “i{50) ~“°

+£%i]P—QP
100,

T =3 yrs
R=23%
100 123
100 123

760000 <5 1000 151295 F90774

16. (A)

17. (B)

18. (D)

19. (A)

20. (A)

P=10625 Rs.R=8% T=2yr

10625 x T =850 x 2 = 1700
850 x -~ =68 1=68
Total CI = 1700 + 68 = ¥ 1768
S1% = 220 4 100 = 8.8%
°” 1000 e
8% 10%
/
8.8%
1.9 08
3 2

5 unit — 10000 Rs
3 unit — 6000 Rs
2 unit — 4000 Rs

o
iy
- 1 1 1 ]. +
Amount = Priniciple [ 100 ]

e
P[1+166] =4913 ()

r 2
P(1+I66] = 4624

-- eq (i) & (ii)

r 4913
1+ —— =
100 4624

r 289

100 4624

r= » 100

T 16
- le Lo
Ir= 40

AT 64
16 16

P=3 4096

1
Given, rate =20% = 5

« &~ 8640
5

T
r

- = Prineci 1+ —

. Amount = Principle ( 10 O)

ATQ,

r Y
P[l‘*‘ ﬁ] = 2400 ...(i)
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21. (B)

22,

(B)

23.

(a)

24. (C)

25. (B)

26. (A)

100
eq. (1) & (i)
ro 2400 T

L+ 100~ 2000
r=20%

v
p[1+— = 2000

100

= =

.. (i)

20

Effective rate of C.1 of 10% for 3 yrs=33.1%

S51=30%
3.1% — 93

93
100% — 31 x 100 =33000
3

R = 10%, T=2 yrs.
Present Due.
100 :

121 — 484
1—4

100 — 4 x 100 =T 4000
Rate = 10%
Semianually = 5%, 2yrs

121

8000 10.25 4 x 205
* *
100
=3I 820
R = 10% Pen annum
= 5% halfyearly
time = 18 month
= 18 x 2 = 36 month
= 3 yr compunded half yearly
1
o - 30
P: A
20 21
20 21
20 : 21
8000 : 9261
Principal e 8000 ="72000R
= Y =
rincip 926 1 2 5.
for two vear
CI-51-= P(—R T
LR (4 ]¢]
80 = P(IQT
- TL100
_ B0x100x100 _
= T 20x20 2 S
P =%2,00,000 x 90%
R=20% T = 2yrs.
Effective Rate = 44%
Am t=2,00,000 x 20 144
ount = 2,45 100 100

=32,59,200

27. (B)

28. (D)

29. (C)

30. (C)

31. (D)

32. (C)

33. (D)

34. (D)

P=1,60,000

R=10%

T = 2yrs.

Compound half yearly.

R=5% T=4

Effective rate = 21.550625
21.550625

CI = 160000 x ~1oo 34481

R=10% T=2yrs.
C.I effective rate = 21%

6000 x CLI 1260

100 '
Amount = 6000 + 1260
=37.,260
R=6%
T=2%
When compounded half yearly -
R =3% T=4YI'S
Effective Rate = 12.5508%
Cl=35000 = 12.5508% =34393
S[ =250
Cl= 300
T=2yrs
Slfor 1 yrs =125

Rate = x 100 = 40%

125

5% — %

21
x21

20
x21
400 441
420 441
820 882
820 — 1025

5
890 441 =3 551.25

Installment =

420-400

s = O, =
200 100 = 3% = Rate

400
Then x 100 =3 8000

5

5000 12.1 =3 605
100

eff. Rate of 10% for 3yr=33.1%
eff. Rate of 10% for 2yr=21%
diff. = 12.1%

2392 16.64 - Rate = 8%
14375 = 00T Rate=ove
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SSC CHSL-2020

Krishan invested asum of ¥ 25.000 in two parts.
He earned 11% p.a. simple interest on part 1
and 10% p.a. compound interest compounded
annually on part 2. If the total interest received
by him after 2 vears is ¥ 5,370, then find the
sum invested on simple interest.

Fom = T 25000 F Ui F T awi # afie e sw
TEE AT TR 1 1%, AT HIER s41sT el 7R gEt an )
A &1 H ohele o A 10% wehets = e 1 =fg
2 a9 9% $9% GRI A el =4 T 5370 7, a1 |rHEn

w7l o e ofe g =4
(A) T 12,000 (B) T 12,500
(C) T 13,000 (D) T 11,000

What will be the compound interest (in T on a
sum of T7,200 for 18 months at a rate of 20%
per annum, if the interest is compounded half-
yearly (Dearest to an integer)?

AT T =l T STGA kG 7§ (YOI 2 e )
=T T, W T 7,200 F AW W 20% FATE T 18
g % fou =sRgls == (I 9) o faea grm

(A) 2.833 (B) 2,383

(C) 3.238 (D) 2,338

The simple interest on a sum of ¥ 8,000 at a
certain rate per cent per annum for 3 years is
¥ 3.600. What will be the amount (in ¥) of the
same sum after 2 years at the same rate, if
the interest is compounded 8-monthly?

T8, 000w UM Mumk fEa affmam st ma3ad o
I FTHR == 3 3,600 7 | =i s =5t 1o wfa 8-91
TG AR T AT S F, 9 36T ie v S e 4 2

9 % a7 T ematy (T H) T e 2
(A) 10,580 (B) 10,450
(C) 10,648 (D) 11,239

A sum of money lent at simple interest amounts
to ¥ 9,920 after 2 vears and to ¥ 12,800 after 5
years. Find the rate of interest per annum.
TR TS T & TR T Ay 2 79 % 918 9,920 9
5 =% % arg T 12,800 2 Sl & | fier ware o8 916 |
(A) 12% (B)6.57%

(C) 18% (D) 9.68%

The 12% interest earned on a sum of money of
7 2,60.000 is to be used for awarding 24 schol-
arships of equal value every vear in a school.
What is the value (in ¥) of each scholarship?

¥ 2,60,000 = y i o AfHa 129% =are &1 A,
A H LT FHM o 1 24 TEI wh TEgE IS w0 h
foru foren ST % | Wi et w e (3T ) fram g ?
{A) 1,250 (B) 1,300

(C) 1,150 (D) 1,200

If the simple interest on a certain sum of
money borrowed for 4 years at 9.5% per annum
exceeds the simple interest on the same sum
for 3 years at 12.5% per annum by ¥ 225, then
the sum borrowed is:

9.5%, & S+ =151 & W, 4 T4 o fau sor & 75 Fdi
Ffy=a afy o2 mewo s/, 12.5% i =1 o1 5L,
3 o o foru 3o =i 1S THE OfE W Ry = 9 ¥ 225
AferR ¥, Tl SUR @ 18 iy 7 e |

(A) ¥ 42,000 (B) 48,000

(C) T 35,000 (D) ¥ 45,000

In what time will a sum of ¥ 1,25,000 amount
to ¥ 1,48,877 at 12% per annum, if interest is
being compounded halfyearly?

12% =ifi= &= L E T 1,25,000 =i Uiy o awi |6 3
1,48,877 71 =G, Al =<1 STg A €9 € =Shgls
ST 7 2

(A) 3 years (B) 1 year
1 1
(C) 15 year (D) 25 years

The simple interest on a certain sum of money
for 5 years at the rate of 10% per annum is half
the compound interest on T 5,000 for 2 years at
the rate of 10% per anmum, interest com-
pounded yearly. The sum placed on simple in-
terest is:

T T o ™ 10% =i =ra = ¥ 5 99
TR =, T 5,000 W 10% T o1t F1 52 | A
T Y AFIG T T 2 T F TS T T ST

T #7 TR S M U oo, B
(A) T 1,540 (B)T 1,050
(C) T 1,450 (D) T 1,500

The compound interest on a certain sum of
money for 3 years, compounded annually, at a
rate of interest of 10% per annum is I 1,324
The sum is:

TS =] T AT TR g, ST9R R ¥4 g, PRt e
[ R 10% TNHE = L H 3 T 1 g5 o 3
1,324 e | iy Fm =itom |

(A) T 4,000 (B) ¥ 5,000

(C) ¥ 5,500 (D) T 4,500
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10.

11.

12.

13.

14.

A sum lent at simple interest amounts to T
6,240.80 in one vear and to ¥ 7,563.20 in 4
years. The sum (in ¥) and the rate of interest
per annum, respectively, are:

IR TS 9 T B0 AT 1 A+ T6,240.80 7o 4 o7
# ¥ 7,563.20 g wdr ¥ | e w9 gatg (T H) AR

B SIS it e
(A) 5,800, 8.5% (B) 6,200.8.5%
(C) 6,200.7 6% (D) 5,800, 7.6%

Find the compound interest (in ¥) on a sum of 3
7,200 for 4 vears of the rate of interest is 20%
per annum for the first two years and 10% per
annum for the next two years. The interest is
compounded annually.)

37,500 i g0fE W 4 = H e Fhgfs = (T H) IW
W, Afe worm < A % A =T ¥ 20% =fte® § 3R T
Tt % o7 o 7T 10% SR © | (FATS o A

kel SMYR W gt § )
(A) 6,558 (B) 5,658
(C) 5,586 (D) 5,568

The simple interest on a sum of ¥ 12,000 at
the end of 5 years is ¥ 6,000. What would have
been the compound interest on the same sum
at the same rate for 3 years when compounded
annually?

T 12,000 =t 470 R 5 99 F o0 § WURT w4 T
6,000 g E | 34 ¥=uE e 3 ouf § 99 519 At 'y
W RIS T AN R G SATS TR ST 2

(A)T 3,972 (B)T3,970

(C) T 2,520 (D) ¥3.600

In how much time will a sum of ¥ 5,000 in-
vested at the rate of 15% simple interest per
annum amount to T 6,5007

T5,000 =i AT 15% St JIERe =4re € W 69 =i
S % | = Aty e gua § 36,500 7 = ?

(A) 1 year (B) 2 years

(C) 2.5 years (D) 1.5 years

A certain sum of money amounts to I 9,766 in
3 yvears at simple interest at R% per annum

1
and to ¥ 10,849 in 45 years at the same rate
of simple interest. The value of R is:

TS YU R% T MENm oo 1 G W3 99 H 19,766

i mw e m | R
= Sl g 3R SH HYRm e sl W 499 5 10,849

2
T A B 1 R HH 0
(A)9.5 (B) 8.5
(C) 9 (D) 8

15.

16.

17.

18.

19.

The difference between the simple interest on
a fixed amount for 7 vears and on the same
amount for 12 years is ¥ 2,500. If the rate of
interest is 10% p.a., then the amount is;

T fAfv=a T ™ 7 af % o e st ofr w12 @i %

—~

Tern Temm It = S 2,500 ¥ 1 A A R T 10%
aifean &, 1 39 qfer sl 7o ifee ?

(A) T 6,000 (B) ¥4.500

(C)T 5,500 (D)% 5,000

The simple interest on a certain sum for 3
yvears at 12% pa is ¥ 6,750. What is the com-
pound interest (in ¥) on the same sum for 2
years at 20% p.a., if interest is compounded half-
yvearly? (rounded off to the nearest I)

T Tfomm oy W, 12% =iF =39 W 3 99
T =57 o1 Ui3 $6,750 ¥ | 286! 990 W 20%, =1feh
= SR 2 AN 5k Skl = i are (T ) et g,

Ife =aTe STga® ©9 § Fkals fFa1 s e ? (Feean T

7 Ot )
(A) 8,000 (B) 8,702
(C) 6,750 (D) 7,729

The compound interest (in ¥, to the nearest in-
teger) on ¥ 8,950 for 2 years at the rate of 9%
per annum, compounded annually is:

8,950 % TR R 2 79 F Y 9% Wi F Tww §
TRATG = (T H e ot ) T g, ovR T

i T ® 7O TR R 7
(4) 1,523 (B) 1,683
(C) 1,685 (D) 1,468

Anamika paid ¥ 4,965 as compound interest on
a loan of ¥ 15,000 after 3 years when com-
pounded annually. Suman took a loan of I
10,000 at the same rate on simple interest. How
much interest did Suman pay after 3 years?

ST A T15,000 F 70 W AT T W THEILG 6
A ARG AR T, 3 T ARG THAG A F TTH
34,965 = FTamA far | g9 7 36 30 H T10,000 %=
YR = R o) 3 =1 9w, gua w fea =S @

I 4T BT 2
(A)Z 3,000 (B) ¥ 3,500
(C) T 4,500 (D) T 4,000

A man invests an amount of ¥ 1,05,750 at
simple interest in the name of his son, daugh-
ter and his wite in such a way that they get the
same interest after 3, 4 and 5 years, respec-
tively. If the rate of interest is 5% per annuim,
then the amount invested for the wife is:
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20.

21.

22,

23.

TIE AR ST e, W S ST vt T AW T 1,058,750
! Tfer ArEm = W s yeR e ww g fw ==
FHTL: 3, 4 3T S AY F1E FHM S4TS W Bl € | Jie =7 6
5% = €, dt ot 3 form i 6 T ot s 1)

(A) T 25,000 (B) ¥ 28,000

(C)Z 27,000 (D) T 30,000

A man invested T 2,400 at 3% and ¥ 5,400 at
9% simple interest. What amount (in ¥) will he
get from his investments after 6 yvears?

T STEHT J TR =19 # 5% W R T 2,400 R 9%
W T 5,400 fem F) 6 o 91 =% o w9 feed

gfir (3 ) v gt ?
(A) 11,436 (B) 31,200
(C) 45,600 (D) 83,136

What is the compound interest (in ) on a sum

2
of ¥ 46,000 for 23 vears at 15% per annum,

interest being compounded annually (nearest
to a3

TS i A AU =hRgleg SR W g6, 15% =fis

~ [ =y 2 © o -
=re &1 X ° T46,000 = A W QEaﬂﬁmaﬂﬂﬁz

=S (T H) T8 w1 (Frem T
(A) 18,458 (B) 19,458
(C) 19,485 (D)18,485

What is the simple interest on a sum of ¥

1
99,000 at 125% per annum for a period of 9

months?

[ - 1 - - e
799,000 =i afy W IQE‘VOGTFWWEIHCJWTH

IR0 =H41sT Teha1 2111 7
(A)Z 8,281.25 (B)¥9,282.25
(€)%7.281.25 (D) 9,281.25

A sum of money amounts to T 28,224 in 2 years
and to ¥ 29,635.20 in 3 years when invested on
compound interest. compounded annually. What
is the sum of money?

A F IO AMUE TFEILG STYR T OF GO, 99 Fe
YT wRgls = W AT %1 it g, 9 =g ufe 2 e d
T ¥28,224 &7 3 7 H ¥29,635.20 T 9wt & | q0th

e
(A) T 26,880 (B) ¥ 25,600
(C) % 26,000 (D) T 26,095

24, A sum of ¥ 2,432 amounts to T 2,681.28 in 2

25.

26.

27.

yvears at a certain rate per cent per annum,
interest compounded yearly. What will be the

3
simple interest (in 3) on the same sum for 4§

vears at double the rate?
TS ] T T A oTTHR W g, PR fAfrem
i WWI2, 432wl T2 99 4 32,681.28 @1 =M £

- N 3 .
HAM =T T % S AT &) W, I U W 45 o9 o

YT TR S (T H) T

(A) 1,276.80 (B) 1.368

(C) 1,094.40 (D) 1,064

A sum of ¥ 4,000 amounts to T 5,008 in three
vears at simple interest at the rate of x% per
annum. If the interest rate becomes (x + 2.6)%,
then the revised maturity amount will be:

X% STt HTEROT S0 1 5T T4,000 * wier = o6 §
¥5,008 1 3T § | 9% =08 & (X+2.6)% B S, o St
T 7 A

(A)T 5,320 (B)¥ 5,330

(C) ¥ 5,420 (D) T 5,200

If the simple interest for 9 years be equal to
45% of the principal, then the rate of interest
per anmum is equal to:

At 9 T WU A, A F 45% F IR §, q

it AT G 1T o |
(A) 6% (B) 8%
(C) 5% (D) 9%

A man invested a total of ¥ 12,050 in two parts.
one at 10% p.a. simple interest for 2 vears and
the other at the same rate at compound inter-
est, interest being compounded annually, for
the same time. The amounts he received from
both the parts are equal. The sum (in I in-
vested at the compound interest is.

g oTEHT, T T12,050 FF U F T 9§ AW
AT €, T8O HN oh1 MY o5 O Hid 99 10% i e d
2 T F T iR TE T = i ' 9 wRghs T 9
SIS 1 T &L 4 9HM 999 o foqu Fefye e g =9
T T e et oF Ui wER ¥ | Aty e ™
freifer afer (T ) 7/ =)
{A) 5,850

(C) 5,780

{B) 6,000
(D) 5,800
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1 30. A mobile phone is available for ¥ 79,860 by cash
28. A sum of ¥ x amountsto ¥ 8563.50 in 3 5 years payment or by paying cash of T 60,000 as down
and to ¥ 10,527 in 7 years at y% p.a. simple payment and t.he remaining amount in three
interest. The value of x and v, respectively, are; equal @nud instalments. If the shopkeeper
charges interest at the rate of 10% per annum
v % TR T I W R, T x AU 3 1 o compounded annually, then the amount of each
' 2 installment (in %) will be:
78,563.50 siK7 o8 # 10,527 BIOW &, T x ANy F T Hramger B T 79,860 F A A WA TEA THe
A R §- % ¥4 H T 60,000 =1 Tohg YTAM FLH S AT & U3 5T
1 T At R H e = RS ¥ | AR geR
(A) 6800 or 8 (B) 700D or 8 . e o g
2 10% =i Fehgls =1s1 i &2 9 =47 a2, 51 =t w4
1 T R B, T e R 5 i (TH) Pt w2
({C)6600 01 8 (D) 6600 or 8 5 (A) 6,789 (B) 7.986
(C) 6,000 (D) 6,689
29. The simple interest on a certain sum for 35 31. In how many vears, will T 5450 amount to
years at the rate of 10% per anmum is T 2,940. 18175, if invested at simple interest at the rate
What will be the compound interest {in ¥) on of 12.5% per annum?
) 5,450 =i ufw, foFa = # 8,17 5 BN, A 7% T
the same sum for 15 vears at the same rate 12.5%, =1fi= SIERY =957 %1 & W (Fefem 2 g 2
when interest is compounded half-yearly (Dear- (A) 6 (B) 3
est to a rupee)? (€) 5 (D)4
. A1 - 9 32. In how many vears, the compound interest, if
TR 10% it 71 = W, Jﬁaﬂﬁ e TP compounded annually on a sum of T 60,000 at
TTE T S 22,040 & | TS i o w4 oA rate@fs% per annum is 79,9847
. et =t o, w1t w1 9 9#gfag g9 9t T60,000 &t
TShRglG ATIR W I S, [ T9H =9 & W 15613’ " LRI TR 8% TR ST T W, #1919 4 39,084 WH
5 . . - } - AU,
HAT A T W =G =T (3 ) 0 R (FE o Teneas Sk
) (A)3 (B) 4
(A) 1,564 (B) 1,125 (€2 (D)1
({C) 1,470 (D) 1.324
Solution
5 2. (B) Amount= 7200
xx11x2 1y 1
1.(A)  5370= ——_——— +(25000-%) || 1 20
100 R =20% — halfyearly - —~ = 10%
- < B T = 18 months — 18 x 2 = 36 months = 3 yr.
5370 = o5 X+ (25000 %) - :
110y
_ 22 C.1.=7200 [—j —1}
5370 = lOOx+250><21— 1OOX 100
-1 331
5370 = 100x+250x21 = 7200 x Tooo
X
= 72x331
5370 = 1o+ 5250 - 7;‘)” - 2383.2
x= 12000
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8000x3xR

3. (C) 3600= 00

120

15
= R ? = 159, RN E ® 8 =10%, (8 month]

i ]

1
1000 10648

4. (A) 8.1 of 3 years = 12800 -9920
= 2880
S.1. of 1 year = 960
= P=(9920-2 x 960) = 8000

960 %100
T 8000

= Amount = 8000 x

= =12%

12
5.(B) 260000 x 100 = 26000 + 5200

31200

31200
24

Each scholarship =3 1300

6. (D) 8B.I1. %=9.5% x 4=38%
= S.[,%=12.5%x3=37.5%
D% = 225
2250

1% = 5 - 450

2250
100% = 5 = 45000

P = 345000

= 12%
125000
148877

7. (C)

R
P
A

Half yearly

12

= _go
R 5 6%

T 2t

g 6 2t
1+ —
148877 125000[. 100]

148877 ['106 T‘
125000 100

148877 (5_3)2
125000 50

1
t = 15 years

2
10 10
- 5000x|1+——| — 5000

_, X _ 5000 21
2 2 100
=x=31050
9.(A) C.I.= 1324
R=10%

1324-—P5§i£
1000
P = 4000
10.(D) 3 year S.I. = 7563.20 - 6240.80
=1320.4
1322.4
1l year S.I. = =440.8
P=6240.8 - 440.8 = 5800
_ 440.8x100 _
5800 % 1 e

11. (D) Principle = 7500

120 120 110 110
= 7300 x X

x

100 © 100 100 ~ 100

11 11

IS g ==

10 10
= 3x36x121
= 13068

C.I. = 13068-7500
= 5568

12000 x5 xR
100
R = 10%

(1+£)2 -1
C.1.= 12000 100

12000 x

12. (4) 6000 =

1000
12 x 331 = 3972
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_ 5000x15xt 20.(A) He gets after 6 months
13.(B) 1500 = —— - 2400 x5x6 5400x9 X6
= + + 2400 + 5400
=t =2 years 100 100
y = 12 x 60 + 2916 + 7800
]. =
14.(A) S.I. for 15 year = 10849 - 9766 ¥11436
15 Y 15 Vs
1— = 1083 > _
g Ve ° 21.(D) CI = 46000 x [_”ﬁ] [ +100_] 1
S.1. for 3 year = 2166
P = 9766 -2166 = 7600 = 64485.1 - 46000
2166 = 7600 xR x3 =%18485
- 100
1 9
R = 77262 . 22.(D) P=99000,R=12 5 %, T = 15 years
99000 x 25 x 9
15.(D) 5 x 10% = 50% —» 2500 il & TR
(D) — T00x2x1o  ~39281.25
= 100% = 35000
- 2
16. (B) 36% — 6750 B R
100% — 18750 23.(B) 28224 = P[_H 100
at half -vearly
R=10%, t = 4 years R Y
296352 =P/ 1+ _—
- 1+ — | -
Cl=18750 100 a R 296352
= 8702 100 28224
R=5%
17.(B) Eff. rate of 9% = 18.81%
1881 28224 28224 x 400
Cl = 8950 z - 441
10000 p= (1+ 5 =2 25600
= 1683.49 100
R Y 1065 24. (D) for two years
18.(3) [H 100] = 15000
' _ 2681.28-2432 . .
R 1331 B 2432 =10.25%
= 1+ — =, J——
100 1000 R=5%
= R=10% Now,
Now, o o 248235110 106400 |
S = 10,000 x 3 x 10 — 3000 e 100 % 8 100
" 100
19.(C) S x 15%= D x 20% = W x 25% 25.(4) 1008 = 1200xxx3
1008
i ' L M i — X= = 8.400
15 20 25 40 x3
1 1 1 R=84+26=11%
3 4 ' s 4000x11x3
2?’0 : 145 : 152 revised amount = # + 4000
_ 12 = 1320 + 4000 =¥ 5320
Amount of wife = a7 x 105750 =% 27000
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O9xxXr _xx45
100 100

r=5%

27.(B) xx121% =y x 120%

X 120
= vy T 12
12050
T 121+120

26. (C)

X x 120 = 6000

7
7 - 5] — 10527-8563.50

7
5 — 1963.50

x =8563.50 - 1963.50 = 6600
_ 1963.50x100x2

6600 x7

=

= 8.5%

xx10x7
2100

2940 x 20
7

29, (D) 2940 =
=7 8400

=X

3
At half yearly — R=5%, t = 5 % 2 = 3 years

5 3
_ 1+—| -1
CI = 8400 H 100] }

= 8400[0.157625]

=% 1324
30.(B) (79860 -60000) = 19860
Rate = 10%
10 11x 121
100 121x 11
1000 1331
(1210 + 1100 + 1000) - 1331 = 3
— 3310 — 19860
= 1 - 6
. 1331 x6=%7986
31.(D) SI=8175-5450 = 2725
;o 2725%100 _ 100
T 5450x12.5 25 YOS
32.(C) P=%60,000, R = 8%,
Time = ? C.1. = 9984
[l+i]T -1
60000 ™ =9984
(108]’T 11664 [108)’2
— 100/ T 10000 ~ \100

= T =2 years
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SSC CHSL-2019

The difference of simple interest on a sum of

money for 8 vears and 10 years is ¥ 200. [f the

rate of interest is 10% p.a, then what is the

sum of money ?

T YT T § THf 1T 10 THT = TR A T T

200 % | ST IR 10%AMGE &, 71 Jeres A g ?
(17 March 2020 (ShiftI)

(A) ¥ 1,000 (B)Z 1,400

(C) % 1,600 (D)Z 1, 200

Lata deposited an amount of 335,000 in a bank

with simple interest 11% per annum. How

much interest will she earn after one year ?

T TR AF A T 35,000 A 11% FF AH TERT

SIS G T STHI 1 | Uk 99 o 918 39 ToRa+1 ==reT THeim 7
{17 March 2020 (ShiftII))

(A) 33,370 (B)33,500

(C) 33,220 (D) ¥3,850

Ram deposited an amount of ¥ 8,000 in a bank's

savings account with interest 6.5% com-

pounded monthly. What amount will he get at

the end of 18 months ?

T A W Ak H T 8,000 =i UL == @ | ST T fe18 9

T 6.5% Tl T AT T BIAT €, TS =AY 0 AR G

TR T E 199 TR % ST H I PR 1w e ?
{17 March 2020 (ShiftIII)

(A)T8816.97 (B) T 8788.98

(C) T 8790.54 (D) T B907.56

A man has ¥ 10,000, He lent a part of it at 15%
simple interest and the remaining at 10%
simple interest. The total interest he received
after 5 vears amounted to ¥ 6,500. The differ-
ence between the parts of the amounts he lent
is : (18 March 2020 (Shift-1)
T 7t % a8 T 10,000 § | S99 39 OF feem 15%
AR <A W ST 3 10% TR S5 W IR = S
=l % 9% 39 =T F T H T 6,500 7 WIH g5 | S5k 0
IER & 715 i % 9 st g ?

(A) 2,000 (B) T2,500

(C)¥ 1,500 (Dy¥ 1,750

I[f the present amount is 87,750 with 8% rate
of interest in four years, then what was the
principal amount ?

Ate 8% N Fi T WAR 9 # 3w i T 87,750 7
T E, S T AT FE | (18 March 2020 (ShiftII)
(A) T 78,456.34 (B)¥66,477.2

(C) T56,896.98 (D) ¥69,345.6

6.

A person borrows ¥ 7,000 for 3 years at 5% p.a.
simple interest. He immediately lends it to

another person at 6%"0 p-a for 3 years. Find
his gain in the transaction per vear.

Tk =5 5% ST AR <41 51 R 3 741 = T T 7000
1 %Sl o1 8 | 9% qHa 39 U 3 ol o fag ww g

wﬁaaﬁeéomﬁmmamwﬁm%nwaﬂ—éﬁ

H 3% ufa = g = e T
{18 March 2020 (Shift-III))
(AT 90 (B)¥93.33
(CyT a2 (D)¥95.33
In a certain time, a sum of money becomes
five times itself if the rate of the interest is
16% p.a. Then the certain time (in years) is:
T THTyem = |, =g ety = = o A el Wl
=i =181 & 16% B 41 = i w9 (omf #) 3 i)
{19 March 2020 [Shiftl))
(A) 32 (B) 38
(C) 25 (D) 30
Suresh lent out a sum of money to Rakesh for
5 years at simple interest. At the end of 5 years,

Rakesh paid % of the sum of Suresh to clear
out the amount. Find the rate of simple inter-
est per annum. {19 March 2020 (Shift-II))
YL A TR H R =N R 5 A6 5 e 3w 9 3R
fo st o o T g A R g
R Tear | anfifer wreRo =t 1 51 7@ 1 |
(A) 3% p.a./=nfiw (B) 2% p.a. /At
(C) 3.5% p.a. /== (D) 2.5% p.a. /=l
The difference between the compound inter-
est on a sum of T 8,000 for 1 year at the rate of
10% per annum, interest compounded yearly
and half yearly is ;
TS O S SR STEATGE a5 SR T F
ZU T 8,000 i AR W 10% == =4 i a0 9 199 &
ThAfE TSl % == T A A |
{19 March 2020 {Shift-III))
(B)T40
(D) 10

(A) % 20
(C) %30
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10.

11.

12.

13.

14.

In how many vears shall T 3,500 invesled al Lhe rale

ol 10% simple inlerest per annum, amount Lo T 4500 ?

10% =i |remm = =t <2 9, foFae of # T3,500 =t

yUfe T 4500 1 AW 7 (12 October 2020 (Shift )
5] 3

(A) 2? years (B) 2? years

(O ’Jﬁ — D 2i TOATS
2o years (D) 7 years

In how many years will the simple interest on a sum

2,
of money be equal to the principle at rate of 121%
pa.?

Tk TS Rl ATHR AT, '12%% =1ftiah = 9¢ Toper =l

T T F IUE B W ? (12 October 2020 (Shift-IT)
(A) 7 years/ =9 (B) 5 years/
(C) 8 years/ = (D) 6 years/ a4
A person deposils T 8,000 in a bank which pavs 8%
p-a. simple inleresl. The amounl aller 8 vears will be:
g =t et = # T 8,000 < =, W =i 8%
IR ST %1 T ] § | § 79 g faged g

{12 October 2020 (ShiftIII)
(A)T 12,600 (B)T 10,784
(O)T13,120 (D)T12,545
312,000 1s borrowed on simple interest, after 4 months
T 6,000 more is borrowed and rate of simple interest
on total amount borrowed is doubled the previous
rate. If at the end of the year a total of 2,800 s paid as
simple interest. Then, (ind rale of inleresl in sLarling?
T 12,000 =t 7T FERT S0, T R TS & W SO A
T | SR e % 9%, 30 T 6,000 3T W T ot g
T | 1A %6 370 H, =46 ok w9 H w0 < 2,800 A
T, AR W E TR A oL A O 7

(13 October 2020 (Shift-I)
(A)14% (B)16%
(O12% (D) 10%
T 4,000 is given al 3% per annum [or one year and
interest is compounded hall yearly. T 2000 is given al
40% per annum compounded quarlerly for 1 vear.
The Llolal inlerest received is nearesl Lo
T 4,000 1 T 5% =Nftier =4 52 7 W 91 = ford < T
2 3R =T i AT BAIET SRl TR W T S F |
T TR T 2000 7 TRT 40% AHF S0 5 W TF A R
Torm et ¥ o = = T S wiE ¥ SR W
i AT E | e W AT S L SR
{13 October 2020 (Shift-II))

(B)¥1,888.80
(D)T1,323.30

(A)T1,444.40
(C)T1,130.70

15.

16.

17.

18.

The compound interest and the amount obtained, on

a certain sum of money are ¥ 820 and T 8,820 respec-

tively after 2 years, If the rate of interest compounded

yeatly, then the rate of interest is :

2 W AE, TF Mie=a A R THahs = S a1,

H: T 820 i T 8,820 ¥ 1 = =0t = o =fiw w7 4
(13 October 2020 (ShiftIIl))

(A)8% Bye%

(C)5% (D)7%

The compound interest on T 4,000 at the rate of 5%

p.a.is T 630.50, then the time period is :

AT 5% A T T 4,000 T =t 7= T 630.50 7, @

T STAMY I T FL | (14 October 2020 (ShiftI))

r 1 )
(A)2years/ a9 (B) 3 5 years fA-1

. 1 .
()3 years/ =9 (D) 1 7 years/ =9

A man Lakes a loan of some amounl al some rale of
simple inleresl. Afler Lhree years, Lhe loan amount is
doubled and rale of interest is decreased by 2% . Aller
5 years, il the lolal inlerest paid on Lthe whole is
13,600. Which is equal Lo the same when Lhe firsl
amount was taken for 1 l% years, then the loan taken
inilially is : -

T S HIYN 4157 i (6] o0 T Uk [Hiyem eeai
O % TR ol © | A9 o A, O R A SRt
ST 2% FHE G S | 5 T % 915, At 93wty
= fa=n T Fa = T 13,600 %, S 29 vgel e %

S, S0 1 ol e 3 o

i e e e s = Wt 9 i
{14 October 2020 (Shift-II))
(A) T 13,600 (B)Z 12,500

(C)YT 10,000 (D)T 12,000

2.
Find the simple inlerest on T 74,000 al 18—% per an-
I

num for a period of § months ?

L} A 2.3; 4
8 HrE =i ety % fog l8;foﬁrrfﬁmmatﬁ?74,000

7 T A A6 FL | (14 October 2020 (Shift-II))
(A)%9,486.32 (B) T 8,956.74
(C)T8,458.96 (D) Z9,208.88
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19.

20.

21,

22,

23.

The compound inlerest on 4,000 aller 3 year is
630.50. Then Lhe rale of inlerest compounded vearly
is {15 October 2020 [ShiftI))
T 4,000 1 =skgls =, T4 =6 % 918 T 630,50 71 =
¥, 9 =fits = A Twafs o T enit 2

(AY7% (BY>%

() 8% (D) 6%
In how many vears and months will a sum of T 24
becomes TH6 al16% simple inleresl per annum ?
fopert =il ST 9 H, 16% it e = 1 R E 3
24 Tt TE T ATHL T 56 T WA ?

{15 October 2020 (ShiftI))

(A) 7 years 8 months/7 o 8 TEN

(B)8 years 4 months/& a% 4 9g=

(C)6 years 11 months /6 3% 11 AEM

(D) 6 yeats 3 months /6 & 5 A&

In how many years willa sum of I 5,000 yield a simple
interest of T 2,000 at an interest rate of 10% p.a.?

T 5,000 F e = /s a9 7 10% F AT = 5 R
e s € 2,000 71 = ?

{15 October 2020 (Shift-III))
(B) 3 years/ =
(D) 6 years / o4

(A)5 years/ =
(C) 4 years/ o4

A person invesled a Lolal of ¥ 9,000 in three parls al
3%, 4% and 6% per annum on simple interest. At the
end of a year, he received equal interest in all the three
cases, The amount invested at 6% is:

T = A Fe e 9,000 F T 1 9 A 3%,
4% ST 6% iR ArEmer sarst 9 5 | 99 % ofd ), 34
T & =A% T H AT T T 5T | DA 6% ATHE

=1t W TRt e s e e e ?

{16 October 2020 (Shift-I)
(A)T 2,000 (B) % 3,000
(CYT 4,000 (DY 5,000

Inhow may years will a sum of T 320 amounl Lo T405

il inlerestis compounded al 12.5% per annwm ?

T 320 =t iy Tt emfa # wgw T 405 B S, Aty

TS & 9T 12.5% =T Tohals =0 SR WA Sl 2 7
(16 October 2020 (Shift-II)}

(A) 2 years/ =d (B) 1 year/ =

1 . 1 -
(C) 25 )xeal‘s/ =g (D) 1Eyears/ =Y

24,

25.

26.

27.

28.

29.

At which rate of simple interest does an amount be-
come doublein 12 years ?

FE T WA TS A R W 12 I B O
T 2 (16 October 2020 (Shift-III))

4 1 L,
T="% A y8=% —%
M5B @8% Q8% (D)3

A person borrowed 1,200 at 8% p.a. and ¥ 1,800 at
10% p.a. as simple interest for the same period. He
had to pay ¥ 1,380 in all as interest. Find the time
period.
TF e A §% TR FERW T A 52 ) 1,200 720
M At T 10% T SeRT = w o T/ T
1,800 1 7 01 TR A F ¥ H A T 1,380 ®
T AT | BT i e S

{19 October 2020 (Shift-I)
(B) 10 yoars /=
(D)5 yoars /=t

(A)4 years/T8
(C)6 yoars /T8

The sum of simple interest on a sum at 8% p.a. for 4
yeatrs and 8 years is T 960. The sumis :
orett Tt TR 8% i g & 4 ol 7o 8 o H wr wemm
A 3 T 960 T 1 T A T

(19 October 2020 (Shift-II})
(A)T 1000 (B)T 900
(O 1100 (D)YT 800
A manlook a loan [rom a bank al Lhe rale of 11% p.a.
simple inleresl. Aller three years hehad Lo pay 9,570
inlerest only for Lhe period. The principal amount
borrowed by him was :
Tk ARH a9 9 11% afti=H TR0 =409 &l < 7 B0
ot < =t =g, 39 heel 39 sty & o s e o
9,570 M 7S | 39 §R1 0T B H o T8 He g

14 RITeTd | {19 October 2020 (ShiftII)
(AT 27,680 (B)YT 26,545
(C) T 25,000 (D) T 29,000

Ifthe difference between the compound interest and
simple interest on a certain sum of money for three
yeatrs at 10% p.a. is T 358, then the sum is

=t ot ffeam sm-afr oz 10% ot o =t o o o
TG T AT TR A & W 372 T 558 ¥, a -

Tfer @ | {20 October 2020 {Shift-I)
(A)T 18,500 (B) T 18,000
(C)Z 16,000 (D) 13,000

There is a 60% increase in an amounl in 3 years al
simple interest. Whal will be the compound inlerest
on ¥ 6,250 for Lwo years al Lhe same rale of inleresl,
when the inlerestis compounded yearly ?
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TR =419 R 5 91 | FEt iy § 60% =it afs gt 21| 32,  Ifthe total simple interest ona sum 31,400 for 4 years
et T RS A H T 6,250 FUF AN W AHEILE A at rate of interest x% p.a. and on the same sum for two
.. . L - rears at the same rate, is ¥ 672, then the value of xis :
ForerT T, 1T T S AT e E 2 yoarsatty ‘ ’ r
=, = 20 Ootober 2020 (Shiftdl TG x % AU =A7e &L W T 1,400 Tl T T 4 579 =1 [
f ooer (Shife-11) T ST B TR TR Tt S S o & W s A
(A)TL,590 (B)T 1,560 Te2E TR -
(©)%1,500 (D) 1,480 H XA E -
30. Al simple inlerest Gaurav borrows T 1,500 [rom o (a1 f:cmber 2020 (Shyft1L)
Sandeep al Lhe rale of 14% per annum. Whal amounl (A) > 10 (B)_ °
ol money should Gaurav pay Lo Sandeep aller 1 year Q) 6% (DY10%
Lo clear L_h“ ‘}f‘bl? R 3 33. If the compound interest on a certain sum of
I 14 % St < H HIRT s WEET H T 1,500 SR money for 2 years at 5% p.a. is T328, then the
W 11 A 978, 0 R o1 TRE g Hem R R sum is equal to :
YR A gt ? {20 October 2020 (ShiftIIT)) T T M= oty W T 5% W 2 99 % fau wwgts
(AYT 1,700 (B)T 1,710 ware T 328 &, A1 oAU 9@ Fe—
(O)T1,705 (D)y¥1,715 {26 October 2020 (Shift-1))
31.  Asum ol money amounts Lo T 7,500 in 3 years, and Lo Ejé]] §= :;3),,?)(())(()) {?))] zg’ggg
8,300 in 7 years al simple inlerest al the same rale of ’ ’
interest. The rale ol interesl per annuwn s 34. The difference between the compound inter-
IR =751 W SR 5474 1 HHM & R U A 5 an | est and the simple interest on a sum of 8,000
37,500 AR 7 =l H T 8,500 F Iell & | ST ol <o o & for 2 years at the rate of 5% p.a., is: ‘
(21 October 2020 (SHifti) [ T 8000 T 5% Ft T T 2 WA F TFAMEG A SN
(A)12% (B)9% TN AT A ST B {26 October 2020 (Shift-II)}
(C)8% (D) 10% (A)T10 (B)T30 (C)T40 (D)T20
32,  Asum atsimple interest becomes two linesin 8 years | 35. What sum of money at compound interest will
at a certain rate of interest p.a. The time in which the amount to ¥4,630.08 in three years if the rate
same sum will be 4 times at the same rate of interest at of interest is 4% for the first year, 5% for the
single interest is : second year and 6% for the third year ?
2 TR e s it P e o e w s ad A TR T T AT T4,630.08 B9t ¥ 9o e T
TP B S © | et T, WA = S e o 7 T A T A S R 4%, 5% TM6% T A T
TR o H 4 A B SNEN 2 (21 October 2020 (Shift-II)) e 8 F {26 October 2020 (Shift-III))
(A) 30 years/ =t (B) 25 years/ =t (A) T 4,500 (B) Y 4,800
(C) 24 yoars/ =4 (D) 20 years/ =t (€) 34,000 (D)% 3,500
Solution
1 A) Princio P 200x100 % 1000 8000 (1 +0.0975 + 0.00399|
» [A) Prineipal = —75— = 8000 (1.10149) = 8816.97
35000 x11x1
= OMMMV AR 10,000 x5 xR
2. [D] Interest = 100 =7 3,850 4, (A] ATQ = 6500
3. [(A)re<<l 100
Binomial theorem R=13%
n—-1 15%  10%
(l+1‘]">1+nr+n( g ]r2 .......... >3%
: 15
8000 x [ 1+ 75] N,
T 12x100 ——
8000 x 1+@x£+18><17><[ 6.5 j , 1
12 100 2 12 %100 Difference = g x 10,000 = 2000
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5. (B) ATQ
Px4x8
+ —
100

192P _ 87750
100

P=66477.2
7000 x19x13 7O0OX3x5

= 87750

6. (B) Profit= 300 - 100
=1330-1050=280

280
Per year = T= 93.33

7. Q) 1 t, 16/055

SI=4
_ 16 x1xt
100

t=25

9

P
8. (D) Sl=gp-p=g

P Px5xR

8 100
R=2.5%

9. (A) interest vearly
P=8000,R=10%,T=1year

10

= 8000 x — = .
1 100 800 Rs
Interest Half Yearly
P=8000, R=5%, T =2 year

5
8000x — = =
100 400 x 2 =800

5 20
400X —=20x1= ——
100 820

Diff = 820 - 800 = 20
1000 x 100 20 6

. 1 = = — = 2—
10.(C) Time 3200 x 10 - - years
100
11.(C) Time = 50 = 8 years
4
164
12.(C) Amount = 8000 x 100 - <13,120

13.(D) Let Rate = R%

So,

12000 xR x4 18000x2R x8 2800
100x12 100x12

= 40R + 240R = 2800

=R=10%

14. (Q)

15. (Q)

16. (C)

17. (Q)

18. (D)
19. (B)
20. (B)

5'.'_.' X 5'.",'
R, _ 5.5, 0%
2 2 100
= 5.0625%

4000 x 5.0625

So Interest = 100 =7 202.50
R ;=46.41%

41
So Interest = 2000x =T 828.20

So, Total Interest = 928.20 + 202.50

= $1130.70
= 1+ ——

8820 = 8000 [ 100}

21 R
= 20 100
= R=5%

. 630.50
RCI.I.//() = m =100

= 15.7625%

R ,for 5% Rate is for 3 years
So T = 3 years

Let Principal = P

Rate = R%
ATQ

PR x 34
3x100
=PR=1,20,000 ... (i)
And

PRX3 2P(R-2)x5

100 100

1,20,000x 3 N 2 x l,Q0,000XS_ 20P

100 100 100
=13,600

P

- 5

= P=

= 13,600

=13,600

= 2000
7 10,000

6
=T 020.88

8
Int t=74000 x - x
nteres 12" 300

_ 630.5
T 4000
= 15.7625%
So Rate/annum = 5%
PxRxT

100

Y% R % 100

=51
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S.1.=56-24=232
24x16xT
100

_100 .1
T 12 T3

= 8 vears 4 months

2000 x100

500x10
A) Let the three parts of investment are P, P
p | ]

and P,

3P 4P, 6P,
100 100 100
3P =4P,=6P,
P:P,: P,
4 :3:2
The amount invested at 6% is

=32

21. (C) Time =
22.

= 4 years

= {a+8+2) 9000

=3 2000

1+ 12.5']“'

405 = 320 x [ 100

(3]
(3)-463
31-G)

T=2
Let the principal is 100
ATQ
100x12x R
100
R=8)%
25. (D) Let time = T years
1200><8><T+ 1800 x10xT
100 100
1380
276

23. (A)

24. (C)

=100

= = 1380

=>T= = 5 years

26. (A) ATQ,

Px12x8 .
00

= P=31000

27.(D) ATQ,
Px11x3

100

P=2900
(B] T=3years
R=10%
CI-3I=2558
33.1% -30% =558
3.1% — 558
1% — 180
100% — 18000
R=12%

6250 <12

- ————= =750
100 5

CI = 750 + 750 + 750 x

1500 + 90 = 1590 100

PxTxR
1500 x 14 %1

=100 -

= 1500+ 210=1710
31.(D) 2 year interest = 8500 - 7500 = 1000
1 year interest = 500
5 year interest = 2500
P =7500-2500= 5000
_ 900 x100

5000 x 1

_PXBXR
" T 100 N s

=0570

28.

29, (A)

30. (B)

=10%

32.(C) P
Now,

3P 100
T: e —

leOO

= 24 vears
8

1400x4xx+1400x2xx_

100 100
14 x6x=672
x=8%

5 2
33. (D) 328= p““ﬁj —1}

32.(B) 672

1025
328=P = P=3200

10000

34.0) D= P| X 2 —sooo(i\]‘
+(D) D= (_100 - 100

10000

= 8000 x

=320

104 105 106
x X

. Px—x—x——
85.(C) 100 100 100

=4630.08
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SSC CHSL-2018

The simple interest on a certain sum for 35

years at 10% per annum is T 2,940. What will
be the compound interest on the same sum for

1
2; years at the same rate when interest is

compounded yearly (nearest to arupee) ?
: 1
Tt AErem W 10% vio o wr e @ 35 U T TR

) 1 [
= T 2,940 § | SE HEed WS A T H 2E Erikeni

(T H A=) ? 2 July, 2019 (Shift : 1)
(A) 2,272 (B) 72,227
(C) % 2,327 (D) T 2,372

A sum of T 7,500 amounts to ¥ 8,748 after 2
vears at a certain compound interest rate per
annum. What will be the simple interest on the

same sum for 4% yvears at double the earlier
interest rate ?

¥ 7,500 % vfo w Hivam e argfg @mm w2 a9
s ggA T 8,748 B I E | IS Wt S & F QAT

R y -
Wy 43 o % fau ==t gfe 9 anemo === == 5 2

2 July, 2019 (Shift : 1)
(A) T4,140 (B) 5,520
(C)¥ 8,180 (D) 2,670

What is the compound interest on a sum of I
1
4,096 at 15% p.a. for 25 vears, if the interest

is compounded 10-monthly ?

. 1
15% vft ad Tt 5T 2

5 79 F T T 4,006 FI T

TS T B, T A 10 W ' W ST

TATE ? 2 July, 2019 (Shift : 1T}
(A) T 1,726 (B)T 1,736
(C) T 1,636 (D)T 1,763

A sum of ¥ 10000 amounts to ¥ 11664 in 2 years,
at a certain rate percent per annum, when the
interest is compounded vearly. What will be the

2
simple interest on the same sum for 5g years

at the same rate ?

T 10000 = Tt farett Ffr=m = =t o= warad 5

U2 a4 ¥ 11664 3 <N 3 1S5 RIG TH 5%
O H MU FNEM? 3 July, 2019 (Shift : 1)
(A) T 4320 (B) T 4160
(C) T3840 (D) T4040

A certain sum amounts to ¥ 29282 in 4 years
at 10% per annum, when the interest is com-
pounded annually. What is the simple interest
on the same sum for the same time at the same

rate ?
S =T Aok FeTd g1 2 at 10% afaad wi & 4 =
T =i Tfom afn T 29282 Bt it & 1 5w Tl W, 3+
=151 &% U, S &1 JHE w01 WY S48 a9 © 7

3 July, 2019 (Shift : I)
(A) T 8500 (B) ¥ 8000
(C) T 7600 (D) T 8400
The compound interest on a certain sum for 3

yvears at 15% p.a., interest compound yearly, is
T 4167. What is the simple interest on the same

4
sum in 4E vears at the same rate ?
Tt Ffeem I ™ 15% WiE o =i = T W 3
7% % forg anfii s W gafem Thgls == T 4167 T |

~ - ™ = { oo =
T O W, TH W 43 Y H HIYR S5l 5 BT 7
3 July, 2019 (Shift : II)
(A)T 6144 (B) 6000
(C) T 4800 (D) T5760

The price of an article increases by 20% every
year. If the difference between the prices at
the end of third and fourth years is ¥ 259.20,
then 40% of the price (in T) at the end of sec-

ond year is :

ol T 1 I T A 20% =g A & | 9l dieg S =iey
74 % i # Frmal o T 259,20 ¥, 91 g 94 # oi
H %9d 1 40% (T H) B¢ 3 July, 2019 (Shift : III)
(A) 484 (B) 432

(C)384 (D) 472

A sum invested at 8% p.a. amounts to T 20280

at the end of one year, when the interest is
compounded half yearly. What will be the simple

interest on the same sum for 4% years at

double the earlier rate of interest ?
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10.

11.

STt darfaa 8% ufd 7% wmhglg = & o ¥ e
T TE X W TEF T F ofq F T 20280 1w T | I

— - 3 n
T | S e T W 43 =uf % fau wam =re =

B ? 4 July, 2019 (Shift : I)
(A) T 13500 (B) % 13800
(C) T 14200 (D) T 14500

T 60000 invested at a certain rate for a certain
even number of years, compounded annually,
grows to ¥ 63,654, To how much amount would
it grow if it is invested at the same rate for half

the period ?

T THfyam orafy ¥ fau, it Frmm e F e T
60000 i ufd, fsre saret et gaifed g e, ageht T
63,654 2 S ¥ | Afs 39 @ W, i sty % forg =a
T =i e e < it 9 A fet 51 e 2

4 July, 2019 (Shift : II)
(B)¥61809

(D)T 61827

A certain amount invested at a certain rate,
compounded annually, grows to an amount in
five years, which is afactor of 1.1881 more than
to what it would have grown in three years.
What is the rate percentage ?

= fAfd=m o= B et Hiem anfi —watfs = =
=12 T W € 1 9 oM 5 9 A T iy H e W e, .
sUMA S g e A od | aare, ¥ 1.1881 Afy® g

(A) T61800
(C)T61675

=X wftee smmsd ? 4 July, 2019 (Shift : 1)
(A)9 (B) 8.1
(C) 8 (D) 9.2

A certain amount invested at a certain rate,
compounded annually, grows to an amount in
five years, which is a factor of 1.191016 more
than to what it would have grown in two years.
What is the rate percentage ?

T ffr=a o = faedt Tfvaa aifte =srgfs =9 =
= oo W € 1 e o9 5 9 B T i H wee W §, W
IOT@AA T R 2 AT E, 1.191016 T ¥ |

=X wftee smmsd ? 5 July, 2019(Shift : I)
(A) S (B) 4
(€) 6 (D) 8

12,

13.

14,

15.

16.

The compound interest on a certain sum of

money at 11% for 2 years is T 6963. [ts simple

interest (in ¥) at the same rate and for the same

period is:

TRt er e R 1 1% ™ 2 ot 1 =aie o T6963

¥ | T STary ST T T TR TR SR s (T H) 2
8 July, 2019 [Shift : II)

(A) T 6500 (B) 6600

(C)T6750 (D) T 6000

The compound interest on a certain sum of
money at 21% for 2 years is ¥ 9,282, Its simple
interest (in ¥) at the same rate and for the same

period is :
Tt fafee T 21% 2 991 % U =wafs == 3
9,282 ¥ | TH W ¥ i Ta <t wA ¥ o gEeE weme

= (T H) € 8 July, 2019 (Shift : II)
(A) 8750 (B) 8400
(C) 8000 (D) 8500

The compound interest on a certain sum of
money at 21% for 2 years is ¥ 6961.5. Its simple
interest (in ¥) at the same rate and for the same
period is:

Topert fafeem Tf W 21% @ 2 o ¥ 7 wats ==
T6961.5 % | 39 52 W i s €t W = form g wamm

=t (TH) & 9 July, 2019 (Shift : I)
(A) T6300 (B) T6500
(C) 6000 (D) T6750

The compound interest on a certain sum of
money at 21% for 2 years is ¥ 11,602.5. Its
simple interest (in I) at the same rate and for
the same period is:

Toprt fafeem af W 21% @ 2 o F o w%ats ==
TLL602 | 35 5 T SR T B 77 ¥ o 3R e

= (TH) E: 9 July, 2019 (Shift : II)
(4) 10750 (B) 16000
(C) 12500 (D) 10500

A certain sum invested on compound interest
grows to ¥ 8000 and ¥ 27000 in three and six
yvears, respectively when the interest is com-
pounded annually. What is the percentage rate
of interest? 9 July, 2019 (Shift : III)
Tl TS St Helifard g1 8, a1 Seheig =T W e =t
& w5 fAfrEa ufe 7 =t S g 96l § wmea: T 8000

(A) 25 (B) 0.5
(C) 50 (D) 10
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17. Aborrows a sum of ¥ 1000 from his friend B on A7 31 fewer, 2007 =t o774 13 B © T 3000 %t #9-
31 December, 2015 on the condition that he T T 96 T BYR T R O U 9 96 3R 15% % W
will return the same after one year simple in- TRF = T WY S T A 31 #2008 B
terest at 12%. However, A gets into a position T STy W feut § oem e ¥ A Eﬁ B i fFest
of returning the money on 1 May, 2016 How TR Shrert T 2 10 July, 2019 (Shife : 1)
much amount he has to return to B? () % 3300 (B) 2 3200
A7 31 e, 2015 =t 774 Ta B 9 1000 =t uf¥ (C) 23310 (D) 3305
=4 7 IR <l 5 9w wh Tﬂﬂm T 12% % HER 20. A certain sum was invested on simple inter-
Wﬁ%ﬁwﬁ?m I A, 1T, 2016 1 JT e = est. The amount to which it had grown in five
feorfa & a1 AT 81 B B 99 TR Ofe s e & 7 years was _1‘/’4 tirnef., the amount to which it

10 July, 2019 (Shift : ) had grown in three in the years. The percent-

(A) T 1331.5 (B) 1045 age rate of interest was:
(©) 1120 (D) 1040 1S Tofvera T TR =TS R R oA e
. THIT U g =0 FaeE, 99 a9 | 9 g1 At fAgee

18. Aborrows a sum of% 2000 from his friend B on — - R

31 December 2011 on the condition that he will + o i A .
the same after one year with simple R W, 2019 (Shift )
return y P (A) 10% (B) 20%
interest at 8% per annum. However, A gets into (C) 25% (D) 15%
a position of returning the money on 1 July, 21. The difference between the compound inter-
2012, How much money he has to reture to B? ; .
o est and the simple interest on a sum at 10%
A7 31 w2011 =t e fm B R T 2000 #r f zw p-a. for three vears is ¥ 155. The sum (in J) is—
T R SR Al foF o T A9 916 36 8% 5 HER S8 % o =t % fam 10% v =74 %t X § =gt = el
ey et & g A, 1 SeE, 2012 = g ety dem T =19 =1 ST T 155 % 1 gerem (TH) §—
=1 feafa & a1 < & 1 =9 B & A -afi SR € 2 11 July, 2019 (Shift : II)
(A) ¥ 5500 (By¥ 6000
10 July, 2019 (Shift ; II} [C) 6600 [D] F 5000
(A) 2200 (B) X 2080 22. The difference between compound interest and
(C) 32088 (D)X 2070 simple interest on ¥ X at 6.5% per annum for 2

19. A borrowed a sum of ¥ 3000 from his friend B yearsﬁis ? 33'89- What is t}lf’ \ialue of X?
on 31 December 2007 on the condition that he 6.5 T o A WH I X W Q_EN * Ty =erats = ofi
would return the same after one year with MR A H T 33.80 M AR ZIX T YA FNE ?
simple interest at 15% per annum. However, A 11 July, 2019 (Shift : III)
getsinto a position of returning the sum on 31 (A)X7800 (B)X 7500
August 2008. How much amount had A to re- (€) ¥ 8000 (D) T8500
turn to B? .

Solution
Px10x7 Jrd year Clis multiplied by 1/2 because we have
1.  (A) 2940 = 100 to find interset of 2 and half years
1
_2940x2x100 8400 Tolal CI for 25 vears =840 x 2 + 84 + 508.2
10x7 . = 22722~ 2272
For CI, P=8400, T = 25 r, R=10% 2.  (B) Aswoknow,
] 1 L1
840 840 840 Amountafter 2 years 14 R ]2
84 84 Present Amount 100
& 1 8748 _['Hi]z
8§41 x 7" 508.2 7500 L\ 100
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. ]
729 [ R ]
i 1+_
625 100
L
—= ] +—
25 100

27 2
= ——1|x100=—x100 =g
R [25 J 5 8¢
=ATQ,

7500 x 16 x 23
3100
=15 x16x 23 =>5520

[:ST)_L:E‘ =

3. (B) P=409 T =30 monlhs
R=15% pcr annum
Acc.orquestion T =3 yrs

15 1
=—x10= 12 —ta=—
R= 12 2 8

Using C1 concept
As we know

If

P A

L] 9 (for one year)

L 9 (for three years)

= CI for three years will be = 9°-8°

409
= Cl=——(9’

9 -8
= 1736
4. (A) Elfective Rale ofSlin 2 years

1664
~ 10000
- R = 8 %
10000 X 8 x 27
T 5%100

=100 =16.64

=
= 4320
5. (B) Effective Rate of Clin four years
21x21
100

=42+ 4,41 = 46.41
Effeclive Rale of SIin four vears = 40%

=21+21+

29282
=5l = T *40 =8000

6.

9,

15x15

(D) Elleclive rale of CIfor 2 yvears =15 +15+

= 32.25%
Effective rale of CI for 3 years = 32.25 + 15 +
3205x15 __ o
100 - . A

4 4
Effective rate of Sl for 4§ years =15 x 4§

=72 %
= ATQ,

7
———X72 =574

Required Answer = 52.09

(B} Lel Lhe inilial amount be - 100
then, Price aller 3™

0.8,°8 =172.80
A=A _
5 &5 5

and Price after fourth year

year is - 100 x

6
=172.80 % 5" 207.36

So, Difference of 4" year and 3™ year is
= 34.56

As per given question

= 34.56 =259.20

= 1=7.5

So, Amount for second year

= 144x7.5= 1080

0 =432
100

40% of second vear = 1080 x

(B) R=4% T=2yrs.
20280
108.16
= 18730
_ 18750x16x23
- 53x100

P= =100

= 13300

(A) ATQ
Using basic CI formula,
63654 { R }
=14+ —
60000 100
According Lo new condilion,

RO};

A = 60000 [1 +
10
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10.

11.

12,

13.

Squaring bolh sides 2% 21
14. () Effectiverate of Clfor2 years =21+21+ 00
R T _ . 1
A2= (60000 {1 + —} .......... i =42+ 441 =46.41
( ) 100 W Elfeclive rale of SIfor 2 years =21 x 2 =42%
R T Sl for 2 years = ———— X 42 = 6300
Putting value of {1 + —} in equation (ii) from ) 46.41
100 _ _ 21x21
equation (i) 15. D) Rell, =21+21+ 100
63654 =42+441=4641
60000 11602
= A =061800 SI= 2641 x 42 =10500
(A) = ATQ, 16. (C) Using CIbasic equalions,
Aller three years if we have Lhe same amounl Lo 3Y (. RY 3 R R 1
be invesled for a period of two years ilwould give Lhe [E] - [ I+ ﬁ] nd 1+ 100 = 100 2
same 11881 Limes. R=30% '
. 17. (D) ATQ
:>P[l+%} = 1.1881P _ 1000412 B
127100
A=1000+40="1040
X 9 18.(B) ATQ
i - 1+ —|=1+—
Which becomes { 100} { 100} _ 2000x8x1
-9 o 2x100
A A = 2000 + 80 = 2080
O = ATQ, y_
Aller three years il we have the same amount Lo | 19, (4) S, = iy’ > <8 _ 200
s JR v o 3 3 a ] T 0 I - 1570y ¥ Y 12)(100 -
be mm.(,s.,l,(.}lf’m.‘ d‘p(.rl()d ol two years il would give Lhe A = 3000 + 300 = 3300
same 1191016 times,
) 20, (B) ATQ
=P |:1+%:| =1.191016P (']()U+5R) :P(100+ SR)XE
(100) 100 4
Which becomes 5 15
100 +5R = —x100+—R
0] 505 o
1+ ——|=]|14+— -
100 100 5 Roos
: 4
=x=6 R = 20%
(B) Effective Rale of CI=11+11+ i =23 1% 21x10
- A 100 T 21, (D) Eflfeclive rale of CI for 3 years =21 +10 + 100
Effective Rate of 51 =2(11)=22% =231+21=331%
6903 Effective rale of CT for 3 vears =10(3) = 30%
Ias - = _ K _]5—
= Sl for two years will be 791 x22 Gum = %—TX'I()U=5UOU
= 6600 .
22. [C) As we know,
21x21 :
(B Effective Rate of Clfor 2 Years=21+21+ — . R Y
100 Difference = P 100
=42+4.41 =4641% )
Effective Rale of SIfor 2 Years = 42% o [ 6.5 J
33.80=x|—=
928 . 100
SI 1611 4200 x 2 = 8400
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Simple interest on a sum for six months at 5%
per annum is R 65.5. What is the value (in Rs.
of sum?

T T R 5% Waad F1 52 | BT "Rl 1 QLR =
65.5 T ¢ | T F AE (TR H) e 2

(A) 2600 (B) 2620

(C) 1320 (D) 2880

Simple interest on a sum for 3 years is equal

to 20% of the principal. In how many years in-
terest will be equal to the principal?

T % W5 AT A1 FIERT s4re HeAe 6 20% 5 S
F | T =T & =a1sT Jeae % SRIe) g1 S ?

(A) 20 (B) 25

(C)1s (D) 16

A sum bhecomes Rs.8800 in 4 years at simple

interest at the yearly interest rate of 25% per
annum. What is the sum (in Rs.)?

T T TIERW =419 TR 25% = AT =0 529 4 309 A
8800 T B T | T (FAH) FNE ?

(A) 4400 (B) 6600

(C) 7040 (D) 6400

A sum becomes Rs.2286 in 3 years and Rs.2448

in 4 yvears at simple interest. What is the rate
(in percentage) of interest per annum?

Tk Ui wraR e | 3 961 ° 2286 ¥ e 4 i |
2448 T Bl STl € | =7 i A16eh o (Afaea #) e ?
(4) 10 (B)9

()8 (D) 11

A sum becomes Rs. 1392 in 2 years and Rs. 1488
in 3 vears at simple interest. What is the rate
(in percentage) of interest per annum?

T T SR 20 | 2 6 /1392 70 qer 3 7 A
1488 T 8w & | Wi A w = o (whavw ) g ?
(A) 8 (B) 10

cyiz (D) 8.5

A sum of Rs.7500 is divided into two parts. The
simple interest on first part at the rate of 12%
per annum is equal to the simple interest on

second part at the rate of 18%. What is the in-
terest {in Rs) on each part for one year?

7500 9 =1 T UiH =1 € 9l # et foam man ¥
TEE! 9T TR 12% il Tt 52 H TR 4 THL HFT T
18% =t TN 5T 9 TEH &7 = IUeR & | W 9 0T
TF 99 & o (v ) ;e ?

10.

11.

(&) 600 (B) 360
(C) 480 (D) 540
Simple interest on a sum of Rs.1400 for 3 years

and 4 months is Rs.700. What is the rate (in
percentage] of interest per annum?

1400 % = TF U R 3 o4 791 4 7 = TR w0
700 99 | TS I AMUE 5T (Hiwa 7 ) wmE 2

(A) 17 (B) 15

(C) 18 (D) 12

If the time increases by 7 years, then simple
interest increases by Rs.8400 on a sum of
Rs.6000. What is the rate (in percentage) of
interest per annum?

=fs ¥9a 7 94 § 5 w11 , 91 6000 T i Th U W
HIYR =15 8400 9 | 9% A7 € | <A1 i AR <L

(g &) =g ?
(A) 18 (B) 12
(C) 20 (D) 24

Compound interest on a certain sum for 2 years
at the rate of 11% per annum is Rs.1160.5.
What will be the simple interest (in Rs.] for the
same amount at the same rate of interest for 2
years?

o ffeea At o 11% =t anfies s & 2 =l =1 9hafs
= 1160.5 ¥74 & | 991 Ui R 9917 =04 59 2 =6
=hl HIER == (&9 | ) 947 g1 7

{A) 9000 (B) 1000

(C) 1100 (D) 1050

A sum becomes Rs.10000 in 10 years on simple
interest at the rate of 10% per annum. What is
the total interest {in Rs.) of the 10 years?

W U 10% i A1 & § WER &5 W) 10 =6 §
10000 9 31 St & | 10 A8 =1 et sa0 (693 § ) o4
77

(A) 4000 (B) 5000

(C) 2500 (D) 4500

If the time increases by 5 vears, then simple
interest increases by Rs. 3000 on a sum of Rs.
5000. What is the rate {in percentage) of inter-
est per annum?

T TF 5 96§ _E W ©, A 5000 T wOF T
TR = 3000 T | 95 W@ § | A AT o

(vl o) =g ?
(A) 15 (B) 12
(C) 10 (D)6
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12.

13.

14.

15.

16.

17.

Simple interest on a sum of Rs.3300 for 5 years
is Rs. 1980. What is the annual rate (in per-
centage) of interest?

3300 T I TF S W5 79 F EERT 7S 1980
BYY T | = I AR 5 (Wfaea H) g ?

(A) 10 (B) 15

(C) 12 (D)9

Simple interest on a sum for 12 months at the
rate of 25% per annum is Rs.935. What is the
value (in Rs.) of sum?

W U8 T 25%, wfaed =t e d 12 " e @i
935 T & | T A A (TR H) F@ e ?

{A) 3740 {B) 3200

(C) 4410 (D) 4720

Simple interest on a sum for 18 months at 14%

per annum is Rs.1365. What is the value (in
Rs.) of sum?

Tk T 9 14%, 9aes =61 50 18 HEH1 o1 HIYNo <55
1365 TR &\ T A= I (TR H) FE ?

{A)6100 (B) 7300

(C) 8100 (D) 6500

The simple interest on a sum for 5 years is
Rs.16800. The rate of interest for the first 3
vears is 8% per annum and for the next 2 years
is 12% per annum. What is the value (in Rs.) of
sum?

TF T R 5 O WA S 16800 T | IR 3
ot o el =511 1 58 8% Widad ¥ q&r s7Tel 2 °91 & fog
12% wiererd & \ i = w4 (T4 ) Jr & ?

(A) 30000 (B) 38000

(C) 32000 (D) 35000

If the interest is compounded half-yearly, then
what will be the compound interest (in Rs.) on
a sum of Rs. 10000 for 1 year at the rate of 10%
per annum?

Ffe = 21 =i w9 § Wt B T E, @ 10000
T A TE T R 10% # THE T 1 9% = TS
oI (F H ) 41 g0 7

(A) 1250 (B) 525

(C) 1000 (D) 1025

Some part of Rs.9500 was lent at the rate of
15% per annum simple interest and the re-
maining part at the rate of 20% per annum
simple interest. The total interest received af-

ter 3/2 yvears is Rs.2565. What is the ratio of
money lent at the rate of 15% and 20%?

18.

19.

20.

21.

T 9500 T i T 51 FH TR TR =16 Hf 15%
W T I T T TG TGN AT ISR # #w 20%
Jfaas 1 ® R YR faan T=01 3 /2 o vE FE 2565
T S YT BT § 1 15% 991 20% % W ¥ IR < .
T = e M 2

(A)11:8 (B)12:7

cj2:3 D)5:4

Whatis the difference (in Rs.) between com-
pound interest {compounded annually) and
simple interest for 3 years on a principal of Rs.
3000 at the annual rate of 2097

3000 T % JE4F R 20% =it A6E e F 3 T F
THYl G AT (A HEIST ) A LR =151 % Hed Ty

(TR ) FME?
(A) 464 (B) 384
(C) 356 (D) 424

Simple interest on a sum of Rs.67400 for 14
months is Rs.4718. What is the rate (in per-
centage] of interest per annum?

67400 T i T T R 14 FEH! 501 e =1 47 18
T E | oA AN < (WA A ) = E ?

(A) 5.5 B)6

(€)8 (D)7

A sum of money becomes 77 /50 of itselfin 18/
5 yvears when invested at simple interest. What
is the rate (in percentage) of interest per an-
num?

T iy R e e R W 185w
77 /50 AT G ST | 54T i ek o (whoem ) #=nE 2
(A) 20 (B) 18

cyiz (D) 15

Two equal sum are invested in two different
schemes. One scheme gives simple interest
and the other gives compound interest (annual
compounding). The sum of interest obtained
after 2 years from hoth the schemesis Rs.3717.
If both scheme have 13% per annum interest
rate, then what is the first vear interest (in
Rs.] for simple interest scheme?

T AL GFTTIRN B T STEWT- ST Ao et § S T |
T ST TR 38T A ORI ka5, 5T ( SR ST )
A 7 1 2 o v S Aree 9 $el o 37 17 599 U
BEATE | AT S Arerei H 13% T A9 FH e H e, @
IR =11 S| Sl & Ugel g o <A (9 H ) 1 E 7
(A) Q00 (B) 1200

(C) 1500 (D) 600
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22,

23.

24.

25.

Simple interest on a sum of Rs.6800 for 18
months is Rs.2244. What is the rate 9in per-
centage] of interest per annum?

6800 v9F =l U YUY 18 HEMl I WERY AT
2244 T ¥ | = = =t 5 (whem A ) wng 2

(A) 24 (B) 18

(C)20 (D) 22

Manish lent out Rs.20000 in two parts. He put
out first part at 6% and the second part at 8%
interest. The vearly average interest comes out
to be 6.4%

T 20000 $F 6w 9§ SR W | 9 Tgel T
T 6% T AU GHL U R 8% <A WA T | aftek S7aa
R 6.4% W B E | T 6% T 8% TSHT & TE
Tt (T H) T E 2

(A) 16000, 4000

(B) 12000, 8000

(C) 15000, 5000

(D) 18000, 2000

What is the difference (in Rs] between com-
pound interest {compounded annually) and
simple interest for 3 yvears on a principal of
Rs.4000 at the rate of 30% per annum?

4000 7 & JAud W 30 Afaw i Afiw s d 3 99 &
THYG = (S ST ) T ATHR SN o HeT
SR (TEH) FE ?

(A) 976 (B) 1024

(C) 1188 (D) 1276

A sum of Rs.10000 becomes Rs.14641 when
invested at compound interest at the yearly
interest rate of 20% per annum. If the com-
pounding is done half vearly, then for how many
years was the sum invested?

10000 T F! TF S 9@ 20% Fiood = TFars
I T H T WA et £ 6 14641 T o S’
¥\ Ife = | TAE STE AU e T ¥, @ e

(A) 1 (B) 2
(€)3 (D) 4

Simple interest on a sum of Rs.50200 for 3
months is Rs.1380.5. What is the rate (in per-
centage] of interest per annum?

50200 T = TF TR 3 FEM 1 HEW =7 1380.5
T B | S5 ki 1T oL (wiae | ) F=E ?

(A)11 (B)9

(C)a.5 (D) 8.5

27.

28.

29.

30.

31.

Simple interest on a sum for 10 years is equal
to 5% of the principal. In how many years in-
terest will be equal to the principal?

WAk I3 TR 10 =41 31 SR S99 A %k 5% % S
% | fore= <l & sarl gerer % e g1 S ?

(A) 100 (B) 150

(C) 200 (D) 250

A sum of money invested at simple interest
becomes 13/10 ofitselfin 2 years and 6 months.
What is the rate (in percentage) of interest per
annurn?

W I HEROT A W e A W2 9 a9 6 e
= A1 13/ 10 T €1 ST | ST A o (i

HyFme?
(A) 10 (B) 15
(C) 12 (D) 18

The simple interest on a sum of money is 16/
25 of the principal. The number of years is equal
to the rate of interest per annum. What is the
rate (in percentage) of interest per annum ?

TF T W WER S, GoEE w1 16/25 )| s wi
e o AT = T AER T | T A AT ) (AToR

H) e ?
(A) 4 (B) 16
(C) 8 (D) 12

A sum of Rs.8000 becomes Rs. 125001n 2 years
at a certain rate of compound interest. What
will be the sum (in Rs.) after 3 years?

T 8000 T i UlF =shgls =aa & Uk MiiEa a1 2
= H 12500 ¥9 € 91 € | 3 A6 grE ate (P )
BRI ?

{A) 13175 (B) 14225

(C) 12575 (D) 15625

Puneet lent out Rs.30000 in two parts, one at
5% and the other at 9% interest. The yearly
average interest comes out to be 6%. What are
the amounts (in Rs.) taht are lent at 5% and
9% respectively?

gt 30000 T F T 4 H YR W IAE, TEe H 5%
T [ GE N 9% T W | A ST o 6% W
ZIE | FHI: 5% [T 9% T YR & 78 Uil (v H)
FNE?

(A) 20000, 10000
(C) 18000, 12000

(B) 22500, 7500
(D) 21000, 9000
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32.

33.

34.

35.

A sum of Rs.5000 becomes Rs.8000 in 3 years,
when invested in a scheme of simple interest.
If the same sum is invested in a scheme of
compound interest with same yearly interest
rate (compounding of interest is yearly), then
what will be the amount (in Rs.) after 3 vears?

5000 T i T T TR T et T A=+ e
FH R 3 T A 8000 T B WA € | Fe T A TAH
I <A SE TF =HRgTG  F T A (&0 =
T At €) # e #t R, @ 3 o qvem figee
(T H) FAERM ?

(A) 8640 (B) 8260

(C) 8880 (D) 9220

A sum of Rs.8000 is borrowed at compound in-

terest at the rate of 7% per annum. What will
be the amount (in Rs.) after 2 years?

8000 T93 %I T T =T 7% TfTad =t 5 o AHAT5 =0
T 34T T T R 1 2 T % e fAem (79 H) W
zm?

(A) 1154.4 (B) 13600

(C)9159.2 (D) 9428.6

A sum of Rs.6000 becomes Rs.7200 in 2 years,
when invested in a scheme of simple interest.
If the same sum is invested in a scheme of
compound interest with same yearly interest
rate (compounding of interest is done yearly),
then what will be the amount (in Rs.) after 3
years?

6000 T &1 Tk T HIER0 =151 Sel Uk S 8 e
A W2 A H 7200 T g S 2 | = =gt ufd wee
Bl LR SR IR P I I e Al e ) ) e R Eil
I T (1T T Heie S § ), 91 3 o gvs g
(98§ ) 941 R 7

(A) 7434 (B) 8244

(C) 7864 (D) 7986

The simple interest on a sum is 5/9 of the prin-
cipal for 25 years. What is the rate (in percent-
age) of interest per annum?

T TR 25 T = TR = GEeA M 5/9 ¥ | i
T T (TfavEm o) e 2

(A) 25/9 (Byo/2

(C)20/9 (D) 15/4

Some part of Rs. 17500 was lent at the rate of
24% per annum simple interest and the re-
maining part at the rate of 10% per annum
simple interest. The total interest received af-

ter 5 years is Rs.13300. What is the ratio of
money lent at the rate of 24% and 10%?

37.

38.

39.

T 17500 7 w0 I 501 & AT AIHR =479 &l 24%
i S S T I FIHAT TN YR A H 10% Hf
it o T SR T | 5 9 avem T 13300 T
S W ST | 24% T 10% =it T8 3 £t e qivwif

T ST T E ?
(A)12:13 (B)3: 4
(€)3:2 (D) 13:22

Sachin lent out Rs.60000 in two parts, first at
4% and the second at 10% interest. The vearly
average interest comes out to be 6.4%. What
are the amounts (in Rs.) that were lent at 4%
and 10% respectively.

I 60000 T = 3 9Nl § SUR WA 8, Tl i 4%
R AT TER R 10% =10 W | 66 6T =204 6.4% W
EI 8 | T 4% Ao 10% TSR & T it (v )
FE ?

(A) 40000, 20000 (B) 48000, 12000

(C) 36000, 24000 (D) 32000, 28000

A sum of Rs.4000 becomes Rs.5800 in 3 years,
when invested in a scheme of simple interest.
If the same sum is invested in a scheme of
compound interest with same vearly interest
rate (compounding of interest is done yearly),
then what will be the amount (in Rs.) after 2
years?

4000 ¥ Wl WA I AL =15 Aol T Ao 5 e
FT W 3 0 H 5800 v 71 Sl # 1 Afg =gt vfe wwH
F AT (TS A A ©), W2 A ww=a e

(T ) FEm ?
(A) 4430 (B) 5450
(C) 5290 (D) 4970

A sum of Rs.20000 becomes Rs.32000 in 12
years, when invested in a scheme of simple
interest. If the same sum is invested in a
scheme of compound interest with same yearly
interest rate (compounding of interest is done
yvearly), then what will be the amount (in Rs.)
after 2 years?

20000 9 % Tk A ATERA =10 AT TH Ao |
o 5T R 12 = § 32000 w7 € wdt ¥ 1=t vl
T AT, T o et TR TERg1G 9 i TF Arem |
e =t ¢ (oo = e o g ¥ ), 1 2 = gvem
Ty (T H ) T EA 2
(A) 21750

(C) 23250

(B) 22050
(D) 24650
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40.

41.

42,

43.

44,

15.

A sum of Rs. 800 becomes Rs.1000 in 2 yvears
at simple interest. What is the per annum rate
of interest (in percent)?

800 TH &I WH HFAUE HERY = W 2 =9 § 1000
T B W € | S o R (AR W) FE 2

(A) 12.5 B)25 ()85 (D17

A sum of Rs.4000 becomes Rs. 7000 in 6 yvears
at simple interest. If the rate of interest be-
comes double of itself, then what will be the
amount (in Rs.) after 6 years?

TF 4000 FT3 i T W =1 § 6 76§ 7000 T
gl St & | |fE s ki o T o1 SR §1 WY, df 6 9
T, T (T H ) A ?

(A) 8500 (B) 9000

(C) 8000 (D) 10000

The ditference between simple interest on a
certain sum at the rate of 6% per annum for 5
years and 6 years is 25.8. What is the sum {in
Rg)?

ek T4 Ui W 6% i AffeE W W 5 o9 a1 6 99 &
TR A 7 $7a% 25.8 T4 & | e (v 7)) g ?
(A) 480 (B) 430

(C) 258 (D) 516

A sum of Rs.2500 becomes Rs.8100 in 2 years
at a certain rate of compound interest. What
will be the sum (in Rs.] after 4 yvears?

TF 2500 T FI T HRAG T Tl TH M= e H 2
a9 H 8100 99 & 91 ¥ | 4 o gy U (59 /) 7
il ?

(A) 29824 (B) 56284

(C) 41624 (D) 26244

What is the difference {(in Rs.) between the com-
pound interest {compounded annually) and

simple interest for 3 yvears o a principal of
Rs.2500 at the rate of 30% per annum?

2500 T F TE¢H R 30% =it AM6E e F 3 T F
THYlG AT (A HHIST ) T LR =151 % Hed Ty
(T H) FME?

(A) 742.5 (B) 624.5

(C)714.5 (D) 825.25

A sum of Rs.6000 is borrowed at compound in-

terest at the rate of 8% per annum. What will
be the amount (in Rs.) after 2 years?

6000 T il TF TN H 8% Tad # R T THafs =
R 2R forn e ¥ 1 2 = gy fagem (v F) FnEm ?
(A) 6998.4 (B) 6960

(C) 6785.4 (D) 6869.4

46,

17.

48,

49,

S50.

51.

At the rate of 12.5% per annum, the simple
interest on a sum is 5/4 of the principal. What
is the time period (in years)?

T T R 12.5% FF a0 5T E TER0 =0 Ja4E
5/4 % 1T oy (A W) TE 2

(A) 12.5 (B) 8

{C) 10 (D) 15

A sum of Rs 1200 amounts to Rs 1740 in 3 years
at simple interest. If rate of interest is in-
creased by 3%, then what will be the new
amount (in Rg)?

1200 73 %1 U WeRy =15 | 3 a9 § 1740 99 8
T 1 IR A W 3% 9 AL S I @ T fhaem
(T8 H ) F B 7

(A) 1848 (B) 1946

(C) 1812 (D) 1924

Rs 10000 is kept at compound interest at an
interest rate of 18% per annum (compounding
annually). If the compounding of interest is
done half yearly, then how much more inter-
est (in Rs) will be obtained?

10000 T7% %1 18%0 T a9 it =7 T/ =Fdig T W
(Enfties HEH 9 Tl 790 € | A 51T o6 HareE STgeid
ToFm T, < PR ofiT st = (TR H) wm R ?
(A) 243 (B) 324

({C)81 (D) 162

The simple interest on a sum is 7 /8 of the prin-
cipal for 5 years. What is the rate (in percent-
age) of interest per annum?

W AT W 5 =7 B HIER =S e o 7/ 8 ¥ | ik
T T (TfavEm o) e 2

(A) 15 (B) 17.5

(C) 14 (D)22.5

A sum becomes 1.69 times of itself in 2 years
when invested at compound interest. What is
the per annum rate of interest (in percentage)?
W ¥ kel e R e e o 2 71 § W 1.69
T B W € | o S o (AAem W) e ?

(A) 38 (B) 34.5

(C) 13 (D) 30

A certain sum of money becomes double of it-
self in 5 years at a rate of simple interest. In
how many years will it become 16 times of it-
self at the same rate of simple interest?

TF Ty Ui TR = = TR ) W 5 99 § =E A
AT B AT | HHA HIERo e o © oy o At o
=t 16 T B AT 2
(A) 20

{C)75

(D) No option is correct / #ie fashed W&t =& ¢ |

(B) 60
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52. Asum of Rs.4000 becomes Rs.60001n 1 year at T T W 20 aﬁmm%mmmwm 5/4% 1+
a certain rate of compound interest. What will T (ARTE H) TR ?
be the sum (in Rs.) after 4 years? (A) 6.25 (B) 12.5
TF 4000 9 Tt U =Fafs = & v A s 1 © 2'5 (D) 5 '
£ - = = I3 = —~ ﬁ -
%‘16000 T & 14 S (F ) = 56. The simple interest on a sum of money is 9/
e 49 of the principal. The number of years are
(A) 16250 (B) 12000 equal to the rate of interest per annum. What
(C) 20250 (D) 19500 is the rate (in percentage) of interest per an-
53. A certain sum of money becomes 4 times of num? . N
itself in 30 years at a rate of simple interest. Tk IS T YR A1 HAeH 19 /49 ¥ | =915 %1 a1
In how many years it will become double of it- TL AN wh] T aEL | SHIST i Ao = ( wioem W) w0
self at the same rate of simple interest? %7
W i Tfe e =t &1 Uk X ¥ 30 o0f § T w0 () 36/7 (B) 27/7
4 T F ST | S e e @ o R o | v () 15/7 (D) 30/7
7 Q‘]’ﬂq‘[‘ A a‘r@'ﬁ ?
Il d ’ §7. A sum of Rs.15000 is lent at compound inter-
(A) 20 (B) 15 est (compounded annually) at an interest rate
(C) 10 (D) 12 of 20% per annum. If the interest is com-
54. Simple interest on a sum for 9 months at 8% pounded half yearly, then how much meore in-
per annum is Rs.270. What is the value (in Rs.) terest (in Rs.) will be obtained in one year?
of the sum? 15000 %74 =1 Tfe 20% =i o #1 === < 9 =ohgis
TF T 9T 8% Waa™ #f 5T W 9 AL =1 FLIO == =Sl (St Has ) TSR € 76 7 | 9 ST ol warsH
270 T ¥ | AR H AW (TR H) FE? et T sy, < w A °§ e i = (v
{A) 5200 (B) 5400 ) W T 7
(C) 4500 (D) 3600 (A) 225 (B) 150
55. The simple interest on a sum for 20 years is (C)y75 (D) 300
5/4 of the principal. What is the per annum
rate (in percentage) of interest?
Solution
1. (B) 1 Year Interest = 131 P=1800
P= =% 100 162=T:>R=9/0
=131 %20 5. (A) 1Year S1=1488-1392=96
P=2620 P=1392-96 x 2
=1392-192
20 Px5xR
. = L P=1200
2 B P 100 100
1200 xR x1
_ Px4xT 96 = ~ 100
100 R=8%
T = 25 years 6. (D) P,x20=P,x18
3. (A SI20=25x4=100%
A=P+ SI[% =100% + 100% ﬂzﬁ
p 3300 100 > 2
= X
200 _ 7500
P = 4400 P = —— x3=4500

4. (B) 1Year S.1=2448 - 2286 = 162

4500x12x1
Sl=—"7——

100 = 540

P=2286-3x 162
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10.

11.

12,

13.

B)

(€)

1400 x Rx100
700= —————

300
300
T 20
R=15%
aa00 < 80007 xR
- 100
840 =42R
R=20%
5 CL% = E_ 2x11
year 0= 1'2 = 121
=23.21%
2 year 51% = 20%
1160.5 21
= x
23.21
=50 % 20

2 year 8.1 = 1000
10 year SI% = 10 x 10 = 100%
A=P+351=100% + 100 = 200%
ar 10000 100
= ®
200

SI = 5000
S year SI = 3000

5000x5xR
100

3000 =

3000

250
R=12%
P=3300
SI=1980
T =5 year
R=7
_ PRT
S = m

3300 xR x5
100

1980 =

180 _
15
R=12%
SIV% = 25%

p= 235 100
= *
25

=935 x4
= 3740

15.

16.

17.

18.

(B)

_18_3
T 1z g Yo
ST_PRT
100
1365 = Px14x3
2 %100
_ 1365 x200
B 42
P= 6500

SI2=3x8+2x12
S[% = 48%
Let P= 100

_ 16800

10
R=

48
P=35000

2

= 5%,

x100 =350 =100

T=1x2=2vear
P = 10000
Reffective = 10.25

1
CI = 10000 x

CI=1025
First Part = x
Second Part = (9500 —x)

xx15x3  (9500-x)x20x3

100

2 %100 100

45x+_9500><30——30X__2565

200 100 - <

45—%570000——60x__2565
200 -

~15x = 2565 x 200 - 570000

_15x = -57000

x = 3800

95000 -3800 = 5700
x:(1500-x)=3800: 5700

2:3

3 Year S[% = 3 x 20 = 60%
3 Year CI% = 3r / 3r% / 1

= 72.800
Difference = 72.8% - 60%
= 12.8%
3000 12.8 x 128
- X _— -
N 100 °

=3

84

=2565
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19.

20.

21.

22,

23.

(B)

(A)

(A)

P=67400
T = 14 Months
S.I1=4718
. 67400 x 14 xR
B 12x100
oo 56616
9436
R=6
P=P
ro 18
= 5year
50 50

27 ~ Px18xR

500 - 5x100
270

8
R=15%

. 5 It
Px2x13 | [1+ L”} ~1| =3717
100

100

21 2769
100 10000
5369P _ .-

10000
P=6923.07

- 6923.07 x13
d 100

}:3717

51=900

6800 x 18 xR
12 %100

26928

1224
R=22%

60 [43 8(%)
G/
N\

2244 =

.4

1.6 .
=4 : 1
20000

5
= 16000

20000

First Part = x 4

Second Part = x1

= 4000

24.

25.

26.

27.

28.

(C) 3Year CI% =119.7
3 Year SI% = 90
Difference = 119.7 — 90

=297
_ 4000x29.7 1188
100

B) R=10

2n=T

P[]
— 1+_
P 100

14641 10 "
=1+ —
10000 100

14641 _[117
10000 |10

6] sl
10] |10
T=4

Time = 5" 2 year

PRT
(A) SI= 100

50200x3 xR

1380.5= 00712

. 1380.5x 4
- 502

_ 5522

502
R=11%
(C) Let
P=100
10 Years Sl = 5
Multiplay by 20 on both side
200 Year S1 = 100
Time = 200 years

PRT
C) SI= ——
€ 100

13P_ Px5xR
107~ 2x100

60
R= ? =R=12%
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9. (C SI—-EEP

29. (C) SI= oo
E _ Pxnxn
25° 100

_ 1600 40
= 95 =n-= 5

n= 8%

A [1+r]
30. D =700

h2500={1+_5_}
8000 100
25 o«

16

b

11

1

, 30000
First Part = x 3= 22500
30000
Second Part = ) x]

Second Part = 7500
32. (A) For 3 year = 8000 - 5000
= 3000

S000x3 xR

3000 =
100

R=20%

Cl % For 3 year =72.8
= 5000 x 2.8
- 100
= 36400
A=P+Cl

= 5000 + 3640

A=8640

33.

34.

35.

36.

37.

38.

(C) R effective for two year = 2R/R?

=14.49
Cl = 8000 x14.49 1159.2
100 ’
A=8000+1159.2
A=0159.2
D) 1200 = 6000 %<2 xR
() - 100
R=10%

Effective rate for 3 years = 33.1
6000 x2 xR
Cl= ————

100
Cl=1986
A=6000+ 1986
A=7986
C SI—E
(© si=
T =25 year
EP— Px25xR
9 100
h 20
9

(D) 5 year 8.1 =13300
1 vear 5.1 = 2660

24%, 10%
4200 L1750

2660
210 1540
3 o1
= 13 22

(C) 4m LO%

G.4%

60000
15

60000
15
(C) 81 =5800-4000= 1800
4000 xR =3
100

First Part (4%) = x 9 = 36000

Second Part (10%) =

1800 =
R=15%
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39.

40.

41.

42,

(A)

2
CI% For 2 years = r—f =32.25

32.25

100
A=4000+ 1290
A=5290
12 year 5.1 = 32000 - 20000 = 12000
20000x R x 12
100

CI = 4000 x = 1290

12000 =

R=5%
2 year C.I% = 2r/r*= 10.25%
20000 x10.25
100

= 20000 + 2050
A =22050
S1 for 2 year = 1000 — 800 = 200
B00x2 xR

100

A =20000 +

200 =

100

R=7%

R=12.5%

S1 for 6 years = 7000 — 4000
= 3000

4000x R x6

3000 = 100

_ 500
40
R=12.5%
SI% for 6 year= 12.5 x 6 x 2
=75.0%2
= 150%
150
100

A =4000 + 4000 x

= 4000 +6000

A = 10000
R=6%
T = 5 year T =6 year
5% = 30% Sl = 36%
Difference = 36% — 30% = 6%

_ 258
P= 6 %100

=4.3x 100
P=430

R=6%

13.

17.

A h
o 3[4 150)

8100:1+ r

2500 100

9 r

5 100

4 100
= —x
=3

r=80%

1+ﬂ
A =2500 x 100

= 2500x10.4976
A =26244
[A) 3 year S1%6 = 90%
3 year CI% = 119.7
Difterecne = 29.7%

_ 5500 x 227
100
=742.5
(A) 2 vear CI% = 2r/1*
= 16.64
A= 6000 x 16.64 + 6000
100
= 1998.4 + 6000
A =60998.4
C) SI= E]F’
©) si=
5 P Px12.5xT
457 100
T = 10 vear
(A) SI=1740- 1200 = 540
540 12003 xR
100
540
- 36
R=15
R,=15+3=18%
A = 1200 + 1200 x3x18
' 100
= 1200 +648
A =1848
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18 53. (C) T = 30 year
48. (C) R=18% R="-=9% SI = 3p
R=10%
T=1 year T =2 year For Twice = S = P
Cl% = 18% Cl%=18.81
Differecne = 18.81 - 18 = .81% p PXRx10xT
10000 x .81 100
Eieteteii - ¥ | T =10 year
100 54. (C) S1=270
7 R=8%
49. (B) SI= P T = 9 Months
7,_ Px5xR 070 = PX8x9
sP= "o 12 % 100
P = 4500
r= 100 55. (A) T =20 year
40 5
R=17.5 SI= P
50. (D) P=100
A=169 5 Px20xR
T = 2 year 27~ 00
R: 2
Ro 25
| JE 1T 4
P 100 R=6.25%
[169 T 9
7 1+ 56. (D) SI= —P
100 100 0 49
T=n
r _3 R=n
100 100
= 30% iP= Pxnxh
51. (C) Time S.I 49 100
5 year 1P 200
. [ ———
Multiply by 15 n 49
75 year 15P
A=P+15P n= 29
A=16P 7
T =75 year o 30 "
5 C A _[1 § r ‘]h - 7 (4]
2 Q5= 100 57. (B) For half yearly
20
6000 _, ot R= —=10%
4000 100 2
T = 2 year
r= 1 x 100 Effective Rate for 2 year
2
10 x10
= 509% = = Vo
r o 10+10+ ——==21
50 # Difference = 219 — 20% = 1%
A =4000 |1+-——
100 1
= 4000 * 5.0625 = 15000% =0 = 150
A =20250
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A certain sum is deposited for 4 years at a rate
of 10% per annum on compound interest com-
pounded annually. The difference between the
interest at the end of 2 years and that at the
end of 4 years is ¥ 5,082. Find the sum (in ).

% TR AT TF W THRG T e 10% FTHF =09 T
T 4 A9 F T STHI 1 ST 12 99 % 3fd | 34 99 %
374 H THo A =671 5 &= 1 S T 5,082 % 1 98 U9 (F

) @ o
(A) 50,820 (B) 10,164
(C) 25,500 (D) 20,000

A sum invested at compound interest amounts
to ¥ 7,8001in 3 years and ¥ 11,232 in 5 years.
What is the rate per cent?

=hefe s W e i 2w Ui W3 el | ura fRgeE
T 7,800 &R 5 ouf & v Frgem T 11,232 1 wfeom == =X

Elkeaiedl
(A) 15% (B) 18%
(C) 20% (D) 26%

A sum of money was borrowed and paid back in
two equal annual instalments of T 980, allow-
ing 4% compound interest. The sum (in 3, to
the nearest tens) borrowed was :

T UM 3R & T SR T 980 i & TAH A Tt |
BT T il T, TS 4% Tmgfe == fo=n = 3uR
=t T Tt (T H, ke qER W) TR ot 2

{A) 1,760 (B) 1,850

(C) 2,050 (D) 1,960

On simple interest, a certain sum becomes I
59.200 in 6 years and ¥ 72,000 in 10 years. If
the rate of interest had been 2% more, then in
how many years would the sum have become T
76,0007

TR AT WIS I 6 A5 A T 59,200 iR 10T H T
72,000 T1 W © | AT e it T 29 oFferw g, o e
= H 25 T T 76,000 T ST 2

{A) 10 B) 7

(C) 8 (D)9

The simple interest on a certain sum is one-
eighth of the sum when the number of years is
equal to half of the rate percentage per annum.
Find the simple interest (in ) on T 15,000 at
the same rate of simple interest for 8 years.
TR T T WA, FReE Wi o A 5 7 e
Tt 7, A Pt vt o e s, ofe w1789 e
TH1E 1 T 15,000 o fou, SHI =191 52 W 8 991 = HIHN

= (TH) T
(A) 5,000 (B) 5,800
(C) 5,250 (D) 6,000

6.

10.

A certain sum on simple interest becomes ¥
49,600 in 3 vears and ¥ 56,000 in & vears. If
the rate of interest had been 2% more, then in
how many years would the sum have doubled?
whig e GIemor =5 e W 3 99 H T 49,600 AR S5 ouf § T

56,000 B T B | A TS Y T 2% ST BIA, O A

ot St € e 2
(A) 12 (B) 20
(C) 10 (D) 8

Simple interest on a certain sum is one-fourth
of the sum and the interest rate percentage
per annum is 4 times the number of years. If
the rate of interest increases by 2%, then what
will be the simple interest (in ¥) on T 5,000 for
3 years?

ot Wit 9T e =T, Uie o we =i g S wiawd
TR o ST G, Ul R TN ® 4 AR | A oA e A
2% i gig B E, 1 T 5,000 W 3 96T 3% fong A ==t %

) fore= g1 2
(A) 2,000 (B) 1,800
(C) 300 (D) 1,500

A sum of ¥ 4,620 is to be paid back in 2 equal
annual instalments. How much is each
instalment (in I) if the interest is compounded
annually at 10% per annum?

T 4,620 1 TIY 2 T A6F PRYa! H AR TAE i A=
F 1 afg =151 <X it 9 § ohgls T A 10% Afhw €,
at weerw Tvd (X H) Tt et 2

(A) 2,662 (B) 2,420

(C) 2,552 (D) 2,750

If Seema invests ¥ 17,650 in an account that
vields 8.5% p.a. simple interest, then howmuch
(to nearest I) will she have after 5 years?

A FAT 8.5% FMH TERT = WA F41 A @ 3 T
17,650 =1 499 =di 2, @1 5 99 =15 =9 fhadl emgfa

(TFFeam T o) fier ?
(4) 21,551 (B) 21,155
(C) 25,115 (D) 25,151

What is the amount (in 3) of a sum of ¥ 32,000
at 20% per annum for 9 months, compounded
quarterly?

¥32,000 =i vfer Jmifasw sneR W =skefs &1 S el
20% ATHF TR 9 AEMH | T (T H) B =0 2

(A) 32,000 (B) 35,087

(C) 30,876 (D) 37,044
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11.

12,

13.

14.

Joseph deposited a total of ¥ 52,500 in a bank
in the names of his two daughters aged 15 years
and 16 years in such a way that they would get
equal amounts when they become 18 vears old.
If the bank gives 10% compound interest
compounded annually, then what is the amount
(in ¥) that Joseph had deposited in the name
of his younger daughter?

SR 15 I I ST 5 A F TH TH I% H P
T52,500 w1 Ty 1% 18 Tt ki 39 H 32 o0&l THA
Tirer G | AT < iR T B =t B e 10% TEas
TS ST 8, T REE A ST B w2 | AW R R

(TH) s H A7
(4) 25,500 (B) 26,000
(C) 24,500 (D) 25,000

A sum of ¥ 17,200 is lent out at simple interest
in two parts for 2 years at 8% p.a. and 10% p.a.,
respectively. If the total interest received after
2 years is ¥ 3,008, then the money lent (in I) at
the rate of 8% p.a. is:

17,200 =t TR TR w50 a9t | 2 99 % e
AT 8% T 21T 10% Tt gL SHR 51 St € 1 4fe
2 A% TS W el =411 33,008 7, 1t 8% it o W IUR

< s ufw (TH) P g ?
(A) 9,200 (B) 10,800
(C) 6,400 (D) 9,800

A sum of ¥ 18,000 becomes I 21,780 after 2
vears on compound interest compounded
annually. What will be the compound interest
in ¥) on the same sum for the same period if
the rate of interest increase hy 5%?

T 18,000 = qfyr =nfir ¥ © TFafs B e TFars
=9 W 2 99 916 21,780 7 At ¥ | afE = Bl O H
5% i i Tt E, 1 = ufy w st sty % oy = ats
= (TH ) TR ?
(A) 1,845
(C) 5,805

(B) 4,670
(D) 5,500

The compound interest on a certain sum of
money at 21% p.a. for 2 years is¥11.138.40 (in-
terest compounded yearly). The total amount
received (in I) after 2 years is :

ot wftn vt 219% =it == <X 9 2 9 =1 wwhgs =
¥11,138.40 (=ara st 4§ =skafs fohar =iman) 212

Ul 2 WG W Fer (T H ) R w2
(A) 31,538.40 (B) 24,000.50
(C) 35,138.40 (D) 28,315.40

15.

16.

17.

18.

What is the compound interest (in J) at the rate
of 10%, Compounded annually, for 3 years on
the principal which in 8 vears at the rate of
12% per annum gives 34,800 as simple inter-
est?

e HEem T 12% it o1 o o ¥ 8 T § W
T @ T 4,800 %, 3E g@eE W 10% ¥ TanG
T ST W, o R S i = A vty e g, 3
=t H T B 3N RS wAe 9a (T H ) i)

(A) 1,455 (B) 1,655

(C) 2,045 (D) 1,505

The difference between compound interes com-
pounded annually and simple interest on a cer-
tain sum at a rate of 15% per annum for 2 years
is ¥1,944. Find the compound interest com-
pounded annually (in ) on the same sum for
the same period at rate of 10% per annum.
st wfe v 15% =it =ar<1 <2 4 2 =i =6 =i =9 o
=TRelG, =TS ST TR =161 o 519 1 S T 1,944 ¥
o7 ufer W sH 1Ay % g 10%, i = w9
T AN =G e (TH ) [ wifer, afs e v '

4 Haifs g g |
(&) 27,216 (B) 18,060
(C) 18,144 (D) 20,500

The simple interest on a sum of money at 10%
per annum for 4 vears is ¥3,200. What will be
the amount (in ?) of the same sum for the same
period at the same rate of interest when the
interest is compounded annually?

T A0 W 10% =% os F S W 4 q9 H W
TR = T 3,200 ¥ | AG S ot w9  wRats g
21, T T T T T et H e e © 9T e

Elkeaiedl
(A) 11,217.80 (B) 11,172.80
(C) 11,127.80 (D) 11,712.80

Anil lent a sum of¥5,000 on simple interest for
10 years in such a way that the rate of interest
is 6% per annum for the first 2 years, 8% per
annum for the next 2 years and 10% per an-
num heyond 4 vears. How much interest (in <)
will he earn at the end of 10 years?

31e = T 5,000 1 R %1 10 =i = foTd |ram =9 W=
TR TR SHR o P o i s et 2 = R e 6% Wi
T, ST 2 U1 % TAU 8% W A &7 4 7 F A 10%
M 2711 10 99 % 231q ° 9g foean == (T H) a1fsa

(A) 5,000 (B) 4,400
(C) 4,200 (D) 3,500
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19. What is the compound interest (in<3) on a sum | 20. A borrows a sum of 390,000 for 4 years at 5%
of ¥ 62,500 for 2 years at 12% p.a., if the inter- simple interest. He lends it to B at 7% for 4
est is compounded 8 monthly? yvears at simple interest. What is his gain (in
% 62,500 F1 R R T § WIE H G o At 12% 3?

B = X | & A9 |/ 9 WS s (T H ) A, T90,000 =1 T 5% =t TIERT =4S T 4 T9 F T
2 BHT AT E | 6 TH 7% FI TERT 9 T 4 76 F G0 B
(A) 18,342 (B) 16,232 TS SATS | THH WA B Aren o (TH ) @ o ?
(C) 13,428 (D) 16,548 (A) 7,200 (B) 9,000
(C) 8,000 (D) 7,500
Solution
1. (D) Eff rate for 4 year of 10% = 46.41%

and eff. rate for 2 yearsof 10% =21% Intrest = M = 6000

ATQ, (46.41 - 21) % = 5082 100

—925.41 — 5082 (C) 56000 -49600 = 6400

2year Intrest = 6400
L, 208200 o0 3 year = 9600
2541 P = 49600 - 9600 = 40000
2. © , 3
© [1+ r ]: 11232 = 3200 160 b 8o
7100 7800 40000
R=8%+2=10%
r 144
= 1+—=]"— _ 40000 %10 xt
100 100 40000 T 100
r 12 time = 10 years
= 100 10 B) B Let number of years = x
= 20% thw_f:n rate = 4x
Principal = P
1 2
. Y= - P.4x- 1 i
3. (B) 4%= 73 S~ ZP= 16x°= 1005 4x= 105x=2.5
= 25x26 26x26 =
(25)2 (26)? S Rate 4x= 10
= 26 X 26 — 980 & \
5000{10+2}x 3
y . Sk ( )X _ 50 x 36 = 1800
26 x 26 100_
(A) Let, each installment = x
80 :
= 1275 - 5————x1275 = 1850 then
26 X 26 < .
4., (D) Simple Intrest = 6yr & 10yr = 59200 = R + =
72000 [1+ ) (1+ R ] = 4620
4yr S.1. = 12800 100 100
1 yr = 3200, P = 40000
R =5% S o= 4620 - S 109X 4600
if+2 = 11121 11 121 '
10% (4000) 10 100
36000 9 vr 110x +100x 210x
4000 Y =T o #0205 Ty THe0
. Rate 4620 x121
5. D) Time = - "=
[ ] o) = X 210
PxRxR P =x=22x121 = 2662
100x2 8 [100+(8.5)5] 17650 x 1425
4= w | ———— - - - -
§= 5(2}2 9, (D) 17,650 100 = 100
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10.

11.

12.

13.

(D)

(D)

(€)

2215125
T:) 25151.25
R=20%
3 Months 5%
5 =

C.I. 32000+[ 100.] 37044
girls = x
big girls = 52500 -x

s . "
XX[1+£] =(52500—X)(1+ ﬂ]

100 100

O 10 110 o [119]}19
100 <100 <100 ~ ! %) 100\ 100

110x + 100x = 5250000
Total = 17200
Intrest = 3008
1 year = 1504
B 1504 y 376
= 17200 = 43
8% 10%
376"
4"‘
NG
54 32
43 43
27 : 16

27
17200 x —
43 = 10800

5250000
2= "0 T
3780
%100 o
Lot =21%
R = 10%
R+5= 15%

(2y) R=> 32.25%

18000 x32.25
100

2

P[E] ~P=1138.40
100

(121)7 - (100)2

L =11138.40
10000

= P(221)(21) = 1113840 x 100
= P(221) = 53040x 100 =

P = 240x 100 = 24000

Amount = P+I = 24,000 + 11138.40
= 35,138.40

= 580514, (C)

)

15.

16.

17.

18.

19.

20.

(B)

(D)

4800
1 year S5.1. = 8 =600
_ 600x100 5000
=1, -

Cl for 3 vear and 10% rabe = 33%
- 9000 x 33% = 1655
Diff, between eff. rabe = 32.25% - 30%

= 2.25%
= 2.25% = 1994
o o 199400
= a = 295 =
= 21% = 864 x21=18144
ATQ,
40% — 3200

P=100% — 8000
Now, Eff. rate of 10% for 4 year = 46.41%

4641
=Cl = 0 x 8000 = 3712.8

= Amount=8000+3712.8=11,712.80
5000X2X6+ 5000 x8x2

100 100
, 5000x(10-4)x10
100
5000 5000 x 88
(12416 +60) > ——— =
= o ( ) = 100 4400

8
Actual rate = 12% x 2= 8%

24month 3
8 month

100+RY
Intrest = P[( 100 ) _1]
)

[22}3_1 62500(27°% - 25%)

Actual time =

100(27° - 25%)
=5 o = H(2327)(25)(2)
= 4{8+6(27x25)) = 4(8+6(675))
= 4(8+4050) = 4(4058) = 16232

90,000 x7 x4 90000x5x4

100 100
90000 x 4
:——?65—%7—5)z900x8:72m)
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What is the compound interest (in ¥) on a sum

1
of ¥ 8192 for IZ vears at 15% per annum, if

interest is compounded 5 monthly ?
Tif =T ki IO 5-ATfaH =kl SR W gl ¥, o1 wfa

. 1 ..
T4 15% T WA T 8,192 Tt AT ™ IZ 9 & e

=Thefg =meT (TH) I &L |
(A) 1740 (B) 1640
(C) 1735 (D) 1634

The rate of simple interest for first two vears
is 8% p.a., for the next 4 years, it is 10% p.a.
and for the period beyond 6 years, itis 12% p.a.
If a person gets T 18358.60 as simple interest
after 9 years, then how much money (in ¥) did
he invest?

TEe 51 T 2 T e o S A 8% ¥, o 4
o % foqu afier 109% ¥ 3l 6 o1 % o1e i srafy % fag
Tt 12% ¥ 1376 9 o o, FFT =i = Hemm 50 &
w1 H ¥ 18,358.60 Wwl 71d ¥, 9 9% g Ffa afy

(TH) 9 =L |
(A) 19955 (B) 19674
(C) 21075 (D) 20087

Two equal sums were lent on simple interest
at 6% and 10% per annum respectively. The
first sum was recovered two yvears later than
the second sum and the amount in each case
was ¥ 1105. What was the sum (in ) lent in
each scheme?

T WA AT, A 6% 377 10%% AR S o5 T
YR @l < 7 | vt te, gud i gam @ v 9w
TE H T SR g i # i T 1,105 & wew
= H et Ufen (T H) SR AT off ?

(A) 900 (B) 850

(C) 821 (D) 936

A sum of ¥ 7500 amounts to ¥ 9075 at 10% p.a.,
interest being compounded yearly in a certain
time. The simple interest (in I) on the same
sum for the same time and the same rate is :

¥ 7,500 i qfd1 10%, a1t =skg (g ==ret o W U Fimm
T H T9,075 BT S 1S e H, TH U S oty
H o IR =T (T H ) |

(A) 1480 (B) 1500

(C) 1530 (D) 1520

5.

A sum at a certain rate of simple interest be-
comes ¥ 14880 after 3 years and I 16800 after
5 vears. Find the simple interest on the same
sum at 10% per annum for 4 years (in 3).

TRIT 19 HrER =0 i HfEa W, 3 a6 aE T 14,880
&R 5 =9 715 T 16,800 B WG § | SH O W 10%
w1fes =arel gL 9 4 =9 H Tl | =Aqre (TH ) A e
(A) 4740 (B) 5184

(C) 4860 (D) 4800

A certain sum amounts to ¥ 2,91,600in 2 years
and to ¥ 3,14,928 in 3 years on compound in-
terest compounded annually. How much will be
the simple [nterest (in 3J) on ¥ 40000 at the same
rate for 2 years ?

At T ThglG 5 A TRglE N & W, HiE
T ofn 2 A H T 2,91,600 i3 a4 H T 3,14,928
F =t 8 1% 40,000 i qfer 3 fow a9 ==t st g, 2 7l
# g wEmEm e (T H) I R

(A) 8000 (B) 6400

(C) 7500 (D) 9600

A certain sum becomes ¥ 13650 at 15% p.a.
simple interest after 2 years. What will be the
amount (in ) of the same sum after 1 year at
the same rate of interest, if the interest is com-
pounded half yearly? (nearest to a )

1 5% ATt TI4R0 & T W, T =g o 2 o os T
13650 gl 911 & 99 375 -1k whelG = o T, 9E
T 1 =t A, fFet 5wt (3 H, e ¥ aE)

(A) 10500 (B) 13625

(C) 11000 (D) 12134

A borrowed a sum of ¥ 160000 from B at 10%
per annum simple interest. At the same time
he lent the same sum to C at the same rate on
compound interest, compounded semi-annually
for 2 years. Find the amount (in I) earned by A
in the whole transaction.

A, BH T 160000 =T, 10% 1= TR0 =8 1 5T
R YR 1 ¢ | 35 9H, 9% g U C &l =kglg = &
THM TR 2 7 = o0 SR e § | ST i o7 - A '
Y =kefa e < & 1 S0 oFes § A g e @y (3

) T
(A) 4281 (B) 2840
(C) 4280 (D) 2481
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10.

11.

12.

A man borrowed a certain sum and agrees to
repay it by paying ¥ 4000 at the end of first year
and ¥ 7700 at the end of second vear. If the
rate of compound interest compounded annu-
ally is 10% per annum, then find the sum (in
<) borrowed.

ol =i = whig femra Ul SR =i &R deet = % ot #
T 4000 91 &L A9 % 3d | T 7700 T Y ik 58
T & forg T9R gan | =fs =it w9 9 wswgls T4 e
=l 70 10%, o1t 2, df S i 8w (T H) 0
(A) 10000 (B) 11000

(C) 2000 (D) 11500

What is the difference (in ?) between the simple
interest and the compound interest on a sum

2
of ¥ 8000 for 2 5 years at the rate of 10% p.a.,

when the interest is compounded vearly ?

—r 2 R
7 8000 T UT W 10% THFETH 23 Y H T TR

AT 3R TskellG =11 % sii= AR (TH) T H

(A) 152.80 (B) 155

(C) 150 (D) 147.20

A sum of T 3125 amounts to T 3515.20in 3

years at x% p.a., interest being compounded
yvearly. What will be the simple interest (in 3I)

on the same sum and for the same time at (x +

2% pa’?

T A T | HAT e T T 3,125 U x% oMt
TSN H3 TH T 3,515.20 € WA T I TH T
TIH FEEH (x + 2)% AR T W TR =191 (TH )

By

(A) 562.50 (B) 554

(C)550 (D) 565.50

A sum of money was lent in two parts in the

ratio 4 ; 5 for 4 years and 5 vears respectively,

hoth at the rate of 8% per annum simple inter-

est. If the difference between the interests

earned from the two parts is ¥ 4680, then what

was the total sum lent (in 3J)?

4 ;57 STITE | e 97 TS 9 A 9 4 7 &R 5

T % TETT S 2 e, T T 8% AR TSR wATS
I o TR T2 T B 1 AR S 9 A A S w2
T 4,680 a1l IUR S ME T A (TH) @ AL

(A) 65000 (B) 58500

(C) 42120 (D) 46800

13.

14,

15.

16.

A certain sum amounts to I 81840 in 3 years
add to T92400 in 5 years at X% p.a. under simple
interest. If the rate of interest is becomes (x +
2)%, then in how many years will the same
sum double itself ?

X% WWWW%’%GW# ﬁﬁ’ﬁﬁ?ﬁﬂ 3a9H T
81,840 R 57 HT 92,400 T I § 1 AR AR T (x
+ 2)% B Wt E, & R od # 9gt v wE A S e

ST ?

(A) 8 (B) 20
1

() 125 (D) 10

The interest (in ¥) to be paid on a sum of ¥

2
30000 at 15% p.a. after 25 vears, if interest

compounded yearly, is :
L r = 2 ]
¥ 30000 =t T W 15% =M= T & 27 A

foran I ATen =skgfs =T (T ) T

(A) 12364.50 (B) 16342.50

(C) 13642.50 (D) 14362.50

A loan is to be returned in two equal yearly
instalments. If the rate of interest is 10% p.a.,
compounded annually and each instalment is
T 6534, then the total interest charged (in ¥
is:

TRt BT 1 ST T AT R | AT = | A s
W ufa ad 10% ¥, faat 7o aifie =nkgfs 3meR ©
7l g, 31X Uk fohga T 6534 §, o o 91 el SIS

(TH) 9 =L |
(4) 1579 (B) 1642
(C) 1728 (D) 1867

A sum of T25600 is invested on simple interest
partly at 7% per annum and the remaining at
9% per annum. The total interest at the end of
3 vears is I5832. How much money (in I) was
invested at 9% per annum?

25600 3 YFUTE % Tsh 90T @l 7% A9k S 3 & 9%
@t |rER s W e e s ) i et R sa o
Tl wS T5832 TiaT ¥ | fRat eetr W 9% wfE W

Tt fomen e 7
(A) 7600 (B) 9600
(C) 18000 (D) 16000
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17. At what rate percent per annum will 7200 = It T H WA o T U i it wwafs
amount to T7938 in one year, if interest is com- = 9 TO,500 F i 2 o H T11,495 € A0 E | S
pounded half yearly? o srarfyy # et TR T SR S @ T, EeRe s (€ )
fare1 wfcema =t =wskgfs =< = W, 37,200 o a9 T wE
¥7,938 B SO, Afe AR ST -ATUF T | WA BT (A) 3420 (B) 3990
37 (C) 3800 (D) 4560
(A) 8 (B) 5 20. Atul borrowed a sum of T12000 and agreed to
(C) 10 DI 12 repay it by paying ¥4800 at the end of first vear

18. A ) b d ( ]1“?30800 L0% and 9240 at the end of second year. What is

' person berrowed a sum o at o p-a. the rate of compound interest compounded an-
for 3 years. interest compounded annually. At nually?
the end of two years. he paid a sum of T13268. ST %12 000 T T TR B & of vz 99 3 oim H
At the end 0_f3rdyear, he paid Tx to clear of the 24,800 S gE 7 ¥ s H 29,240 1 A O T
debt. What is the value of x? N a’\‘%ﬂﬁ'ﬁﬂ%l e ST |
T = A 10% o =aafs o e R 230,800 =it TRT T TR TRt '
afer 3 = = forg sur <, o = =nfit = 4 99g7a (A) 12% (B) g%,
= o) Ll - -\’ mﬁ - - -
W%lﬁ@aﬁ&" ‘ ,W?ls,%sﬁnﬁwﬂw (© 10% (D) 8%
febett | e = =6 370 H, e B bt for X by AT 21. What is the difference between the compound
ToFm | x =1 A T =L interest (in¥) compounded yearly and
(A) 26200 (B) 26620 compounded half yearly for 18 months at 20%
(C) 26510 (D) 26400 per annum on a sum of T12,000?

19. A sum of39500 amounts to T11495 in 2 years S il O AGF SR ST bl AR R F
at a rate percent per annum, interest com- Sl €, 1 Wi &% 20% i 5T, T12,000 i iR 18
pounded yearly., What is the simple interest T H W =t sl % s 3tad (T H) 9w
(inT) on the same sum for the same time and (A] 145 (B) 165
double the rate? G121 (D) 132

Solution
1. [D] Clis 5 monthly second sum
15 25 10
- = 2 x5=""0, = i
Then effective rate 15 X P = P+ P(T)= 100 1105 ...()
from eq. (i) and (ii)
25, 1 6 Tx10
4 16 (T+2)x——=
Total time 15 month (5 monthly) = 3 years T _IOOT 100
Total CI=512 x 3 + 32 x 3 +2 = 1634 6T+ 12=10
2. (A) First two year + next 4 years + next 3 years -T =3
=2x8+4x10+3 =12 -
= 92% simple interest o 30 _
92% —5 18358.60 from eq.i) = P+Px 755 = 1105
18358.60 1105
-~ = 100
1= =5 P= T30 1P =180
L8358.60 4, (B) P=7500 Rate = 10%
Principle = — ¢ * 100 A=9075 cl
10
= 19955 1st year C.I. = 7500><ﬁ =750
3. (B) first sum
2nd year C.1 = 750 + 750 x ——
= P+ P (T42)x 7o = 1105 () ne yeart 100
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(D)

B)

(D)

(D)

=750+ 75

SI. for same time & rate

=750 x 2 =1500

2 years Sl = 16800 - 14880 = 1920%

1920
1 years SI = I 9603

amount = 14880 - 960 x 3 = 12000%
4 years int. on 10% per annum

= 12000 x 40 48003
100

314928 - 291600
291600

Int. Rate = x 100

23328
~ 291600
Bx2

in 2 = 40000 x
Total 51 in 2 year 100

x 100 = 894

= 36400

130

P x =13650
0

13650
130

P x100 =10500

15
Now, P = 10500 Rate = o

CI. Halt vearly for one year.

15

1575
Int t. 1st = 10500 —— = ——
nieres 5 200

2
1575 1575 15
+ %
2 2 200

1575 N 118.125
2 2 118.125
Amount= 10500+ 1575+ ———
= 12134.0625 2
Aborrowed 160000 from B at R= 10%, for 2
years at Sl

2nd =

10
Amount = 160000 + 160000x 100 % 2

= 192000

Now, A lent 160000 to C at R = 10% com-
pounded semi annually at CI

Amount =Principle + Interest

Rate 5%

Interest

160000 x >

o = 8000 x 4 = 32000
5
8000 x ——=400x6 =2400
100
5
400 x —=20x4 =80
100

=1x1=1

20 x >
100
Earned By A in whole = 2400+80+1 = 2481

9. (A) Letsun=x

10.(D)

11.(a)

LI

12.(B)

13.(D)

4000 29 47700 x 229
X 11 121

10 10

— 14000+ 700x10| = —

11[ ] T (11000)
10000

Effective rate of C.1. = 25.84%

12
and S.1. for 5 V=

12
3 x 10 =24%

Diff. = 25.84 -24 = 1.84%

3125[1+—3—] =3515.20

100
( x )3 351520
1+ =
100 312500
17576 [gg}s " 26
15625 \25) — 100 25
x= 4%

Simple interest rate = 4% + 2% = 6%
3125x6x3
Sl= ———

100 562.50
400x 500x
Interestonl = 32x = 4
Intereston 2 = 40x % 5
Diff. b/w interest = 4680 =40x x 5-32x x 4
72x= 4680
X =65

Total sum = 900 x 65 = 58500
Sum of amounts in 3 yrs. = §1840

Sum of amounts in 5 yrs. = 92400
Interest of 2 years = 92400 - 81840 = 10560

10560
Interest of 1 year = 5 = 5280
Principle = 81840 -5280 %3
Principle = 81840 - 15840 = 66000
= ¥ = RO
Rate 66000 100 = 8%
Now new rate = 10%
ATQ
Interest = Principle
. [10 .
= Principle x 100 ) * Time

Time = 10 year
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14.{C) Principle = 30000, Rate = 15%
Interest1* year = 30000 x 100 4500
2" year = 30000 x 15 + 4500 x 15
Y 100 100
=4500+ 675
15 15 J
= 4500 x ——
3rd year = 30000 x 100 +2[ 100
15
+
675> 100

15.(C)

16.

17.

= 4500 + 2(675) + 101.25

2
Total interest = 4500 + 4500 + 675 + {4500

3
+ 1350+ 101.25)
=09675+ 3967.5=13642.50
Rate of interest = 10%
Installment = ¥ 6534
Principle = {1* installment)

[ 100 N 100 Y

100+ R ) (#¥ mstallment) X { 15577
6534 x 59 +6534 x 20

e 121

= 5940 + 5400 =11340
Interest = (6534)2 - 11340
=13068-11340=1728
(A) Principle Amount = 25600
It is divided in parts and invested party
at7 Y
Let 100x is invested at rate 7%

7
Int t= 100xx—x3 =21
= Interes 100 X

25600 - 100x invested at rate 9%

9
Interest = {25600 -100x) X ——x 3
nterest = ( ) 100

= (256 x 27)-27x

ATQ, Total Interest
=21x+256x27-27x = 5832
6x=6912-5832=6x=1080=x=180
Money Invested at 9% = 25600-18000

= 7600
. R W
() P[1+m] = A [Compounded half year]
[ ‘T 7938
100 7200
[ ) 41 S t both sid
100 400( quare root hoth side)
R 1 R = 50
TTo0 20 ¢

annually CI Rate = 5% x 2 = 10%
18.(D) Borrow money =3 30800/-
Int. rate = 10% P.A. 1o
End of 2 yr amount = 30800 (1 + ﬁ]
=T 37268 : :
Paid after 2 yr. = 13268
Remaining money = 37268 — 13268 = 24000

Int. on 3* year = 24000 x 100 - 2400
Total paid = 24000 + 2400 =T 26400/
R
P [1 + —] -P
100
P = Principle, , T = time,

—9500(1+—E—T_—11495
B 100/

i
100

R 11
1+ —=—
100 10’

19.(C) C.I. =

R = rate

11495 _
9500

121
100
(Both side square root)

= R=10%

PxRxT

Si le inft. t =
imple interes 100

R=10x2=20%
_ 9500x20x2

100
20.(C) Let compound int. rate = R%

=3I 3800

R Y
-Pl1l+— | -P
c.L ( 100]

R 1
{12000 {1 +m) - 4800} — after 1 year

12000[1+—EL 2—4800 1+—E—]
100 100 )|~ 9240

By option value put R = 10%
Eq. satisfied by opt. C R=10%
21.{D) Effective rate yearly for 18 months

=00+ 10+ 22519 _ 50
| 100 7
Effective rate half-yearly for 18 months (3 yrs)
10%  10% 10%
L 1
21%
33.1% =33.1%
Diff. = 33.1%% - 32% =1.1%
ATQ
= 12000 x 11 =3 132
1000
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SSC CGL (Pre)-2019

< 4,300 becomes T 4,644 in 2 years at simple
interest. Find the principle amount that will
hecome T 10, 104 in 5 years at the same rate of
interest.

TR 57 TR Rt i ot o Wi € % 4,300 =
T T 2 ot # wga T 4,644 81 w6t €1 oot iy
TR =0 51 351 o9 T W 5 7 H wgw T 10,104
B R ?

(A) ¥ 8,420 (B) 7,200

(C)T 5,710 (D)¥9,260

The compound interest on a certain sum at 10%

1
p.a. for 25 vears is T 1,201.60, interest com-

pounded yearly. The sum is :

2 et e 109% s e - o
T U U [iaa iy s =9gfs =T 1,201.60 g/
¥ oz wfa i 7 7

(A) T 5,400 (B)¥4.200

(C) T 4.800 (D) ¥ 4,500

The simple interest on a certain sum at the
end of three years at 5% p.a. is ¥ 1,200, The
compound interest on the same sum for the
same period at the same rate is (interest com-
pounded yearly) :

ek Ffire wfe W 5%, Sftes s51e1 90 T HIER sS4 i
yRfe 19 el % 319 ° ¥ 1200 71 9wl ¥ | 346 i W
THF & T 9y % fau ol = (et w1 o

ThAf5 A ) i IO R |
(A) T 1,260 (B)Z 1,261
(C) T 820 (D) T 1,800

Whal is the compound inlerest on a sum of T 12000

for 2% years at 8% p.a. when the interest is com-
pounded annually ? {(nearesl Lo a rupee)

212000 F T ® z% st 3% ferg 8% i @ & hots
=TS T =11 G, 1l =411 1 A &9 9 Skgls e s
2 7 (Frohaa™ we T a9)

(A)T 2,697 (B) T 2,634

(C)T2,712 (D)T2,642

The difference in compound inlerest ona cerlain sum
al 10% p.a. for one year, when Lhe inleresl is com-
pounded hall yearly and yearly, is T 88.80. Whal is

L2
the simple interest on the same sum for 1 5 yearsat

Lhe same rale ?

forait el o 10% == =91 I U 99 & 31 TG
T A ot T 88.80 ®, v #AS W WAE! i A
STYR TR =ERg 5. {3 e & | S SOt 6, SR S o

2 I [}

™ '1?WWWWWWWI
(A)T5,916
(C)T5,980

(B)Z 5,986
(D)% 35,920

A sum of Rs. 8,000 invested at 10% p.a. amount
of Rs. 9,261 in a certain time, interest com-
pounded half-yvearly. What will be the compound
interest (in Rs.) on the same sum for the same
time at double the earlier rate of interest, when
interest is compounded annully ?

10% =f st 1 = R et 1 7% 8,000 T731 =it T,
T T TR STER T Tt R S W) T A
ST 9,26 1 T BRI € | T oY i S T
ST &% W ST BT AT 1 WHhglg = fokan g, =fg
TS 7l AT SATHR W The(G e Sl &l ?

(A) Rs. 2,520 (B) Rs. 2,480
(C) Rs. 2,560 (D) Rs. 2,500

2
The compound inleresl on a cerlain sum al 16 3 %
p-a. for 3 years is Rs. 6,350. Whal will be Lthe simple
2

interest on the same sum at the same rate of 5 3 years?

. 2 e . -
e TAfeaa ufy = 165% ot o =1 X & 3 =d & o

- = L] - L] 2 et
TH(G AN 6,350 T E | SH T AT AR S a9
3

Torw T T w2

(A)Rs. 10,200
(C) Rs. 11,400

(B)Rs. 7,620
(D) Rs. 9,600

A and B together horrowed a sum of Rs. 51,750
at an interest rate of 7% p.a. compound interest
in such a way that to settle the loan, A paid as
much amount after three years as paid by B af-
ter 4 yvears from the day of borrowing. The sum
(in Rs.) borrowed by A was :

A 3B 7 fHem 7% it =shefs s 50 W 51,750
TR I UMY 39 T | SHR A foh 560 w1 92 e o o,
A A T = % 97 I i e S B A SuR 6 akie
T 3 9% A THEE | A G BHER T T T (T /) w IO
i |

(A) 25,650
(C) 25,000

(B) 26,750
(D) 24,860
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10.

11.

12,

13.

A certain amount of money at compound inter-
est grows to Rs. 66,550 in 3 years and Rs. 73,205
in 4 years. The rate percent per annum is :

T TiY=a ¥t =Rare = T 3 99 1 66,650 T iR
499H 73,205 T B OGS | AU oA < A9 Rt
g7

(A) 10% (B) 5%
(C) 9% (D) 11%
What will be the difference in compound inter-

est on a sum of Rs. 7,800 at 8% for 1 year, when
the interest is paid vearly and half yearly ?

WA T W, T S TET ST 9T e e - wy,
AT 7,800 TIA T 8% TNHF =19 F1 T T 1 T9 F ARG
TS H T ST BT 2

(A) Rs.29.18 (B) Rs. 12.48
(C) Rs. 24.72 (D) Rs. 19.46
Amit borrowed a sum of Rs. 25,000 on simple

interest. Bhola borrowed the same amount on
compound interest (interest compounded yearly).
At the end of 2 years, Bhola had to pay Rs. 160
more interest than Amit. The rate of interest
charged per annum is :

SR F TR S T 25,000 F R TUR T A
AR B AT TRl #AT (AT ST9R T =HRais o ael)
IR E | 2 T8 T &7 H, el = ST = ger | 160 TH
STTeTe, ST 21 TST | A= #1 < 0 Fie |

16
(A] %tyo [B] 8%
8 , 1
— % 3 =%
(€) 5% (D) 3%
the rate of simple interest on a sum of money is

5% p.a. for the first 4 years, 8% p.a. for the next
3 years and 10% p.a. for the period bheyond 7
yvears. Ifthe simple interest accured by the sum
over a period of 10 years is Rs. 1850, then the
sum is :

ToREt ST TR |THE =491 ok &Y T8 4 91 ok AU 5%
afiiek 8, 37TC 3 a1 o TeTu 8% w1fteh & 3ilX 7 Aot 9 ifu®
i Tty % faw 109% =ifi= % | afg 10 =i =i sty 9 39
ST A SAfea JrEm ==eT 1850 T €, 1 | SeRte o
77

{A) 1,500 (B) 2,730
(C) 1,650 (D) 2,500
The simple interest on a sum of ¥ 50,000 at the

end of two years is T 4,000, What would be the
compound interest on the same sum at the same
rate for the same period ?

14,

15.

16.

17.

18.

T 50,000 =i T= T W7 94 F &0 F wWamm = T
4000 9T g1 2 | 81 Uf3 R 9 27air & forg a9 =3

T W =hRGlG =T F T ?
(A) T 4,040 (B) T 4,080
(C) T 4,008 (D) ¥ 8,000

Ifin 13 years a fixed sum doubles at simple in-
terest, what will be the interest rate per vear ?
(correct to two decimal places)

AR T Tt oty S e g 9 13 9 H S e
A E, AT A S T T | (T W ST T

HE)
(A) 7.69% (B) 7.92%
(C) 8.69% (D) 7.29%

When two equal amounts are deposited for 5
years and 3 yvears at the rate of 7% and 9% per
annum respectively, and the difference of their
simple interest is Rs. 47 5. Then find the depos-
ited amount.

T T FAM ST A 5 W 99 3 Wl F T 7% a9
9%, Wid =4 ki &L T STHT FLAE] STl &, 769 S99 JER
=l 1 A 475 $99 %, °1 991 T T S Fe |
(A) Rs. 5,937.5 (B) Rs. 5,837.5

(C) Rs. 6,037.5 (D) Rs. 5,992.5

Thesimple inlerest ona swm of money [or3 years al an
inlerest rale of 6% p.a. is T 6,730. Whal will be Lhe
compound inlerest rounded off on the same swm al the
same rale for the same period, compounded annnally
isosesl Lo

37 o T80 6% AT SATe T T WA 191 TR TR e T
6750 B STI1 % | =fe et =i tian Heifsra gian &, dl 4 ufe o
T W W I g I H Tokgls sAare FekedH .
(A)Rs. 7,163 (B)Rs. 7,103
(O)Rs. 7,133 (D)Rs. 7,663

A certain sum amounts to Rs. 280900 in 2 years
at 6% per annum, interst compounded annu-
ally. The sum is ;

T TF WA 6% TNOF Tl = (S &0 W) F 5T
T 2 99t # 280900 9 B 9T ¥ | T% I T4 F o |
(A) Rs. 200000 (B) Rs. 250000

(C) Rs. 550000 (D) Rs. 350000

The compound interest on a certain sum at the end of
two years is Rs.408. The simple interest on the same
sum for the same time is Rs. 400. The rate of interest per
annutm 1s ;

%1 =9 % 310 H iy afe W= =shgle == 408 w9 g
¥ 1 SEit evafia ¥ form T i T wrem s 400 T E
I AT =2 T o |
(A)8%

(C)40%

(B)4%
(D) 80%
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Solution
4300 R X2 4, (A) Rale=28% Time =2 3
L@ 3= = 5
R= 4% Rale for 3rd year=8 x — =5%
' Compounded Rate of Interest =22.472%
PX2%5 o4
= = : 22472
100 CI =12000 % 100 = 2696.64 = 2697
120 .
=P- ——P =10104 57
100 5 (D) P 0! = 88.80
10104 <10
=P= ]7;( p= 8880 > 100
= P =58420 P %55‘;[;"
1 1 i
2. () Rate=10¢ 10 Time 3 - 03 = 35920
Lel P =1000 6. (C) P=800,T=3/2years, R =20%
6 11
1000 A:goooxgx o
1
V'lU A = Rs, 10560
200= 2100 x 1 =100 C.I. = Rs. 2660
5 2 1
3 7. (A] ]_6 :(%:- = g
—_ - [y - 3
10—1><10L><2 20 Let P= 216
10
h 80, 216
1x1=1 )
I+
2 years CI =200+ 10 =210 36%x3 = 108
3rd year CI=121 l’ 1
6
1 121 1 =
Tolal CI for 2; voars = 210 + S 250; 6J13 18 127
B
5] ) o 120160 1x1=1
—=1201.60 = 1T unit = ——— x
3 751 127 = 6350
1201.60 1=50
P = 1000 unil = 751 x 3 x 1000 S0, P=216 x 50 = 10800
iy 10800 x50 x17
= P =4800 sl = 100 %3 %3 = 10200
Px5x3
3. B ——— 21200 8. (B A B
100 _ \ -
7 7
P = 8000 a[1+—J (51750 - a) {1+—]
CI for 3 vear Rale = 5% _ 100 100 _
21X21X21 e a B 107
8000 = % 5 E_ng)l 51750 —-a _ 100
Cl =9261 - 8000 = 1261 7 ) L
a =557 x 51750 = T 26,730

Study Center : Jaipur » Gopalpura » Lalkethi » Jhotwara » Ambabari » Udaipur « Alwar



Mother's Previous Yeor Questions Booklet = Simple &Compound Interest

9. (A ATQ,
( 13. (B R% 400 %100
r y °= 50,000%2
66550 [1 + ﬁ] = 73205 20,0002
R%=4% 4 ¥
CI = 50,000 [1 + —] - 50,000
73205 ’ 100 ’
1+ 700 ~ 66550 - 4080 |
14. {A) In 13 year — double {100% interest)
o 11 100
1+ 750 " 10 In one year = —— = 7.69%
r=10% 15. (A) Totalinterest = 35% and 27%
10. (B) Compound interest for half yearly 8% =T 475 (given)
> 100% =T 5937.5
= 7800 [1+i _ 7800 [1 + i} 16. (A) Time =3 years, Rale=6%
100 100 Interest =6 x 3="18%
(for one year Cl and Sl is equal) 18% = 6750
=Rs. 12.48 Principal 100% = 37500
Clal same Lime and same rale
R T
1. (B) P {—} =160 106 106 106 -
100 —X—x——=375(1)
700 2007700 1007
R T = 7613
25000[ } =160
100 & T
I+—| =2
| 17. (B) ATQ.P { 100} 280900
[P;T __16
100 2500 53T
P [%} = 280900
V.
100~ 50 2809
R =g P x 2500 280900
12. (D) R = 5% for first 4 year, 8% for the new year P = 250000
for next 3 year 10% 18. (B) Clfor 2 year = 408
4 — 5% — 20% SI of 2 year = 400
3 = 8% — 24% S
3 - 10% — 30%
Total Interest = 20+ 24 + 30 =74% 200 200
74%, = 1850 Required rate of Interest
1% = 25 3
sum = 2500 = 200 <100 =4%
HEAD OFFICE : 201, Himmat Nagar, Gopalpura Mode, Tonk Road, Jaipur-302018
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SSC CGL (Pre)-2018

The difference between the compound inter-
est and simple interest on Ix at 11% per an-
num for 2 years is ¥ 60.50. What is the value of
x?
1 1% Hfeere =1 <0 & 2 =81 5 Ty Tx R =Thgfs = 3
HIYNO] =791 1 A< T 60.50 T, 1l X 1 JIF =5 1 7

13 June, 2019 (Shift : I)
(A) 4800 (B) 4000
(C) 5000 (D) 4500
The difference between compound interest and
simple interest on ¥ x at 15% per annum for 2
yvears is ¥ 9. What is the value of x?
15% 7f = &1 A 2 =9 o {0 T x R =kl = siR
TR 209 1 SR QT | T AT TG 7

13 June, 2019 (Shift : 1I)
(A) 600 (B) 400
(C)450 (D) 500
If a sum amounts to 32,190 in four years and I
2,409 in five years at compound interest, when
the interest is compounded vearly. then the
annual rate of interest is:
afs T fe =skgis =T gR 4 =i § 3 2,190 i s anf +
T 2,409 71 WAl €, Sl =1 Aftes et gian g,

AHFE AR 13 June, 2019 (Shift : II)
() 8% (B) 10%
(C) 9% (D) 11%

The differnce between the compound interest
and simple interest on ¥ x at 12% per annum

for 2 yvears is ¥ 43.20. What is the value of x ?
2 =7t 5 e 12%% o o i o & ¥ x W Thgls = SR
T =471 o o1 31 AT 43.20 T I x e F T ?
12 June, 2019 (Shift : I)
(A) 2400 (B) 2800
(C) 3000 (D) 2500
The difference hetween compound interest and
simple interest on ¥ x at 8% per annum for 2
vears is ¥ 48. What is the value of x ?
2 91 % U 8% wfH o Ft W H T x T IRGG oA ¢
TR ST 3 S SARI 48 T\ x T A FNE ?
12 June, 2019 (Shift : )
(A) 8000 (B) 7500
(C) 7400 (D) 7800
The difference between the compound inter-
est and simple interest on ¥ x at 7% per an-
num for 2 years is ¥ 24.50. What is the value of
x?

10.

11.

2 7t % T 7% wftad =it e H T x T RaiE o Sl
TR ST 2 o ] S T 24,50 F | x T AT FE ?
12 June, 2019 (Shift : 1T}
(A) 5,400 (B) 4,800
(C) 5,000 (D) 6,000
The ditference between the compound inter-
est and simple intererst on T x at 8.5% per an-
num for 2 years is ¥ 28.90. The value of x is:
T x I TF T W 8.5% Ft @ H T o6 7 T wmwats =
ST AT =T w7 S T 28.90 ¥ | X W HH FEm 2
11 June, 2019 (Shift : I)
(A) 3500 (B) 3800
(C) 4000 (D) 4500
The ditference between the compound inter-
est and simple interest on ¥ x at 7.5% per an-
num for 2 year is T 45. What is the value of x?
T T AR 7.5% F W QAT F A0 gt o 2N
HTYRT TS il HR T 45 T | x I AH 941 G ?
11 June, 2019 {Shift : 1I)
(A) T7.000 (B) T8,000
(C) 9,000 (D) T 10,000
The difference bhetween the compound inter-
est and simple interest on ¥ x at 20% per an-
num for 2 years is¥ 147.5. What is the value of x?
2 ot o T 20% wfa o =1 X H T x R =kl =t siRk
YR ST % o1 1 SR T 147.5 % | x 7 od 5§ ?
11 June, 2019 (Shift : II)

(A) T 3,687.50 (B) ¥ 3,587.50
(C) T 3,685.50 (D) T 3,487.50

A sum amounts to ¥ 18,600 after 3 vears and to
T 27,900 after 6 years, at a certain rate per-
cent P.a., when the interest is compounded
annually. The sum is:
g A TF Mg aftE ) givm W), 3 99 % 9% T
1,8600 371 6 =f 3 A% ¥ 27,900 T SIMT ¥, W& <11 WA
TS R SR W AT R 7 June, 2019 (Shift : I)
(A)T 11,800 (B) %12, 400
(C) T 14,400 (D) ¥ 14,600
A sum of T x was borrowed and paid back in two
equal vearly instalments, each of 35,280, If
the rate of interest was 5%, compounded an-
nually, then the value of x is:
¥ x ki Tk I SR T 3R 5991 T35,280 % 3l S
T PRyt | T R T | 3 S ST 5% A
oft, ST =aTal At Fatfera o, a7 x = Jod 3

7 June, 2019 (Shift : II)
(A) 64,400

(C) 64,800 (D) 65,400
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12.

13.

14.

15.

16.

What is the compound interest on a sum of I

8,100 for 1% yvears at 8% per annum, If the
interest is compounded S-monthly? [ Nearestto
)]

¥ 8,100 = T W = F AW 8 wRIIE oA oo A W H
=Tkl AT 9T G, STelfoh SATe Wi 5-HIg T Haiferd § 7

(T 18 Hefamm) 7 June, 2019 (Shift : I}
(A) T 837 (B)T 873
(C) T 842 (D) Z 824

A sum of T 12,000 amounts of ¥ 20,736 in 3
vears at a certain rate percent per annum, in-
terest compounded annually. What will amount
of the same sum of in 2 years at the same rate

on compound interest ?

T i Tl =t oo = e 3 =6l # T 12,000
4T 20,736 g Sl &, SafH sat anfiep weifs g §)
TSRS TS O T T H 2 o H o Uiy TR g7 St ?
10 June, 2019 (Shift : I)
(B) 17,820

(D) T 14,520

(A) ¥15,640
(C) 17,280
The ditference between the compound inter-

est and simple interest on T x at 8% per an-
num for 2 years is ¥ 19.20. Whatis the value of

x?
T x I T TR 8% TRIEE i 5T H 7199 2 160 a5
15T S WY =751 ol 3L T 19.20 &1 X =0 71 31

T ? 10 June, 2019 (Shift : Ij
(A) 2500 (B) 3200
(C) 2800 (D) 3000

The ditference between the compound inter-

est and simple interest on ¥ x at 9% per an-

num for 2 yearsis ¥ 20.25. What is the value of

x?

T X H W U R OY% I W T A9 & {7 =nwgls =

ST FEm = == S T 20.25 ¥ | x I HE TR ?
10 June, 2019 (Shift : IIT)

{A) 2,800 (B) 2,400

(C) 2,200 (D) 2,500

A sum of T 15000 is lent at 16% p.a. compound

interest. What is the difference hetween the

compound interest for the second year and the

third year?

17.

18,

19,

20.

T 15,000 i TF I 16% AfHE Tekals == W 39R f§=
SR E | A A S TR A9 % forg wkegfs == & 3T 9

%2 6 June, 2019 (Shift : I)
(A) T 544 (B) T 445.44
(C) T454.88 (D) Z 548

What is the compound interest on a sum of

5
10,000 at 14% p.a. for Q? yvears where the

interest is compounded vearly? (nearest to ¥1)

Lael L o 5 Rty
< 10,000 F T R 14% Fa o w52 W 2; ke e A P =¥

sl TR I, Siafeh =are aives w9 § Geifea gidl g ?

(T 1% =) 6 June, 2019 (Shift : II)
(A) T 4,259 (B) T 4,296
(C) T 4,439 (D) 2 4,394

A person borrowed a certain sum at 10% p.a.
for three years, interest being compounded
annually. At the end of two vears, he repaid a
sum of ¥ 6,634 and at the end of the third year,
he cleared off the debt by paving I 13,200. What

was the sum borrowed by him

Tt =t 7w Tfv=a ufer 109 =ift st R = o g,
TYMN T, STEh =H1eT St GEifsa o1l €1 =Y vIEe S9
6,634 I AT o1 SR TR 99 % sia # 59 313,200
T SFTAM = T T A T | S 5 S HE et T T

ot 6 June, 2019 (Shift : III)
(A) ¥ 16,400 (B) T 15,400
()T 15,600 (D) T 16,500

A sum amounts to T 8,028 in 3 years and to T
12,042 in 6 years at a certain rate percent per
annum, when the interest is compounded
yearly. The sum is :

FIE M T v wfaem = e w3 6t | T 8,028
& 6 Tl ¥ T 12,042 %1 S &, T oA At war & |

e ? 4 June, 2019 (Shift : I)
(A) T 5,352 (B) T 5,235
(C) 5,325 (D)% 5,253

The compound interest on a certain sum in

1
25 years at 10% p.a., interest compounded
vearly, is ¥ 1,623. The sum is:
10% wf1 =d i Shefs == w § B e afe -
1 e i PN =
27 oo H A E 1,623 €, 4 oA At watea § 1
Tfe 1 2T 7

(A)Z 5,000
(C) T6,500

4 June, 2019 (Shift : II)
(B) 6,000
(D) T 7,200
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Solution
. 11x11 15
1. (C) Effective Rateof CI=11+ 11+ 100 8 (B) R=7.5%-= >
=22+121=2321% 15 15
- L —x =
: 60.50 Effective rate of CI= 12 15 2 2
Effective Rate of S[ = 22% P = 1o x 100 2 2 100
: =15+ 0.05625=15.5625
5 Effective rate of S = 15
6_1(_);0 x 100 = 5000 45
x= —x 100 = 8000
15% 15 0.5625
2. (B) Effective Rate of CI= 15+ 15 + 9. (A) Effective Rate of CI =20+ 20+ 20 x 20/100
100 =44 9
=30+2.25=>32.25% Effective Rate of S1 = 2 x 20 = 40%
Effective Rate of SI = 15+ 15 =30 1475
x= X100 = 3687.50
9 200 4
x= ——x100 = ——x100 = 400
2.25 225  18600x 18600
3. (B) Aswe know that 10,0 (B) P= —— oy - 12400
Amountinsubsequent year _14 R 1000 . 100
Amounlin previous vear 100 11. (B) x=35280 x 105 105
2409 R R 219 x=365600
— =1+ = —=— =
2190 100 100 2190 1 2- W P! 0%
= 1
R= 10.% T =1-— vears or 3 years (5 monthly)
4. (C) Effective Rate of CI 4 )
12 .
—12+12+ = 25.44% Re B 5224519y
Effective Rate of 3[ = 2 x 12 =24 % 12 ? 3
10 1
o= B 400 = 3000 =R 00 30
* p A
5. (B) Effective Rate of CI =8+ 8+ 8 x 8/100 30° 31°
=16.64% 8100
. - = o, = — 7 (318 =
Eﬁ'ec:;;ve Rate of SI =2 x 8 = 16" For 3 years CI 0% 3030 ><( { )
X= Ger 100 =7500 8100
0.64 B = ———x2791 = 837
6, (C) EFFECTIVERATEOF CI=7+7 + 7x7/100 27000
=14.49% 13. (C) Given,
EFFECTIVE RATEQF 851 =2 x 7= 14% P =12000; A=20736
) Using basic formula of compound interest
X = 2450 * 100 = 5000
049 20736 (1+ R )‘*
7. () Bective rate ofc1 - L 20 27 L e
N (8 ective rate o > T T T o 16 R Y
=17 +0.7225=17.7225 125 :(IJFEJ
Effective rate of SI= 17
6 R
! —_— - = — = 20>
290 100 = 4000 5 17100 TRT20%

= 0725
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14. (D)
15. (D)
16. (B)
17. (B)

A=12000 1+ 20 )7
= » _
100

6 6
= 12000 x gxg = 480 x 36 = 17280

Effective Rate of CI=8 + 8 + 8 X8 = 16.64%,
100

Effective Rate of SI1 =8 x 2 = 16%

Difference between both rates

=16.64-16 = 0.64%

0.64

Hence, x= x 100 = 3000

. I9x9
Effective rate of CI =9 +9 + 100 =18.81

Effective rate of SI = 18%

_20.25

0.81
I 1T

2400 2400
384
Diff, = 829.44 - 384
=445.44
| II I1I
1400 1400 1400

196 419‘44:| X;

Total CI =
Addition of all these interests
= 4295.6 = 4296

x 100 = 2500

111
2400
829 .44

X

18.

19.

20.

(B) ATQ,

B)

10 . |110
P[’I +@] —6634}m= 13200
Px12l . 132000
100 1
P_T(;Uzl —6634 = 12000
P21 _ 15634
P = 15400

12042 = P(1+—)

8028 = P R
- 100

Q) B 12042_[1 R )

= 1+—
8028 100

Putting (Ier] in eq. (ii)

12042

8028 = P
— A * 78028

= P=05352

By option let principal is 6000

600 600 600 ’
60 120 | x =
) 2

6

1260+ 300+60+3=1623

HEAD OFFICE : 201, Himmat Nagar, Gopalpura Mode, Tonk Road, Jaipur-302018
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A person lent certain sum of money at 5% per
annum simple interest and in 15 year the in-
terest amounted to Rs 250 less than the sum
lent. what was the sum lent (in Rs) ?

& =t et Ffaa ufl =1 5% =01 =nftis <0 9 =rana
= TSR Xq1 & a1 15% ol | Feifer ==t i ta
TYR & A H 250 F FH T SUR S T T U (FH)
TR oft 2

(A) 1000 (B) 1500

(C) 2400 (D) 3000

What is the compound interest (in Rs) for 1 year
on a sum of Rs 20000 at the rate of 40% per
annum compounding half yearly?

20000 F. T 40% =t AHF =2 T 2TeaftiF TEmem w T T
T TR T (W) TG 7

(A) 8000 (B) 8650

(C) 8750 (D) 8800

The compound interest earned in two years at
12% per annum is Rs10176. What is the sum
(in Rs) invested?

129 ofa o =t 5T ¥ 2 =t o fow =1iia wRgfs =
10176 & T | Fom 7t % i (= |/) | e?

(A) S0000

(B) 60000

(C) 40000

(D) 80000

The simple and compound interest that can he
earned in two years at the same rate is Rs 4000
and Rs 4180 respectively. What is the rate (per-
cent per annum)j of interest?

T N H FEE S W A & TR S e sk
THITE TS AW 4000 T AN 4180 T ¥ =H
(% Wi =) foreit &2

(A) 18 (B) 4.5

(Cyo (D) 12

A certain sum of money double itselfin 5 vears
at simple interest. In how many years it will
he four times?

5 a9 H e ff=a ufe s =i i 50 9 = ®@w E
&1 St 7 | foat A | o =R g S 2

(A) 5 (B) 8

(C) 10 (D) 15

6.

10.

The difference of compound interest and simple
interest for 3 years and for 2 years are in ratio
23:7 respectively. What is rate of interest per
annum (in%,) ?

3 7 % 7 aen 2 o F R werafs =t o7 SR e
% ST9 % START =1 STTATT HH: 23: 7 T | =791 ki AR G
(%9 ) forett & 7

(A) 200/7 (B) L00/7

(C)300/7 (D) 400/7

A sum of money was lent at simple interest at
certain rate for 3 years. Had it been lent at
2.9% per annum higher rate, it would have
fetched Rs. 540 more. The money lent was.
RS SRR TR = P T T 3 o R R e
T | Afs 39 2.5% Afe s1fee 5 R U f&ay T At
540%. 314k =71 UTH 21T | SER 31 =i afy off 7

(A) Rs. 6400 (B) Rs. 6472

(C) Rs. 6840 (D) Rs. 7200

The ditference between the compound inter-
est compounding half vearly for 1 year and the
simple interest for 1 year on a certain sum of
money lent out at 8% per annum is Rs 64. What
is the sum (in Rs)?

179 =skelg =T § Tt ffvam afe =1 sar 39 W 8% =i
I T T STEAGF Ao T TG AT A T
=S % 10 1 =9 § 64 &, ol ST AT | S0 (& H)

FNE?
(A) 40000 (B) 42000
(C) 44000 (D) 44800

[f Rs 2500 becomes to Rs 2970.25 in 2 years at
compound interest compounded annually, then
what is the yearly rate of interest {in %)?

=& 2500 F. AT § whgl4 S A SEe 9 2970.25
F. AW €, 9 AftE AR (% H) P g 2

(A)7 (B) 9

(C) 11 (D) 13

A certain sum of money amounts to R 918 in
2 yvears and Rs 969 in 3.5 years at simple in-
terest. What is the rate of interest (in %0)?

T Ffvam of weamm e S A H 918 ® q
35T H 969 F. B AME | ST RIS (% H ) FE 7

(€) 6 (D) &

Study Center : Jaipur » Gopalpura » Lalkethi » Jhotwara » Ambabari » Udaipur « Alwar
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11.

12.

13.

14.

15.

A person lent Rs 10000 to B for 3 years and Rs
6000 to C for 4 years on simple interest at same
rate of interest and received Rs 5400 in all from
both of them as interest. What is the rate of
interest (in %)?

Uk = B i 3 941 % 10 10000 &, 791 C 71 4 991 55 feg
6000 T, FAM 5L T TR &7 W S9N 341 € a1 541 9
Ol 5400 B, S & B H WH AT E | ST i 7 (% H)

FNE?
(A) 10 (B) 12.5
(C) 15 (D) 20

A sum of ¥ 400 becomes T 448 at simple inter-
estin 2 years. In how many yvears will the sum
of T 550 amounts to ¥ 682 at the same rate?

T 400 i ek ATH T =i & HER0 =0T S H T 448 7
STRIT 2 | T 2% H Toha= a9t 550 3h1 U9 T 682 &1 ST 7
(A) 2 (B) 3

{C)3.5 (D) 4

For an amount, simple interest at the rate of
interest of 12% per annum for 6 years is Rs
25920, What will be the compound interest (in
Rs] on same amount at the rate of interest of
8% per annum compounding annually for 2
years?

Wk T L 12% <kl A 5L H & T BT HIE <4157 25920
.8 | SH T TR 8% A W AR A T 2 T
= RIS S (F. H ) |EAT 2

(A) 4326.3 (B) 5563.4

(C) 5888.6 (D) 5990.4

If a certain sum of money doubles itself in 7
vears 8 months at simple interest, then what
will be the yearly rate of interest (in %)?

+fg 7 &1 8 "fe=l d HIERoT sS4 =i 1 W T A ufy
A 9 AT B S, a1 A =17 52 (% ) 7 g 7

3 1
(a) 18 (B) 13
(C) 26% (D) 30

Simple Interest received by a person in 10
yvears on a principal of Rs 9500 is 130% of the
principal. What is the rate of interest (in %)
per annum?

T =A% A 10 76T A 9500 F, F HOHA T AT 1 130%
HHI =TS WTH TR % | o el whi e e (% H ) Y ?
(A) 12 (B) 13

{C) 15 (D) 19

16.

17.

18.

19,

20.

The difference hetween compound interest and
simple interest on a sum for 2 year at 20% per
annum is Rs 200, [f the interest is compounded
half yearly, then what is the difference (in Rs)
hetween compound and simple interest for 1+
year?

20% Tt TMEF T W =HRITG A TN LT = H 2
AT %1 SR 200 & ¢ | Afc =7t 1 Haer e g, @
et T % TS T W o W PR o (F ) § 2
(A) 50 (B) 75

(C) 100 (D) 150

If a certain sum of money become thrice of it-
gself in 5 years 4 months at simple interest,
then what will be the yearly rate of interest (in
%P

A% 5 9 4 TEFAT A WEN A F 5L A TF AeEm v
o 9 i € W 8, O A et (% H ) e 2
(A) 18.75 (B)27.5

(C) 37.5 (D) 42.25

A person invested a total sum of Rs 7900 in
three different schemes of simple interest at
3%, 5% and 8% per annum. At the end of one
yvear he got same interest in all three schemes.
What is the money (in Rs) invested at 3% ?
Tk e 7900 F. i e UFE 1 TR =471 il Ak &
3%, 5% T 8% ST A Areedi F o L & | UR A
o 370 H 3 A AT Y 9HH SIS U T3 1| 3% ®iwX
TR IR 50 T A T A (% H) R g 2

(A) 2900 (B) 3500

(C) 4000 (D) 3600

A sum amounts to Rs 7727.104 at the rate of
12% per annum compounded annually after
three yvears. What is the value of principal (in
Rg)?

T TR 12% =t orw X § 3 7 =1 Afes weitor
R7727.104 EF AN L | AL F T (B H) 1 7
(A) 5000 (B) 5200

(C) 5350 (D) 5500

A person lent certain sum of money at 10% per
annum simple interest. In 20 years the inter-
est amounted to Rs 500 more than the sum
lent. What was the sum lent (in Rs) ?

T, T TRt TATemm Of =1 10% = it ot § Jemm
ST I SHR 341 2 | 20 =6 F HaEifom =1 w1 ufd, 3UR <
T T E 500 T A T € | IR T U (T H)
F AT 7
(A) 200
(C) 1000

(B) 500
(D) 250
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21.

22,

23.

24,

25.

Rohan borrowed a certain sum of money at
simple interest. Rate of interest was 3% per
annum for first 3 yvears, 4% per annum for next
5 yvears and 6% per annum for next 7 years. If
he paid Rs 2059 as interest, then what is the
sum borrowed (in Rs)?

et W Tafra Tfer =1 SewoT saret W SYR o1 § | 59 ki
W UEA 3 T = o 3% @i, =1e 5 ol % g 4%
A= e o7t 7 =t R 6% w19 9% 2059 ®
TR F T H THEE, WS A T (FH) w2
(A) 2400 (B) 2500

(C) 2900 (D) 3100

What is the difference (in Rs) between the com-
pound interests on Rs. 4000 for 1 year at 12%
per annum compounded vearly and half-yearly?
1 ¥ % T 4000 F. AR 12% TS =51 il &
T W Tt o1 T e (T W) § o ofetErm 2
(A) 14.4 (B)12.4

(C) 10.4 (D) 16.4

If the amount received at the end of 2nd and
3rd yvear as Compound Interest on a certain
Principal is Rs 2100, and Rs 2268 respectively,
what is the rate {in %) of interest?

oz ww Ffyas gorem W Tl =0 510 5 @R
TR T WTH A ST T FRE 2100 T HRX 2268 F
&, T AT < (% H) 71 S ?

(A)7 (B)8

(C)o (D) 10

If in 2 years at simple interest the principal
increases by 18% what will be the compound
interest (in Rs) earned on Rs 7000 in 3 years
at the same rate?

ST 2 T7f W WY oA i 5T @ Hee 18% W g,
a1 7000 & W 3 =Tl ° 3 X R A Thgfs =N (B

) g ?
(A) 1865.2 (B) 2065.2
(C) 1965.2 (D) 1765.2

The simple and compound interest that can he
earned in two years at the same rate isT 1500
and T 1575 respectively. What is the rate (%
per annum) of interest?

T AN H AR W W AN BT Al AR SR
ThIfs =TS SFAS: T 1500 3 T 1575 § | 541 ©X
(% wfa o) fopat & 2

(A) 8 (B) 10

(C)12 (D) 5

If compound interest received on a certain
amount in the 2* year is Rs 1200, what will be

the compound interest (in Rs) for the 4" year
on the same amount at 10% rate interest?

27.

28.

29,

30.

31.

77 TR T i R IR = W weRats = 1200
FE, I SH AR 10% =R S = 6 = TwmG S

=S (T H) ToRe g 7
(A) 1452 (B) 1320
(C) 1552 (D) 1420

The compound interest earned in two years at
15% per annum is Rs 20640, What is the sum
invested (in Rs)?

T AE H 15% AT # e 9 STfe wRghs e 20640
w2 FEw = w ufy (v 9) i g ?

(A) 64000 (B) 60000

{C) 56000 (D) 52000

Ganesh invested an amount of Rs x in a fixed
deposit scheme offering 5% per annum for 1st
vear and 15% per annum for 2nd year and re-
ceived an amount of Rs 9600 after two years.
What is the value of x (in Rsg)?

O 5 Uk eI ST S A x B ki Ui = Taet A
2 Ferm 59 W O = =2 © ST gER 9 % T 155 v o #
TR e e o1 <7 |6t AR 9600 T i A W | x
(& H) B AAFE?

(A) 9000 (B) 8000

(C) 8500 (D) 8200

If the amount received at 10% per annum Com-
pound interest after 3 yrs is Rs 19965, then
what will have been the principal {(in Rs)
amount?

3% 3 T AE 10% T TH TG TS T T 19965 F.
2 drgeraE ot (F. F) Fn @ g ?

(A) 16000 (B) 15000

(C) 17000 (D) 18000

An amount fetched a total simple interest of
Rs. 3200 at the rate of 6.25 %% /yr in 4 years.
What is the amount (in Rg)?

W I = 4 |67 H 6.25%/90 1 51 F 3200 F. 1 Th
T TS AT | 9 T (F H ) R e ?

{A) 13800 (B) 11800

(C) 12800 (D) 14800

If in 3 years at simple interest the principal
increases by 18%, what will be the compound
interest (in Rs) earned on Rs. 25,000 1n 3 years
at the same rate?

=1fe 3 ol & TR A R AAE 18% 9 7g w1 &, 1 36
T 3 | H 25,000 F T 170 =eats < (F, B )
B2
(A)4775.4
(C)4557.4

(B) 5774.4
(D) 5575.4
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32.

33.

34.

35.

37.

At what rate of compound interest (in %) per
annum will a sum of ¥ 15,000 become Rs,
18,150 in 2 years?

YT TG RGN & TR R (6 H ) T2 T H 15,000 ®

=1 afe 18150 &1 A9 7
(A) 11 (B) 10
(C)9 (D) 12

If the amount received at the end of 2nd and
3rd yvear at Compound Interest on a certain
Principal is Rs 1,800, and Rs 1,926 respectively,
what is the rate of interest?

=fe Uk Feed qaa W SwgiE s W A T 99
37a | WTE 1 7S i e T 1,800 3R T 1,926 7, A1 &4

TR X FAE 7
(A) 7.5% (B) 7%
(C) 6% (D) 6.5%

In 4 years at simple interest the principal in-
creases by 32%. What will be the compound
interest earned (in Rs) on Rs. 24,000 in 3 years
at the same rate?

A 4 FE H FERT S R AT 32% § 9% 9, 9
THET TR 2 T H 24,000 T W TG wRghE w0 (F. 5 )

FIE ?
(A) 5233 (B) 6332
(C) 5332 (D) 6233

The amount received at 10% per annum Com-
pound interest after 3 yrs is Rs 3324, What was
the principal {(in Rs)?

3 =8 5 918 10% Afd =4 Sehef oA T AT U 5324 T
I (T H ) 9 941 7

(A) 4100 (B) 4200

(C) 4000 (D) 4300

The simple and compound interest that can be
earned in two years at the same rate is Rs 1,000
and Rs 1,040 respectively. What is the rate (per-
cent per annum) of interest?

|HI 3R THgtE =, o 5 ae § o v eifsa
ToF0 1 WA §, T8 WHI: 1,000 T 1,040 ® ¥ | T
W (wwfaad ) fra g ?

{A) 9 (B) 10

(C) 8 (D) 11

If compound interest received on a certain
amount in the 3rd year is Rs. 1,240, what will
be the compound interest {(in Rs) for the 4th
vear on the same amount at 9% rate of inter-
est?

38.

39,

41.

42,

R O TAfeem Aty Wit = # wm wskeis =T 1, 240
T E, A TE T W 9% = = R A 9§ wm wEats
== (% H) FTEm 7

(A) 1245.6 (B) 1521.6

(C) 1351.6 (D) 1220.6

A sum fetched a total simple interest of Rs 1200
at the rate of 7.5%/yr in 4 years. What is the
sum (in Rs)?

T AR A 4 FAH 7.5% T8 X H 1200 = WERA
=1 e o | A ufe (B H) g ?

(A) 4000 (B) 6000

(C) 8000 (D) 7500

Albert invested an amount of X rupeesin a fixed
deposit scheme offering 10% per annum for 1st
year and 15% per annum for 2nd yvear and re-
ceived an amount of Rs 20,240 after the two
years. What is x (in Rs)?

sTeae = W Taf¥eg = Fer | x T3 Ui E 1 99 F
7 10% Wi =79 Bt 5L 9 SR @ o 15% i A Fom T
= T 91 20,240 T F AN T FN X (F.H) F0E ?
(A) 15000 (B) 16000

(C) 14000 (D) 18000

What is the difference (in Rs) between the com-
pound interests on Rs. 1000 for 1 year at 10%
per annual compounded yearly and half-yearly?
1000 =T W 1 91 7 T 10% wioed =wnafs 9 =ift=
I STEATHF T T T T TS S H A (F

o) SqUEM ?
(A) 1.5 (B) 0.5
(C) 2.5 (D) 20000

The compound interest earned in two years at
8% per annum is Rs 4160, What is the sum (in
Rs) invested?

<R H $% Wiaad T H ST TRl S 4160 T ¥ |
fer =61 7% vfw (% H) Pt g 7

(A) 24000 (B) 25000

(C) 30000 (D) 20000

A sum fetched a total simple interest of Rs.5,400
at the rate of 12.5 % /yrin 4 years. What is the
sum (in Rs)?

TE TS 4 790 | 12.5% T% A 7T W 5,400 F. T AN
=yl e o | A ufw (B H) g ?

(A) 11800 (B) 12800

(C) 9800 (D) 10800
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Solution
1. (A) Let the Principal amount be = x . L
AT Q. 7. (D) More interest paid in 3 years = 2.5 x 3 =
7.5%
xx5x15 _ = 050 According to the question,
100 7.5% of sum = Rs. 540
x=1000 540
2. (D) rate = 40% annual 1% of Sum = Rs. —5
1 .
So, half yearly 20% = 5 40
Sum = —— x100 = 7200
20000 '
8 Ar=8%
1/5 t=1yr
& For half yearly — r effective = 8.16%
4000 = 2 = 8000
, 64
ie. = x100 =T 40000
1/5 x> = 8800 0.16
800 x 1 =800 9. (B p[1+ ﬁ] = 2970.25 {P =% 2500}
3. (€] effective rate for 2 year = 25.44 '
o 10176 x 100 (1+ R ] 297025 297025
principal = — -7 100) ~ 2500 250000
= ¥40, 000 o w2 )
L ROV _(11881) _ (109 oo
a. ©) con’.zpoundfnterest= 200+ R +—100. = 10000/ = W = R=9%
Simple nterest 200 10. (A) 2yrs 3.5yrs
4180 200 +R 918 969
4000 200 3
S.1. of S yrs = 969 -918=>51
209 200+ R
200 = 200 1 yrs wSL=%34
R=9% P=918 -68 =3 850
5. (D) Initially o 68x100
PXRx5 . ~ 850x2
100 R=4%
Later 11, (a 10000X3xR  6000x4xR __, -
PX20Xt - A 100 100 -
100 P 300R + 240R = 5400
T = 15 years 540R = 5400
4 - R=10%
R+ &y SR s 12. (D) B— 400
6 @ 100 10000 _23 A—448
R® 7
2R+100—2R Rcy_48><100_6cy
®7 400x2
7 R®*+ 2100R? = 2300 R?
7 R*= 200 R? T = (:682 - 550} x100
200 550 x 6
R= 7 T = 4 Years
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259206<100 18.(C) 7900
13. (D) P= —F—5— 3 Fo 8%
6512 X : \i : (7900 -(x+v¥)
P=% 36000 ; _
Again for R= 8% 3x 5y 8[7900-(x+y}]
T = 2 years 100 100 100
Reftective = 16.64 = 3x = 5y e (1)
_ 16.64 5y = 8 [7900- (x + )] (2)
ie. C.I. = 36000 x 100 On solving eqn. 1
=25990.4 y=2400
14. (B) Interest=2P-P=P 5
X= 7Y
T-7y = =72 N
- YT T3y 5
= — x 2400
Px100x3 =
= T 5oona =3 4000
Px23 19. (D) R=12%
_ 300 t=3yrs
T a3 Refraction=12x 3 /3 = (12)2 / {(12)*
=36 /432 / 1728
R= 131 o = 40.4928%
23 Amount = 140.4928
15. (B) T=10 AT.Q.
P=39500
7727.104
I1=130% of P —x 100
R= 140.4928
=3 5500
_ 1.3Px100 20.(B) ATQ.
Px10
R: ]_300 (p+500)= w
16. (A) effective note of 20% for 2 years = 44% 100
for [ = 40%, =P +500=2P
=P =3500
p= 29 100= 75000 21.(C) 3yrs—3%=9%
5 yrs— 4% = 20%
ATQ for half yearly 7yrs— 6% =42%
51L.=10% t=2 71%
Rate =21% | 2059
There fore diff. in Sum borrowed = T x 100
_ 5000x1 = 32900
CL&SL =55 =350 22. (4) C.L.
17. (C) Let sum of money = x R=12% — Annualy
simple interest (SI) = 3x - x = 2x Halfyeary — R= 6%
4 16 t=2
125 Diff. = 0.36%
Pxrxl ] 0.36
164 =? 14.40
XXTX 7 23. (B) At the end of 2™ year =3 2100
2x = T 3 year = ¥ 2268
161 = 300 x 2 There = —21;6530 X100
600
r=—=37.5% Rate = 8%
16
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24. (B) AT.Q.
R=9%
Effective Re = 27 / 243 / 729
= 29,5029
C.[. = 29.5029 x 7000 =¥ 2065.2
25. (B) I II

S 700 750
CI 750 750
75
Which gives = 10% as our rate.
26. [A) Let 10000 Be the principal
I I I IV
1000 1000 1000 1000
100 100 100
100 100
10 10
10
10
1
1100 =1331
1200

= ——x1331
1100

=3 1452
27. (A) R=15%
T =2 year

5x15
100

effective rate = 15+ 15 +

=30+2.25=32.25

20640
© 32.25

P=364000
28. (B) Let principle = x

x100

x+XX5X1+XX15X1=96OO
100 100

{100+5+15

X PEEE— =

100

_ 9600 x100
T 120
x =3 8000
29, (B) r=10%
T = 3 year
So 3 vear effective rate = 33.1%
. Principle = 19965
<. Principle = —=7—
=3 15000
30. (C) R=6.25%
T=4 year
- Simple interest % = 6.25 x 4 = 25%

} =9600

x 100

0
.. Principle = x 100 =3 12800

25

31. (4

32. (B)

33. (B)

34. (D)

35. (C)

36. (C)

T — 3 year
Principle is increase by 18%

1
S50 oneyear Rate = 3 = 6%

Now, P= 25000

T = 3 year

R=6%

CI effective rate for 3 year = 19.1016%
_ 25000 191016
~ 7100 10000

CI=34775.4

15000 — 2% 518150

100 —23 5121

2

(10" ——(11)

1
Y% R= 10 x 100 = 10%

3 year — 1926
2 year — 1800
1 year — 126

126
% = —o x 100 =79
R %= —=o0o 7%

Let P= 100 SI = 32 T= 4 years

o 32X100 _
=" Jooxa4 °7°

For same rate% C.L. is

T
.
-pl1+_| —p
=Gl [ 100}

3
— 24000x 1-1—i - 24000
100

= 24000x 108 —24000
100

=6233

T = 3 year

R=10%

Effective Rate = 33.1%
5324
133.1

2 year 81 = 1000
1 Year SI = 1 Year CI = 500

.. Principal = x100 =7 4000

40
" R% = — %100 = 8°
S R% SOOX 8%
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37. (C) C.1 after 3 yr. = 1240
Let P = 1240 One year CI = SI

th = ' * X
So Cl for 4% yr. = 1240 100 1
=111.6
So total Cl. for 4 yr. = 1240+ 111.6
=¥ 1351.6

7.0
Px—x4 = 1200 = P =4000

100
39. (B) Firstyear = 10%
Second year= 15%
0 D 6040
¥ 100" 100
x= 16000

1
40. (C) Annual compounded CI = 1000x 0° 100

haplf vearly netrate =3+ 5+ 0.25= 10.25%

X

100=2.5

= 102.5 Difference = 102.5 -

41. (B) R=8%
T = 2 year

8
Effectiverate =8 + 8 + = 16.64%

P 4160 <100
16.64

P=25000
42. (D) Total SI percent = 12.5% x 4 = 50%

5400
So Amount = =0 =100

= 10800
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CDS-2022-1 & I1

If C is the compound interest on Rs. 10,000 for CDS 2022 (1)
one yvear 4% per annum when compounded (A) 3
quarterly, then which one of the following is (B) 4
correct ? (C) 5
AtE T 10,000 W 4% Ft AHEF 5 H TA0TF THR T (D) 6
hSg :_W I HY Ce a4 3. Asum of money compounded annually doubles
FA-wEE R ? CDS 2022 (II) itself in 5 vears. In how many years will it
(A) C<T 100 become four times of it self ?
(B) X100 < € <X 200 e T B WA B e A ety 5 o6t # @ A
(C) T 200 < C < 400 PR “ s -
(D) C > % 400 RIS GRS R R A SR e U R K
CDS 2021 (II)
A person borrowed ¥ 9,000 at 7%, ¥ 12,000 at (A) 10 years/f‘ﬂr
8% and T 15,000 at 9% simple interest per Bl 12 =4
annum. He had to pay ¥ 50,700 at the end of n (B) 12 years/ .
years. What is the value of n? (C) 15 years/=
ol s = AR |reme =41 o 7% W 9,000, 8% (D) 20 years/=™
™T 12,000 31K 9% =T 15,000 4R &0 | 571 n =7t
i AT T 50,700 TohH T2 | SR n F AH FE 7
Solution
D) 3. (A) Method -1
P - 10.000 Syears — 2 times
i
Rate : 4% compounded quartery 10 vears « 2¢ times
Effective Rate : = 4.060401% Method - 2
Interest = 10,000 x 4.06% _of14 R ]
2p=PpP 100
=406
After 5 years
C > 400,

2. {C) One year interest of all sums

_ 9000><7+12000><8+15000><9

100 100 100
=630+960+ 1330
= 2940
Total interest = 50700 — 36000
=14700
Total _ 14700 5
otal year = 5940 _ o year

KI%J (2)°

Principal four times

. R W
=P|1+—
4P ( 100}

—_
[
—
M)
1]
—
]
g
o=

T=10Years
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CDS-2010-2021

A sum of money was invested at simple inter-
est at a certain rate for 5 years. Had it been
invested at a 5% higher rate, it would have
fetched ¥ 300 more. What was the principal
amount. ?
% 4 TR T =8 X W S A & e e w
> e o s & 1 =ife 58 5% arfus R i fean
ST ® w2 500 st firere € | geres e w1
CDS 2021(I)
(B) T 1800

(D) T 1200

(A) 7 2000
(C) T 1600

The difference hetween the compound inter-
est (compounded annually) and the simple in-
terest on a certain sum of money at 12% per
annum for 2 yvears is T 72. What is the princi-
pal amount ?
2 o T TRl AT TR WO S o $Ta T 72§ o
TS T 12% FE B Al HErE Fa e |

CDS 2021(I)
(B) 36000
(D) T 5000

(A) T 6500
(C) T 5500

The simple interest on a certain sum is one-
fourth of the sum. If the number of years and
the rate of annual interest are numerically

equal, then the number of years is ?

T Tafem of ™ R sty u-wiew e
A 90 &, 71 =6 i G e € 7 (CDS 2020(11))
(A) 2.5 (B)3

(C) 3.5 (D) 5

A sum was put at simple interest at certain
rate for 2 vears. Had it been put at 1% higher

rate of interest, it would have fetched ¥ 24 more.
What is the sum?

T 4FOT 2 T F O v e 5 W wmanm s W
TR TR E | A0 59 1% S =6 g H oIS 9 el S,
Al 59 W T 24 197 Heha o | eten fopa € 2

(CDS 2020(1))
(A) T 500 (B) T 600
(C) 800 (D) ¥ 1200

A lent B to some amount of T 25000 and lent
some amount to C at same 7% simple inter-
est. After 4 years A received T 11200 as inter-
estfrom B and C . Howmuch did Alend to C ?

A A B W T 25000 TUR U 31 36 999 C =l 53 w0ia
=TSl i ST 7% i =479 &Y W IUR T | 4 a9 915 A+ B
TR C ¥ T 11,200 N H T H WD FUNA T C = et

TR SHR S ot 7 (CDS 2019(I1))
(A) T 20000 (B) % 25000
(C) % 15000 (D) T 10000

The rate of interest on two different schemes
is the same and it is 20%. But in one of the
schemes, the interest is compounded half
yearly and in the other the interest is com-
pounded annually. Equal amounts are invested
in the schemes. If the difference of the returns
after 2 vears is T 482, then what is the princi-
pal amount in each scheme?

3t for=1-far=t diemrell W == o 99 § Sl =g 20% F
i T8 e e | =TT 314 ias w9 9 "eEite gl
¥ i oot # =t w9 %) S Aot H TR gt
fraw %t g ¥ 1 =R 2 o o e et et T 482 €
1 I AR A e 5 T gEeE R E 2

(CDS 2019(I1))
(A) % 10,000 (B) T 16,000
(€)% 20,000 (D) % 24,000

What is the least number of complete yvears in
which a sum of money put out at 40% annual
compound interest will be more than trebled ?

40% THE, =HRITG =S =l & T W TG S FA-T-

A TR IO i W R € et 87 St 2

(CDS 2019(1))
(A) 3 (B) 4
(C)5 (D) 6

A person divided a sum of Rs. 17,200 into three
parts and invested at 5%. 6% and 9/ per an-
num simple interest. At the end of two years,
he got the same interest on each part of
money. What is the money invested at 9907
Tk S 1 T 17,200 i SFUTE 1 91 9F H oo w5,
TE 5%, 6% ST 9% AT T wame =i w2 W e fE
B ool = T W, S we A et & v s
T G211 9% T TR 3w =it e et Pt € 2

(CDS 2019(1))
(A) T 3200 (B) T 4000
(C) 24800 (D) T 5000

What is the principal amount which earns 2
210 as compound intrest for the second vear at
5% per annum ?
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10.

11.

12,

13.

e HEeE T = ¥, T R ge o H 5% A X
Tl =N & ¥4 H T 210 U4 g4 & 7 (CDS 2018(I1))
(A) T 2000 (B)ZT 3200

(C)T 4000 (D) T 4800

Two equal amounts were borrowed at 5% and
4% simple interest. The total interest after 4
yvear amounted to ¥ 405. What was the total
amount borrowed ?

B TR SR, 5% SHT 4% T S T BUR
TS | 4 T ok ST e AT T 405 3 ST o1 | A Tkt

THH SR A T =T 7 (CDS 2018(11))
(A) T 1075 (B)T 1100
(€)T1125 (D)T 1150

A person borrowed T 5000 at 5% rate of interest
per annum and immediately lent it at 5.5%.
After two yvears he collected the amount and
settled his loan. What is the amount gained by

him in this transaction ?

T TAER H 5% WA o % oA T W T 5,000 TR A o
T B 5.5% i W IR T 501 3 = 918 39 e A9
T &R oToA ot 1 51 | 59 oF-2A § oW Tepat emare

T G 2 (CDS 2018(1))
(A)T25 (B) 2 50
(C) % 100 (D) T 200

The annual income of a person decrease by 2
64 if the annual rate of interest decreases from
4% to 3.75%. What is his original annual in-
come ?

At ATHE T 4% | SZFT 3.75% T WG & a1 TF AT F
AU ST T 64 T2 WA € | THAT & A ST F0E ?

(CDS 2018(1))
(A) T 24000 (B) T 25000
(C) 2 25, 600 (D) T 24,600

The difference between the compound inter-
est (compounded annually) and simple inter-
est on a sum of money deposited for 2 years at
5% per annum is ¥ 15. What is the sum of
money deposited ?

2 991 o T 5% it S 5T R S R TR TE TR T
TG AN (SIftF T F o) SR AR s H5
FAM T 15 F | 51 = T T a7 (CDS 2017(11)
(A) T 6000 (B) 4800

(C)T 3600 (D) T 2400

14.

15.

16.

17.

18.

A sum of ¥ 8,400 was taken as a loan. Thisis to
be paid in two equal instalments. If the rate of
interest is 10% per annum compounded annu-
ally, then the value of each instalment is.
8,400 i T SN SR TR M € | TH & v i |
[ S E | AT TR E w103 A € 5
T e W E, @ v A m A e g 2

(CDS 2017(1))
(A) T 4,200 (B) 24,480
(C) T 4,840 (D) None of these

The difference the simple and the compound
interest on a certain sum of money at 4% per
annum in 2 years is ¥ 10. What is the sum ?

T ST T 4% Wl A9 W H 2 A9 F, WA A TG
N H AR 108 | =¥ 2 (CDS 2017(I))
(A) % 5,000 (B) % 6,000

(C) 26,250 (D) 27,500

If a sum of money at a certain rate of simple
interest per year doubles in 3 yr and at a difter-
ent rate of simple interest per yvear becomes
three of simple interest per year is.

=fe e gufe arem st #i wdE g sfis a5
ot H ST g1 S § SR e sar i e o= e
TH 12 =9 H T A 1S E, 7 SR SAs i S S

At <3 | = T E 7 (CDS 2016(I1))
(A) 2% (B) 3%
1 1
3 —9 (3] 4 —9 (3]
(€) 33 (D) 43

A sum of T 10000 is deposited for 1 yr at the
rate of interest 10% compounded half yearly.
What will be the interest at the end of one

year ?
STGAT &9 H T FH Al 10% =Fhefs =41 %l s W
£ 10000 =i Ufyr 1 o9 % g <=1 =61 =i € | gk 94 o6

311 | =TS 94 B 7 (CDS 2015(II))
(A) % 1000 (B) 2 1025
(C) T 1050 (D)T 1100

The difference between compound interest and
simple interest at the same rate of interest R%

per annum on an amount of T 15000 for 2 yris
7 96, What is the value of R ?

% 15000 ! 1 TR 2 79 % To0 Forafes s ae Srem
T H TR E T W R% A T 96 T E IR ®

TREE ? (CDS 2015(1))
(A) 8% (B) 10%

(C) 12%

(D) Cannot be determind
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19.

20.

21.

22,

23.

An automobile financer claims to be lending
money at simple interest, but he includes the
interest every six months for calculating the
principal. If he is charging an interest at the
rate of 10% the effective rate of interest he-
come.

T AR oo o1 <@ 2 5 =g "YU o8] W A
TYR 1 €, T 98 Wi D HIE W AU i T % T
o = wfEfed s am § | Al 9 109% R R A== A
@1 %, Tl =TSl S W 0w g1 Sl 2 (CDS 2015(1))
(A) 10.25% (B) 10.5%

(C) 10.75% (D) 11%

There is 60% increase in an amount in 6 yr at
simple interest. What will be the compound
interest on ¥ 12000 after 3 yr at the same rate
of interest ?

Tt i ® 6 ot # T = W 60% HAfG B E 1 T
12000 =t T W 3 991 % fau 3@ = @ W TS

TS TSI ? (CDS 2015(I))
(A) 22160 (B)T 3120
(C) 23972 (D) T 6240

In how much time would the simple interest
on a principal amount be 0,125 times the prin-

cipal amount at 10% per annum ?
forddt Harem | 10% ftas =i 5 9 WeRy s
HHE H HAuT 1 0.125 71 21 ST 7 (CDS 2015(1))

@iy (B) 12y () 25 yr(D) 2o yr

The difference between compound interest and
simple interese for 2 yr at the rate of 10% over
principal amount of ¥ X is ¥ 10, What is the
value of X ?

T X F HEHE W 10% = T H 2 76 F o o o
Ik 5 SIS SIR e = § T 10 1 AR E | X FqH

FE ? (CDS 2014{11))
(A) T 100 (B) 1000
(C) 3500 (D) 5000

A sum of money becomes 3 times in 5 yr at
simple interest. [t how many, will the same sum
become 6 times at the same rate of simple in-
terest? (CDS 2014II))
5 T} H W A T R SR 3 T S © | W
i A fr | Ko v U B o R e I O i e e
(A) 10 yr (B) 12 yr

(C) 12.5¥3r (D) 10.5yr

24.

25.

26.

27.

28.

29,

30.

The principal on which a simple interest of ¥
55 will be obtained after 9 months at the rate
2
of 3<% per annum, is.
W
- 2 .
FE e A ¢ T T 3 = Yo At 779 O WY S e

=19 T 55 faem 7 (CDS 2013(1))
(A) Z 1000 (B) 2 1500
(C) T 2000 (D) 2500

What is the compound interest on ¥ 1600 at
25% per annum of 2 yr compounded
annually ?

T 1600 1 25% =M & | Fired T w2 79
% foru =srafs = 7 & 7 (CDS 2012(I))
(A)T 700 (B) 2750

(C)T 8OO (D) T 900

A certain sum at sime interest amounts to ¥
1350 in 5 yr and to ¥ 1620 in & yr. What is the
sum ?

g AT AHRY =N W5 a9 H T 1350 SR8 94 § 2

1620 T E | T E | (CDS 201 1(II))
(A)T 700 (B) T 800
(€)T900 (D) T 1000

The sum which amounts to T 364.80 in 8 yr at
3.5% simple interest per annum, is.
8 T 7 3.5% WET WHURM BN F X T A=A T

364.80 99 =l &, 95 N E ? (CDS 2011(11))
(A) T 285 (B) T 280
(C)T275 (D) % 270

A sum of money on compound interest amount
to 79680 in 2 yr and to ¥ 10648 in 3 yr. What is
the rate of interest per annum ?(CDS 201 1(I))
el B TR =kefg = Siigat & 9 § T 9680 N dH
7% # 3 10648 TAE | Wie = < Faei € 2

(A) 5% (B) 10%

[C) ].50 < [D) 200 <

What is the least number of complete yvears in
which a sum of money at 20% compound inter-
est will be more than doubled ?(CDS 201 1{1))
T 00 A R T - EE i E, T 20% Aty
S R A S A of s E 2

(A)7 (B)6

(€) 5 (D) 4

A sum of money lent on simple interest tiples
itself in 15 yr and 6 months. In how money year
still it be doubled ?

TS S T G R TH 4 15 76 o 6 7
B ? (CDS 2010(II))
(A) & yr and 3 months (B) 7 yr and 9 months
(C) 8 yr and 3 months (D) 9 yr and 6 months
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31.

A person invested some amount at the rate of
12% simple interest and the remaining at 10%.
He received vearly an interest of ¥ 130. Had he
interchanged the amounts invested, he would
have received an interest of ¥ 134. How much
money did he invest at different rates ?

Uk S 7 F A1 12% H1 T F AERY =56 T i g9
Tfer 10% WX 9991 i | S | T 130 o =11 e =11
35 T =61 78 Uil R see-Ieel WM T s T

32. The simple interest on a certain sum of money

for 3 yr at 8% per annum is half the compound
interest on ¥ 4000 for 2 yr at 10% per annum.

What is the sum placed on simple interest ?
T T SRS TR 8% WITer = e 9 3 9 =1 |remm
= T 4000 R 10% AT % fewma & 2 76 & s
TS T ST S | TR A YT TG T S e E 2

5.

. (D) Effective C.I. of 2 yr.

= 25.
Effective 8.1. of 2 yr. = 24
diff. = 1

So, Principal = x 100 = ¥ 5000

1.44

(D) - P-P; R-T

Z;
PxRxT E_PxTxT

100 4 100
T*=25= T=5year

(I Let a sum of Rs. x was put at simple interest
at rate of r % per annum for 2 years.

Principal * Rate x Time
100
xxprx2 (1}

Simple interest =

= 3.1 =
Had it beelelQr at 1% higher rate of interest, it
would have fetched ¥ 24 more.

xxf{r+1)x2

= BL +24) = ———— ... (ii)
Subtract (i} from (ii)

X X
= 24 = m = 24 = %

= x=24 x50 =1200
Hence, Required sum = T 1200

(C) Lent A lent to C a some of amount of ¥ P and to
B ¥ 25,000. Rate of interest for both 7% and
time is 4 years. Then simple interest,

(25000 + P)x 7x 4
Sl = = 11200
100
= P =% 15000
(C) Let the sum of the amount on each investment
is ¥ P and rate of interest is 20%
ATQ

134 =1 ST T B A S P < W et v (CDS 2010(1))

fraw (CDS 2010(1)) (A)T 1550

(A) 2 500 at the of 10% % 800 at the rate of 12% (B) ¥ 1650

(B) T 700 at the of 10% T 600 at the rate of 12% (C)X 1750

(C) T 800 at the of 10% T 400 at the rate of 12% (D) T 2000

(D) ¥ 700 at the of 10% ¥ 500 at the rate of 12%

Solution
(A] T=25yr; R=5%; I1=% 500 10 Y 00
_PXRXT _P><5><5 482=p[1+—)_p[1+—]

1= 7o = 590 o5 100 7100
P =% 2000

e o (1a) - -]

482 = P(2.41){.01)
P - ¥ 20,000

R
= 1+ — (At
7. (B} A P(J’_IOO]

40
< 1+ Mt
3P< P ( IOOJ

3 <(1.4) At
Whent=3; 1.4+ 3=2744
Andwhent=4; 1444 =38416
T = 4 is the answer
(B) Let sum invested ;5% be P1, @ 6% be P2 then
@ 9% = 17200 — (P1 + P2)

; [6]
Pl =5 = =P2 x ax —— Pl=|Z|P
100 %700 °* 5)F2

2
Also P2 x 6 x =[17200 - (P1 + P2)] x9x
so T ®1+P2)]

100

Or 2 P2 - {17200—[%];@} ‘3
33
Or | 2+— |P2= 17200 x 3

5

5
P2=17200 = 3 x — = 6000

43
6
So Pl = 5 P2 = 7200
So sum invested @ 9% = 17200 - (6000 + 7200)

=% 4000
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(C) Let principal be T P,

1+

Time
o Rate
* Amounht = Principal

100

. Amount after one year.

. "1
or :p1+i]:£
100/) 20
Or CI af _ 2k P
1 ter orle year = 50 T 7 20

Similarly, amount two years

__P(i+ 5 ]2 441

100, "a00"
441P 41P
and Clnafter two years = 400 P= 200
According to the question
41 P 41P - 20P
ﬁ— 2_O= 210 = W=210

= 21P =210 = 400
Or Principal = T 4000

(C] Let the amount borrwed by ¥ P each for both

the rates.
© Simple interest
Principal x Rate x Time

100

. According to the question
Px5x4 Px4x4

100 100 *°
= 20P + 16P = 40500
40500

o Amount borrowed = T 1125
(B} Principal = ¥ 5000
and time period = 2 yr
- Simple interest
Principal x Rate x Time
100
. Required profit

5000x5.5x2 5000x5x%x2

100 100
~ S000x2 .
- _ 100 =9
=¥ &0
{C] Decrement in rate of interest
- (4 - 3.75)%
=0.25%

Let the original annual income be ¥ x.
According to the gquestion
0.25% of x = 64

25 51 64 >10,000

® = =
10000 - 25
.. Original annual income = T 25600

X

(A) Let the sum of money deposited by ¥ P. Then

according to given condition

2
P(1+i _pl- Px5x2 -15
100 100

21V 1
P||==| -——|=15
= {[on 100}
441 1
- P[———————l}zlS

1
= P=[ﬁ}=15:>13=6000

Thus the sum of money deposited is T 6000.
We have

Loan amount = T 8400

and Rate of interest = 10%

Let the instalment money = ¥ x

We knwo that

Compound interest

cioal (1+ Rate ‘]Time
= Principal = —l 00

10 %! 11y
=x=P|l+—| =x=P| —

E”
P=Tx 11

Now putn =1 10
X

First year instalment =

and again purn = 2 107

Second year instament = x[ ]
* Lpan amount = ¥ 8400

. First year instament + Second year instal-

ment = 8400

[Q 1oV
= X 11 +x H = 8400

e
= X 11 11 = 8400

10 21

11 11

= x =T 4840

We have

Now, Difference between compound interest
RV

100

= x X

and simple interest of 2 year = P (

Where P is sum

4 V2 R
L 10 = P[—IOO_] =10 = P(2—5]
= P=10(25)* = P = ¥ 6250
Let principal = ¥ P, then amount of money = ¥
2P
3l= 2P-P=%P

Pxrx5

~ 100

. Difference between two interest rates

50 10 1
=[ﬂ%"—}%=——%=3—%
3 3 3

Now =1 = 20%
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17.

18.

19.

(B)

Given P =% 10000, r = 10% and t = 1 yr, since
compounded half yearly

r T
: —p|l1+—| = 1+ —
- A P(_ 200] P[_ 20]

= 10000 = —— =711025

1 21
20 " 20
o Interest = A - P
=11025-10000=% 1025
Given principal (P} = T 15000
Simple interest (S0

Principal x Time x Rate

100

_ 15000x2xR _
- 100 TN (1}

Now compound interest (CI)

'2
ﬁ Lo (i)

Bl = 96

= Principal { 1+m] —1} 13000 ‘|

According to the question CI —
(1 + iT -1
= 15000_ 100 —300R = 96

[f100+RY
= 15000|| 305 ) ~'|-300R=96
A 4

_ —[100)’}

(100Y

[{(100+RY
= 15000

- 300R =96

15000
1000

= [(100 + R + 100] (100 + R — 100)

- 300R = 96
= 1.5 [{(200+R)R] - 300R = 96 = 1.5 (200R + R?¥)
- 300R = 96

= 300R + 1.5R* - 300R = 96

R+ = el ——960—64 E=8
= 15 15 =

Hence the value of R is 8%

Shortcut Method

Given principal R =¥ 15000 rate R =7
differecne D = T 96

PR®
For 2 yr difference = (100)2 = 96 =
15000 x R®
o R:=64
100 x 100
. R=8%

Let the principal be ¥ 100

Given rate = 10% and time = & months
100x10x6
g ———————— =
10x12

Now, after six months new principal =
T100+¥5=T 105

105 x10x6

100x12 %

- Total amount =¥ 105 +3¥5.25=3 110.25
. Required rate = 110.25 - 100 = 10.25%

20.

21.

22,

23.

()

(A)

(B)

Let the principal be ¥ x
60x
100
Princiapl x Rate x Time
100
60x x> Ratex6
— - ['.'
100 100

. Rate = 10%
Again principal = ¥ 12000, time = 3 yr

Interest =
Rate Time 10 ]J
+— - |1+ —=—
100 100

a
12000 H 12000 1G4 1x11 12 < 121 = 11
= =1 =12 x e
10 1000

Then SI-=

31 =

time = 6 yr]

Principal = [1

=T 153972

». CI = Amount — Principal = 15972 - 12000 =3
3972

Let the principal be T P and the time T yr.
Rate = 10%

PxRxT
100

According to the question

0.125P x Principal = Simple interest

© Bimple interest =

PxRxT
0125 P = W
10PT 125PT 10PT 125
= O12P" 900 = 100~ 100 100
5 1
= T= Z—l Zyr
Hence the required time is 1 Z ¥T.
Given principal amount = ¥ X
Rate (R) = 10% and time (T} = 2 yr [giverl]

Sinote intros g - PRE_ Xx10x2 X
. unple 1 IGST, 100 100 = 5

and compound interest CI = A — P

R Y 10 )
_ - _ 1 -1
_P[l‘i‘loo] -F-= P|:[ +100 :|

Now difference between CI and SI = 10

21 % X 10 21X -20X
~ w05 T 100
o X =10 = 100 =% 1000
Let principal amount P be T x.
Then amount A =3x, T=5yr
. S[=3x-x-=2x
Let rate of interest be R.

T 900 7T T 100
2x x 100
= 2x x%x 100= SRs=R= ——7"""
5%
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24,

5.

26.

27.

28.

~ R=40%
Now required amount = 6x
Then
Sl=6x-x-=-95x
10 x SI 100 x 5%

. Required time = = =12.5
equired time = 70 << 40

yr
Let P be the principal amount
9

Given, SI = ¥ 55, time(t] = E vr

and rate(r) = 35 % = 3 %

o Pxrxt . SIx100  55x100
T 100 T T rxt | 11x9

x3x12
=5 % 100 x4 = 2000
. Principal (P) = ¥ 2000
Given,P = ¥ 1600, r = 25% and t = 2yr

1+Lt 1+£h
. A =P loo| = 1600 00| -

1600 5.2 2500
H— = — =
4 4

. Compound interest = 2500 - 1600 = ¥ 900
Let A =¥ 1350 A,=T 1620, t = Syrand t,= 8 yr.
Let principal amount be ¥ P

. Intime=8-5=3yr
Simple interest will be 1620 - 1350 =¥ 270

270

In Syr, simple interest = x5 =3 450

. Principal, P=A - 81 = 1350-450 =P =3 900
Givent=8yr, r = 3.5% and A = T 364.80

Let amount = ¥ P

. A—P[“‘i. 36480—P(1+35><i]
- AT 100, — SUEELTTTT 100,
[1+35x8) 3648 [128
= 364.80=P 1000 )= 10 =Pl 100
36480
- 128 " 285

Let the rate of inerest per annum be r% and
principal amount be T P, then

W2

) o
Amount in 2 yr, P .1 + ﬁ_] = 0680

3
T
and amount in 3 yr P (1"‘ —) = 10648

100
On dividing Eq (i) by Eq (i) we get
r 10648
1 100~ 9680 '
= (10648 - 1) x100 = r = 968 x100 = 10%
9680 9680

(I} Let the sum of money =T P

* Amount =2P

'1+_r \]L [l+—20 )I
" 100/ 7% 71 T 100

(5]1 (5]1
R

4
On putting t = 4, we get [g] = 62—5

= A=PF

= 2 {approx)

. Least number of years = 4

Let initial amount be ¥ P then &4 = ¥ 3P
31

Given T = 15 yr and 6 months = ?yr

SIAP?QPPSlrQP
R = - P = X T X =
B 2 100
2% 2 %100
=r= ——""—
31

Let amount doubled ir t, yr.
Now SI=2P-FP=XF

SIx 100 Px100x31 31
Lot =t = =—
i Pxr t P x 400 4
=7 yr and 9 months
Let the person invested amounts x and y into
two different rates of interest.

xx12x1 yx10x1
; + =100

100 100
L8] Pxrxt
100

= 12x +10y = 13000
..................... (i)

+
100 100
= 12y +10x= 13400 ...ccocvrrnrrnnn. (i)
On solving Eq (i) and (i) we get
x =3 500 and y =3 700
Let the principal amount be ¥ P.
By given condition

31 1CI
2

_ Px8x3 1 400(1+£] — 400
100 2 100

_zap 1 {4000>< 121
100~ 2 100
24P

~ 100

- 4000}

1
- 5 14840 - 4000]

E—mo
100

420 x100

24
= P=%1750

=P=
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